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Rai Wagqar Naseer Punjab Police
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No Name of Paper BS

1 Food Grain Supervisor 09
" | Food Department (Morning)

2 Food Grain Supervisor 09
" | Food Department (Evening)

Junior Clerk

3. Board of Revenue, Punjab 11

4 Food Grains Inspector 12
" | Food Department

5 Assistant Food Controller 15
" | Food Department

6. |Assistant (Code-41) 16

7. | Assistant (Code-53) 16

8 District Trainer 16
- Literacy & Non Formal Basic Education, Department

9 Assistant Administrative Officer 16
) Information & Culture Department (Punjab Council of the Arts)

10 Assistant Director Labour Welfare 17
" | Labour & Human Resource Department (Directorate General of Labour Welfare/Labour & HR)

11 Assistant Director Intelligence 17
" | Punjab Police Department (Special Branch, Punjab)

12 Assistant Director Revenue 17
. Housing Urban Development & Public Health Engineering Department, Water and Sanitation Agency, FDA, Faisalabad

13 Assistant Director 17

Accounts / Budget and Accounts Officer / Accounts Officer / Audit Officer
14 PMS-GK 2022 17

Services & General Administration Department




Types of Verbs

Action verbs
Stative verbs
Transitive verbs
Intransitive verbs
Linking verbs

Types of Adverbs

Conjunctive adverbs
Adverbs of frequency
Adverbs of time

Adverbs of manner
Adverbs of degree
Adverbs of place

Modal verbs

Regular verbs
Irregular verbs
Phrasal verbs

Helping verbs (also called auxiliary verbs)
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Infinitives

Adverb of Time
Already, ago, before, yet,
never, soon, yesterday, lately...

Example sentences: Examples

| have heard this before. Is that s0?

| have not seen him since.
| haven’t spoken to her yet.
She’ll be here soon.
| haven't been feeling so well lately.
We’'ve never been to New York.

He left the house over an hour ago,

Adverbs of Manner

So, slowly, badly, beautifully,
delightfully, loudly, anxiously...

The soldiers fought bravely.

Could you please speak more slowly?
She dresses beautifully.

He had a delightfully dry sense of humour.
We waited anxiously by the phone.
| thought he was treated very bgc_jly.

\ Lo

f Skllabus:

One Paper MCQs Type Written Test
of 100 marks and 90 minutes
duration comprising questions on
General Knowledge, Pakistan
Studies, Current

Affairs, Islamic Studies (Ethics for
Non-Muslim Candidates),
Geography, Basic Mathematics,

English, Urdu, Every-day Science, &
Basic Computer Studies.

FOOD GRAIN SUPERVISOR (BS

Paper No.1 (2023)

-09) FOOD DEPARTMENT

2023-27J-35J2022-07
1. Identify the ‘Adverb of Time’ |
(A) Above (B) Today
(C) Down (D) There
2. |dentify the ‘Type of Adverb' of the underli
word ‘Why don't you listen to your teag;'neeci
attentively in the class?
(A) Adverb of Reason
(B) Adverb of Place
(C) Adverb of Manner
(D) Adverb of Time .
3. Identify the ‘Adverb’ of the word ‘Happy’
(A) Happier (B) Happily S
(C) Happiest (D) Happiness
4. ldentify the underli ‘Thi i
Pk Ao rined verb. ‘This cat's fur
(A) Model Verb (B) Transitive V
_ erb
: (C) Helping Verb (D) Linking Verbr
. :]doeunggy the ‘Neuter Gender from the given
(A) Nurse B) Maid
(C) Computer ED% Doctor 2 &
6. Find the ‘Correct Spelling’ J/g
(é) Characteristics (B) Charecteristics
(C) Charectaristics (D) Cheracteristics
7. lcan'tfind my glasses. |
AW y glasses. are they?
A hat (B) Where
(C) Which (D) Who
8. Identify the ‘Countable Noun'’

A neuter gender noun is a noun that denotes a lifeless thing. A thing which is neither' male nor female.
For example Pen, pencil, book, bed, etc. It is generally denoted with 'it' rather than 'he' or 'she’.

-05-MORNING 2023

10.

1

12,

13.

" 14,

(A) Sand B) S
(C) Soap ) Sai

Identify the figure of s each |
He is as fast as a lion' - - 1 Sentence.

(A) Simile (B) Metaph
(C) Personification (D; Allitefat%rn

|dentify the type of ‘Underl; a
l(i?)d Mget‘s wetyv%hen it raicrigr.l,meq SRS
ain clause B) Subordi

|(C) Adverbial clause %D)) Adjecrt?\;gaégt?saeuse
They could not attend the meeting’ because
they the office in time.’ :
(A) Would not reach (B) Are not reaching
(C) Had not reached (D) Had not reaches

Fill in the blank with the adjective of ‘C '
‘Pakistan is known for its J arm;urage.
(A) Encourage (B) Courageous
(C) Courageously (D) Encourages

Select the correct punctuation mark to fill in
the blank. ‘The ex manager helped
us understand this document.
(A) 'Hyphen (-) (B) Comma (,)

(C) Colon () (D) Semi colon (;)

Identify the type of the following sentence. ‘It
was a productive day to do drawing activity.'
(A) Simple sentence ‘

(B) Compound sentence
(C) Complex sentence
(D) Compound-complex sentence
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Syllabus:

One Paper MCQs Type Written Test of 100 marks and 90 minutes duration comprising questions on General Knowledge, Pakistan Studies, Current
Affairs, Islamic Studies (Ethics for Non-Muslim Candidates), Geography, Basic Mathematics, English, Urdu, Every-day Science, & Basic Computer Studies.

Types of Adverbs

Conjunctive adverbs
Adverbs of frequency
Adverbs of time
Adverbs of manner
Adverbs of degree
Adverbs of place

Adverb of Time

Already, ago, before, yet, never, soon, yesterday, lately…

Example sentences:

I have heard this before.
I have not seen him since.
I haven’t spoken to her yet.
She’ll be here soon.
I haven’t been feeling so well lately.
We’ve never been to New York.
He left the house over an hour ago.

Adverbs of Manner

So, slowly, badly, beautifully, delightfully, loudly, anxiously…


The soldiers fought bravely.
Is that so?
Could you please speak more slowly?
She dresses beautifully.
He had a delightfully dry sense of humour.
We waited anxiously by the phone.
I thought he was treated very badly.

Examples

Types of Verbs

Action verbs
Stative verbs
Transitive verbs
Intransitive verbs
Linking verbs
Helping verbs (also called auxiliary verbs)
Modal verbs
Regular verbs
Irregular verbs
Phrasal verbs
Infinitives

A neuter gender noun is a noun that denotes a lifeless thing. A thing which is neither male nor female.
For example Pen, pencil, book, bed, etc. It is generally denoted with 'it' rather than 'he' or 'she'.


16

17

" (C) Asian Development Bank

18.

19,
20

21
_ (A) 1st Female Chief Justice of Pakistan

22,
23.

24,

25.

" 26.

.United Nations that leads International efforts
. to defeat hunger and Improve nutrition and

(C) Governors

(A) 2000 (B) 2001

(C) 2002 (D) 2003 ,
“Yemen Crisis started in:

(A) 2009 (B) 2011

(C). 2013 (D) 2015

’(B) Operate the devnce which mput and

- percentage profit = 100 X 6000/6Q000

8\

What is meant by Forefathera'.

\J -
)\P' |
(A) Relatives (B3) Grandmother
(D) Ancestors

(C) Grandfather
Doha Agreement was signed between US ana
Taliban in:

(A) Fcbrumx 2020 (ll% March 2020

(C) April 2020 (D) May 2020

Which of the following is an agency of th.

food security?

(A) Food and Agriculture Orgnnizmlon of the
* United Nations

(B) World Bank

’
(D) Universal Food Organization

The member countries of the World Bank are
represented by a Board of who are
the ultimate policymakers at the World Bank.
(A) Justices (B) Senators

(D) Peacemakers

American Forces entered in Afghanistaﬁ in:

Ayesha A Malik has been appointed as:

(B) * 1st female Judge of Supreme Court
(C). 1st female judge of High Court
(D) None of these

Iraq Invaded Kuwanl in; :
(A) August 1959  (B) August 1959
(C) August 1990 (D) August 1992

Which of the following i is notypaper size.

(A) Legal (B) Executive »
(C) Landscape (D) A3 Page orientation
:Computer operators: -

(A) Writes eomputer programs for specmc
* problems

output data from'the computer

(C) colle’ge degree in computer: science -
All of these

All bought a Motor Cycle for Rs. 60000 And
sold It for Rs. 66000. His percentage profit is:

(A) 10% (B) 12% :
(C) 14% (D) 16% . g
Solution ‘

profit = 66000.- 60000 = 6000

= 600000/60000= 10%

If one american dollar |s Rs 280 rs then
56000 is equal to:

(A) 400% (B) 300

27,

28,

29.

Solutlon

as Ydollar = R 280 then
56000/280 = 200 dollar

Hamza has Rs. 2000 he bought” stationefy
,m\tl'c'\'ls 14% of 2000, How m%ch rupee he
A) Rs, 86 (B) Rs. 280
* (C) Rs. 1720 (D) Rs. 1950 ,
Solution - ’
First calculate how much is 14% of 2000
2000 x 14/100 = 280
~amount he has left = 2000 - 280 = 1720
b’db3¢.b/J;UL« .9494(4){/
st tS A 1 Grs00e-20250 o
“(A) Rs. 18250 °°  "(B) Rs, 20250
(C) Rs. 22350 (D) Rs. 23250
U’led/ui/f’t&//’M'uflc.gj“u’/lwn
C oL ontsr e bnl\Fraedst
?ujqufwbl
S U (B) et |
(C) =12 D) St

30, ?J?JU'.'(;LZ,[_:Lj_id:-abbtf-;—“k,/&, 2, <>

31.

C

~

v

(A) bl (B) whlsF
€) eblGuk () S5

The product of two consecutive mtegers is 90.
Find the integers::

(A) -9,10 . (B) -9, -10
(C) 11.-,12 (D) -12,11
. Solution

very clear from given option that

-9x-10 = 90 ( negative times negativ = posmve)
option B is correct

-

A\
32, "Lu/‘wbﬁfuéybl/ufd) o

3x2 +4x,-9—0 ~

(A) 413 - (B)

(C) 3 3 (D) -3/4

Solution T

This is quadratlc equation i ln WhICh
a=3, b 4,c= -9

product of roots = =¢/a= -9/3f- -3

33 duJé‘;/J/ Ku,«chM,.,.J: ,4».0

(C) 2003 (D) 100%

"c_t’r&

Ay 74 (_B) u; |
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6750x3=20250


oM @ (C) ey D) JIr
solution . - :
' sum of two sides of any triangle is always
,greater than the third side of the triangle

24, v;_dr&"w;/zfcu«,fw

A - . (B2
EC% (D) 4
Solutlon

+ points to remember:

Aray has only one sided arrow.
A line has always two sided arrows, SN 7 -
Aliné segment has always two end points.

) 35. °¢.&cdoﬁ*;ﬂ/{¢_¢u£’u\é@%(w
W 27 (38 @) A
(C 4SO (D) 32145

Solution

A triangle is formed when sum of two sides is

greater than third side; and another theorem is

that difference of two sides of triangle js |ess than
. third side.

- 4 2 which is less then 35

o) optlon Dis, correct

36. U'f)i d’U'deL/)'«CJ5O JJIK qu’120 10, c_u:lfu "
QLJL&'UJ S A (A) l/’MLJ/ (B) _jﬁj]iélz
(A) 5:12 . (B) 125 . ; L - P
(C) 7:12 (D) 12:17 ; ©) LA g (D) 12aE o
Solution ‘ _ ' . y S
girls = 120. and boys = 50 41. &Lw}lup-d,&f;uf%/’urd:ﬁuf.:miﬁé’;’
| students = 120450=170  ° / p . 3
b A S ool Ve oS ininlf-2 2
120:170= 127 ‘ | BB e
37. "wauw/ $Hg A e ) L
(A) English (B) Latin : , zF 3 Zr C o,
(C) Greek (D) Arabic - () YL o) S &y :
38 Y /(5‘ AJJJW, conl SIS , 42, \é\g:;c?h Balochi poet was friend of Faiz Ahmad
A) e tTesred A (A) Mir Fazal Khan Nasir " iy L
*) e ( V/)’k’ ~ (B) Mir Gul Khan Nasir _ ’
(B) c‘_t‘lc{g(al/.«w)l ;l)’ P : ' Eg; r'\\lnir Niamhan Jamal *
- A K one of these
C) q-t”'(c—f.wb),w'/.‘ﬁ’ ' 1 | 43. Jabir Bin Hayan died in: 7 ) Born: 721 AD
( ‘ g . " A) 810 AD (B) 815 AD amous for: C emlstry
O« Fle g)ets ot 2 M) (©)s0Aad . () 8B5AD[ o
39, ?:‘_duc_,p:LJ(:J,JJ"JJ,EJW:J | 44 q/waﬁ(u _ INZ 2 inBisADInics
B RV SV B Y 20y RORPES (B) Uz
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theorem is 

is less than

Born: 721 AD
Famous for: Chemistry

He died at the old age of 94 in 815 AD in Kufa
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45,

46.

47.

48.

© LLs

49,

50.

51.

52.

A F

(€)W f

© & 'dr ©) et
The conquest of Makkah is occurred in which

Hijri:
(A) 2 Hijri (B) 4 Hijri
(D) 8 Hijri

(C) 6 Hijri
S B nd_tid o 2 i1 5y

(A) 48P0 b 2 Rt 2

(B) =4l FE" a1 24 an i

(©) Faf g Rine 2

(D) KAt a2 K i)
;)Jmiwr‘!iu':&u:-ﬁ«_Jﬂ_’».m’i.{l,y
tee .

) A ®) 371

(D) None of these  *
Mol U o e S S s ST
e

(A) LL‘I;%{;’ B) LJSK
(D) LLnlfUrs

S d F WD),

(A) 1 etz

(B) =i bl Az

©) <P Bt 0) wibtettie
WonisJof i Uttt o
(A) ebSSlo” M

(B) cbrlog/

(©) ¥ebYlby” (D) ity
f‘%tﬂ;;¢«5//—-—)£a-

A) S @k

©) e o)k

\JLJJKU)’)".’.’ é‘j,(,y’ l'fd/,:-;/&(l} ."_oJ{)inF/;/

f‘atnuy,u:<ful-t,’a_g¢:';uf
(B) &9 )

64,

55,

56.

57.

58.

59.

60.

61.
(A) s

©) Jo (D) None of these

: S‘q_w;dlﬁdl;.;_ )Tvo,}‘qni.'/'s‘-‘;--g—*'d:uur‘

(A) 7
(©) J
(A) (it s (B) ¢Jrinigs)

(C) ¢J2ul A (D) None of these

Name the non-muslim neighbor countries of
Pakistan: N
(A) Iran, Afghanistan (B) India, Chin
(C) Australia, Germany
(D) Italy, Poland

Name the Muslim countrie
Asia:

(A) Malaysia, Iran

(B) Bangladesh, Iran

§C Bangladesh, Afghanista
D) Indonesia, Malaysia

ABKSEs 1oy S LAY & eopid A S
A bsfUinse  (B) L Son

© ferfuids ) ¥z
JliLnL/d:aJ&J;zg¢P4éréé
s'gf/tgu/.;/,rwai
(A) 40l i/
(C) ¢ Lirif

(®) G
©) ¢4

China, Afghanistan, India,
and Iran while Tajikistan is
separated by the thin Wakhan

(B) 4rG-Lus oo
D) S ety
mdbﬁut.:«uu,q;m(uu@

(W) Sordr e sl

®) rL sy

© s ) H it

?‘at‘l?.t_k;}u%b’.'%

(A) ULl d_iof 4o

B) Ut kSigd it A

©) i wSiglnfal (D) F $ et
Vet Soost

(B) Uipind
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China, Afghanistan, India, and Iran while Tajikistan is separated by the thin Wakhan Corridor

Southeast Asia is composed of eleven countries of impressive diversity in religion, culture and history: Brunei, Burma (Myanmar), Cambodia, Timor-Leste, Indonesia, Laos, Malaysia, the Philippines, Singapore, Thailand and Vietnam.


62-

63

64.

65.

66.

67.

68.

o (D) A0z
( by | '

fw.f/zdr‘if"i‘f'&b"- LQL o

" i Hajveri RA
(A) ﬂﬂifémn Shghhaz Qalandar RA
%g)) Hazrat Baba Fareed RA \/ ‘.

(D) Rehman Baba ———>
Oyt e

w LA (B LAl
©) LA (D) LediA
JJU;JGJQMJM.;J{,,/
) WWoheF10 Kl :
(B) ST

(C) l[yfuf:w&u:’u/ (D) None of these

LC'J?A(;'KU;MJ/&'JJUU/I;

n el (B) WEF

€) ebief (0 et
Name the area which separates Pakistan from

Tajikistan: o
(B) Radcliff line

(A) Ceasefire line _
(C) Line of control (D) Wakhan corridor

The Punjab Protection of Women against
Violence Act passed In:

(A) 2014 (B) 2015

(C) 2016 (D) 2017

SPedet 1L 4819450 f
ﬂn:/.t"c.gﬂ

i » -
(A) B2l k)

(B) S s g SGTE

69.

10,

€) ket LS |

(D) cctlans v’m,Juinﬁ.?(‘”

o b (Lo

(A) = fyss (B) =il o 1A
©) =B Ushifil (D) =l el sz

F?Wgt‘f(jﬁ'uﬁg)nw‘g JU”"‘-{'UD{L

(A) 'ij” (B) oIy
Wiw ©)

",

12,

73,

74.

75.

76.

7.

78.

79.

80.

81.

" (C) Steel&Nickel

'l‘;{..[f.fr“hé.._“'dkgu:tj'f fd iy
(A) Hispar (15) Batura
(C) Blafo (D) Balturg

et L (:}‘ U/ka’ﬁ Sl g
S AN a0
) oI

(©) Yis/os

®) YWiaj,
(D) gg)/n,v’

U MECKLNT L L Ly .‘.'J;.f.f..j
0w

(A) 14869
(C) 34889

?q-'ﬂurful}{JKJ” VI

(A) Bahawalnagar,Bahawalpur, 5
Rahimyarkhan, Khairpur

(B) Ghotki, Mianwali,Khusab,Layyah

(C) Mianwali, Khusab,Layyah Bhakkar

(D) Ghotki, Sanghar, Tharparkar, Bhakkar

The famous poetess of Kashmiri language is:
(A) Sarwat Kousar (B) Hina Jillani
(C) Parveen Shakir (D) Habbaz Krziccn

te v S ST
) de
(C) S# sy

(B) 24479

Largest Desert of Pakistan

8) =2
©) 3 ¥

a“_//;u; Aﬁlu?luldk‘blu;(;‘cfwﬁrfgf(
Suiu ' -

(A) Sl (B) Jois .
©) S (D) f=ob

Centrosome formed the:
(A) Spindles (B) Chromosome
(C) Cell membrane (D) Cytoplasm

The imaginary line around an object in which it
rotates is called. .

(A) Spin motion

(B) Centerof gravity .
(C) Axis of rotation (D) Centie of mass

Enzymes are made up of:

itami B) Proteins
gé)) ?-/ilit)?(;‘;ms sD)) C;orl)et;rl‘wydfates ‘
Ll ol B LIS UET
tupd e -

(B) Steel&Copper

(A) Copper&lron 108 Copper kel
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Every action has reaction which are equal but in opposite direction

v

(8. ]

. 83_. ?‘glﬁ{

82. o Uit~ isk S
(A) Newton First law of motion
(B) Newton Second law of motion
(C) Newton Third law of motion
(D) Law of momentum L

el 5:{(?5’;/:17&;
(A) U1 (B) t2,
(©) ches D)Lk

84. Thebasic_‘bhotosynthétic pigment is: -
\(A) Pholosystems (B) Carotenoid
(C) Chlorophyll-a (D) Chlorophyll-b ,

85. Atmospheric pressure is measured with a:
) Screw gaugé (B) Barometer
(C) Stethoscope (D) Hygrometer
86. Which carry ox&gen throughout the body?
- (A) Neutrophils™ (B) -Platelets :
(C) White Blood cells (D) Red Blood Cells

't ' '

(A) Hydrophytes

(B) Helophytes’
'(C) Xerophytes

(D) Aerophytes -

88. Water is called Universal solvent because of
(B) Hydrogen bonding

(A) Polar nature

.(C) lonic bond (D) BothA&B

89. The oxides that behave as both 'aqidic and

basic ‘oxides is called:
* (A) Acid

. (B) Salt
(C) Amphoteric

(D) None of these

90. Solvay process is used for the manufacture of:

(A) Sodium carbonate
(B) Magnesium chloride
(C) . Aluminum Oxide (D). Sulphuric acid

mixture of gaseous hydrocarbons by:-
(A) Oxidation (B) Cracking .
(C) Distillation (D) Hydrolysis

92. Margarine is made from the process of

- 87, LM;){_’L'; "L/Lﬂdilq;u@l_bﬂ.’d”

" 91. Liquid hydrocarbons can be- converted to a-

-,

7 A A
AZ (D) L@

?LﬂZ“’:c_.l“é_Jﬁ.._él:FJVJ/,Lf'J‘ﬁ’[)'(JJL “ |

~

o Ini o)

- (B) W
o e
S FBLS RS ST 9
5B u W

SO o (©)

| s TN ,{‘uf, e ((-_?}u:ﬁ/ uTj 96
e @) bep @)
ode 0 1 e 0

i Bf S SNl Fip g7
sl (BY o 4nF (A)
JFuf ()

il b L._,L,;” 98
St B) Ve o)
FeP 0 brep (o

o2 IO o T I Ui s g

~

Lo 760 (B) 2 ot (A)
SMIKI. (D) ekl (C)

UYL Lt 100

(A) Chiorization (B) Carbonization 44 (B) gj (A)
o (©) Hydrogenation (D) De-carboniation_ e . L}J”
2 iy, gt s =61 (D) 4
R Py S A D - 1 40
: % : " Answer Key g :
1. 2B "~ 11.-.C 2. B~ 31. B 41 B 51...C . 61. ' 71. B
W2 G 12 B 9 B . 42. B 92. A 62. D 75 p
3 B 13 A. 23 C .33 B 4. B 5.°D 63 p 3 w
4 D 4. A 24. B 34 C #4 C ‘54 C 64 o 74. C
5 C 15. D 25, A 35 .D 45. D 5. B 65. . C 5. 8
6. A 6. A 26 C 3 .C - 46 D ' 56 \g 66. -D- - 76 ¢
7 B 1 AT .0.° 37 ¢ . 4150 e L8 BB g, PR
8 Cc 18 C 28. B 38 A 48 D Fredh it 78. A
9. A 19. B . 29. B 39 A 49. D I D e TR
0. A 20 D 3 B 40 B 50 C : 0.0 gy g

~
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Every action has reaction which are equal but in opposite direction


84.
85.
86.

C
B
D

87.
88.
89.

c
D
C

’

90. A 93
91. B 94,
92. C 95.

000000000

¢ b
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Syllabus

One Paper MCQs Type Written Test of 100 marks and
90 minutes duration comprising questions on General
Knowledge, Pakistan Studies, Current Affairs, Islamic
Studies (Ethics for Non-Muslim Candidates), Geography,

Basic Mathematics, English, Urdu, Every-day Science, &
Basic Computer Studies.

the basic form of a verb

(Paper No.2 (2023))

00D GRAIN SUPERVISOR (BS-09) FOOD DEPARTMENT
2023-27J-35J2022-07/05/2023-EVENING 2023

Wrich of the following is @ comparative

g (‘E‘)' Taller
(& Baa (D) Worst
9,»_,rbigyl4fé‘_:¢.3_./rﬁ,s;u:‘#
N
(©) Jesdb ©) o7

What is the sfllable structure of remember?

(A) rem-em-bered
(C) rem-bere-d

?+/¢;ﬁdl—ﬁjxlf¢'§;.ﬁoig;/(ﬁ

(A) ibFs7

& s

re-mem-bered
(D) None of these

®) & o7
© Kt

Which book wrote by Ahmad Bin Shoaib:

Sunan Al Nisai
(C) Abu Dawood

(B) Ibn-e-Maja
(D) None of these

SAARC was founded in Dhaka on 8 December 1985.
This organization promotes development of economic

6.

10.

11.

To help is which type of vesb:
(A) Participle Infinitive
(C) Gerund (D) Modal

Which one of the following is a greenhouse
gas?

(A) Oxygen ﬂrM_ethane

(C) Sulphur dioxide (D) Nitrogen

Bleaching powder contains:
(A) Nitrogen (B) lodine
hlorine (D) Bromine

Which word is formed by rearranging the word
shgut: .

South (B) Thous

(C) Outsh - _ (D) None of these

Which of the following organization is of South
Asian countries?
(A) ASEAN @f SAARC
(C) GCC (D) -ECO '
Partition of Bengal occurred due to:
(A), Political issues
Administrative issues
(C) Economic issues

and regional integration. Its secretariat is based in

Kathmandu (Nepal). The SAARC Secretariat was

established in Kathmandu on 16 January 1987 and was
inaugurated by Late King Birendra Bir Bikram Shah of

Nepal.

Lanka.

Hint: MBBS PAIN

Initially there were 7 members in the SAARC but

Afghanistan joined it on April 3, 2007. Now it has 8
members which includes; Afghanistan, Bangladesh,
Bhutan, India, Nepal, the Maldives, Pakistan and Sri

Golam Sarwar from Bangladesh is the current
Secretary-General of SAARC, having assumed
charge on 4th March 2023.

Name the first Secretary-General of SAARC:
Abu-al-Ahsan

The idea of establishing SAARC was first
mooted by: Gen Zia ur Rehman (Bangladesh)

First Summit of SAARC was held at: Dhaka

—

Highest Literacy among the SAARC: Maldives

c———
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 SAARC was founded in Dhaka on 8 December 1985. This organization promotes development of economic and regional integration. Its secretariat is based in Kathmandu (Nepal). The SAARC Secretariat was established in Kathmandu on 16 January 1987 and was inaugurated by Late King Birendra Bir Bikram Shah of Nepal.

Initially there were 7 members in the SAARC but Afghanistan joined it on April 3, 2007.  Now it has 8 members which includes; Afghanistan, Bangladesh, Bhutan, India, Nepal, the Maldives, Pakistan and Sri Lanka.

Hint: MBBS PAIN

Golam Sarwar from Bangladesh is the current Secretary-General of SAARC, having assumed charge on 4th March 2023.

Name the first Secretary-General of SAARC: Abu-al-Ahsan

The idea of establishing SAARC was first mooted by: Gen Zia ur Rehman (Bangladesh)

First Summit of SAARC was held at: Dhaka

Highest Literacy among the SAARC:  Maldives

One Paper MCQs Type Written Test of 100 marks and 90 minutes duration comprising questions on General Knowledge, Pakistan Studies, Current Affairs, Islamic Studies (Ethics for Non-Muslim Candidates), Geography, Basic Mathematics, English, Urdu, Every-day Science, & Basic Computer Studies.
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\;}/)f

(D) Muslim-Hindu issues

12. When you say "May | use your pen?”, the

13.

14.

15.

16.

17.

18.

18.

20.

#%) The

22.

23.

word "may” is implying that you are asking for:

{A) Request Permission
(C) Direction (D) MNone of lhese
He is the in the class.

¥ Best (B) Top

(C) Prime (D) Leading

The plural of family is: _

(A) Familys (B) Familyes

(p# Families (D) None of these

The Commonwealth of Nations has mapped
out a six-year program of aid for southern
Asia. It is also known as: .
(A) Kuala Lumpur Plan
(B) Singapore Plan

Colombao Plan
(D) Accra Plan

Which organization deals with terrorism and

drug abuse: .

(A) United Nations Office on Terrorism and

. Crime

(B) United Nations Office on Drugs

¢ United Nations Office on Drugs and
Crime

(D) United Nations Office ‘'on Drugs and
Abuse :

Identify ‘who’ is which part, of speech:

(A) Noun Pronoun
(C) Adverb (D) Adjective
Hurrirah means a.
(A) Goat (B) Ant
(C) Camel (2 Cat
Which of the following is adverb of place:
(A) Vast Abroad
(C) Great (D) Gigantic
is the specialized ' United
Nations agency for information and

communication technologies (ICTs). ~

International  Telecommunication
Union (ITU)

(B) The International
Organization (ITO)

(C) The International

Agency (ITA)
(D) None of these

Telecommunication

Telecommunication

. He is a hardworking student, he doesnt

21
N

7X) Give up (B) Stop

(C) Refuse (D) MNone of these .

result from the attraction between
oppositely charged ions.
(A} Metallic bond lonic bond

(C) Covalentbond (D) None of these

Who assumed the presidency of the UN
_Security Council for the mpnth n}i May 2!2!231;J

(A) Vasily Nebenzya (8 Pascale Baeriswyl
(C) Vanessa Frazier (D) Abdou Abarry

25.

26.

27.

28.

29.

30.

31.

32.

33.

24. He is working now, is which lype of sentence
(A) Present Indefinite
@7 Present Continuous
{C) Present Prefect Continuaus
(D)} Mone of these

At the age of 9 who became the youngest
Microsoft certified professional expert in the
world

(A) Arocsa Farid -
(C) Marium Khalid

(Verb+ing)

{{Arl‘a Karim
(D) Sehrish Kazmi

SAARC stands for:
L~ J M South Asian Association for Regional
1985 Cooperation
\>{B} South American Association for Regional
Cooperation
(C) Small  Agricultural  Association  for

Regional Cooperation
(0 South  Asia  Associalion
Gonperaliun

When pressure of gas is increased the volume

of cylinder will:
(A) Increase ﬂﬁ' Decrease
(D) None of these

(C) Remains same

St Yt T S S T

{ﬁf Reflection (B) Refraction

(C) Diffraction (D) Mone of these
?L,;réf;;l;’r__ﬁudfc.:-:.mf_ﬁu@"’
Q{.:.fl:;.‘f*;.'fr.-.a:;:{

(B) = Alsfrisle fo o

for Railway

&
(C) .:'—-J:".'.!,‘:{J!"l"."'.r!;:'

(D) L.Jfaf" .a:lrm,nf'

?‘.-:_L.'j'rddt__.ﬁz.{: u'fffLJ-'i: Jiast
(A) =ke T (B) Ut
€7 =/ (D) &)

Whv cobalt-60 is used for treatment of cancer.

(A 1lllrF.rni’t Alpha rays (B) Emit Beta rays
Emit Gamma rays

(D) Emit Nuclear rays

te Sl sJEU |

w e o ered

©) S ) & et
Uﬁﬁpﬁfiﬁ-;ﬁd&f’d‘iéﬁﬂkﬁd”?"
oL un tATE L E Lo

(A) s (B) 1%

W( Az (D) J"P
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1985


t bt NS Yl g Ja*_n":fdfﬁ
(el s
o) S s

34,
(A) v
(C) hef
35. T R

o (®) &

(C) 15/ 0) L et |
36. Jﬁyiky'fflfj;éj—é-é—GJ;UIfnd‘L&r
T¢- :

[ﬁ:} sz
(©) LA T

a7. ‘.‘.;_r:rul-f e JT

PRI ET
0) 3 et

(B) Pharynx .
[('::T[f?g:nh:a (D) None nl'_thm
38, ,z}_;uffuﬁbf{iLJ}J.::n;;Lgu,,,g-Jﬂ
U __
) Jrmc) (B g
W einds (0 S L

39, S Vet ime Pbelia
Vo

p( =5 (B)
(€) =r(" (D) b7
40, f-;.d" Loy prtoedt -
B
o G (0) 70%

o, G Heplephtid
A e ®
(C) Uinate! (D) u” Ml

42. All RBound Table conferences held in:

London (B) Delhi
(C) Karachi . (D) Geneva
43, Half-life period for carbon,14 is nearly:
(A) 1.2 days 5730 days
(C) 5.73years . (D) 5.73 days

44, ?..[fa_n;.r_.;gl,f(uﬁuli:ﬂh:"
oW g o S
© & ©) St

(—

Founded in 1949

45. Trade become progress in South Asia when
(A) Palestine issue resolved
Kashmir issue resolved
C) Saudi Arabia-Iran issue resolved
(D) Yemen issue resolve

46, Y2 SusL e S 1
(A) E-ZLLa B gubrwresyrsa
= F LB AN
©) &Sl
(D) S et

47. Karachi is the cily .Ouand-e-k:am was

born in 1876 .
ﬂ where (B) while
(C) which (D) whom

48. <n III:L-,JLJ_’lu{}JELﬁu;f‘f
ey ADIOEESS  (B) rLAR
(C) s (D) L L

- 49, Objective Resolution was presented in the
Constituent Ts:u;:‘mbly by
Liagat Ali Khan
fg Khawaja Nazim-ud-din
¢ (C) Muhammad Al Bogra
(D) None of these

50. ‘E‘.:;.t'uf /] (! VAl
o S (B) Sk~
(C) =i ) & et j
51. How many member countries are in European

Established in:
November 1, 1993

:.ir;iafz'l; (ﬂr 27 tJK left M

52. T‘:iéij.g/;-ut.ukmﬂ @
w 2L St Brussels
m'i-éi.hﬂjuﬁ:.-lﬁuinlg
© 2Ll © Kt

53t B #LEY!

(A (T & e
(C) =ik .0 Gl _
54. First Nuclear Atomic bomb was tested in:

— ima’ ki
(A) Hiroshima ~-~ (B) Nagasa
{ New Mexico (D) Ice Dgsert )
55. How many . countries are. members
Commonwealth?

The first atomic weapéns test was conducted near
Alamogordo, New Mexico, on July 16, 1945
during the Manhattan Project

Y
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UK left European Union in:

2020

Headquarters of EU:

Brussels

Highlight

Established in:

November 1, 1993

The first atomic weapons test was conducted near Alamogordo, New Mexico, on July 16, 1945 during the Manhattan Project

Founded in 1949


B\ 54

W (D) 58
luggage is as light as feather is lhe
56. The NeSwhich figure of speech:
Metaphor Simile
Personification (D) Hyperbole

" 7. Which gas does a Photocopier machine
produce: o -
(A), Carbon dioxide (B) Shulphur dioxide

[ﬂfﬂzune (D) None of these .
58. Which chamber of the human heart receives

oxygenated blood?

(A) Right atrium (B) Right ventricle

(@ Left atrium (D) Left ventricle

59. Which type of coal is used on mega scale:

(A) Lignite (B) Bituminous
(&4 Anthracite (D) Sub-bituminous:
60. The least count of Vernier Calliper is:
0.1 mm (B) 1 mm

(C) 10 mm (D) 100 mm

61, Sy Sl i U 7\
A g/ (8) z-r @

T Ul (D) JF

62. Scientific name of frog is.
(A) Allium Cepa
@7 Rana Tigrina _
(C) Brassica Campestris
(D) Homo Sapiens _

63. Ul-utl S i SIS USn-uti &Il 4

et/
o S (B) i
(©) w1 (D) S tu
64. Which of the following is NOT a portable
" device?
(A) | pods (¥ Desktop computer
(C) Laptops (D) Thumb drive

65. If the purchase amount is Rs.20000 and sell
price is Rs. 16000 then loss is how much

percent:

{2} 10% (B) 16%

(@ 20% (D) 24%

Solution

Loss percentage = 4000/16000 x 100
= 400000/16000 = 25%

B6. If 4x-3=y and x=-5 then t | is:
A _\5% ue of y is:
(C) 19 , (D) -139. '
Solution
Replace x by -5 which is gi
"S)3ny ch is given

67.

G8.

69.

70.

.

72.

73.

25)°-(6y)’=
H ;:{%16;" (B) Bx’-36y°
(C) 4x-12y (D) None of these
Solution
8¢’ - 216y°
The printed output from g computer is called:
(A) Copy Hardcopy
+ (C) Soft copy (D} None of these
t Usman Ali Hajveri RA was sufi saint of.
} Punjab (B) Sindh
(C) KPK (D) Baluchistan
oS o
o e (B) —A5
© e &~ 0) S ety
el Sy LheAin
X #LsiS O Lo
©) #Lns 0) K&t

74.

75.

23 =y
Y=mx+c and -7x-6y+11=0 then m is equal o

ia, 5 (B) 6

7 (D) 8

Solution

First we convert given equation in the form of
Y = mx +¢

By =-Tx+11

¥=-Tx/6 +11/6

50 by comparing both equations m = -7/6

Ali took a loan of Rs. 50,000 at 9% rate ol
interest for 2 years al simple interest g
renovate mis house. How much extra amouni

he pays in 2 years. (ﬂ(
Rs.2000

(A) Rs.1000

(C) Rs.2500 (D) Rs.3000
Solution

Simple Interest = PRT

Simple Interest = 50,000 x9/100 x 2

Simple interest = 9000(Extra amount paid)

What is the population density of Punjab?
(A) 250 persons per sq. km
(B) 350 persons per §q. km
(C) 450 persons per sq. km
(@7 550 persons per sq. km
A merchant has announced 25% rebate on

| nts at the time of
prices of ready-made garme
sale. If a purchaser needs 1o have @ _
Rs. 400, I’Luen how many shirs, each costing
Rs.320, should he purcgasﬁe?

5 (B) .

(C) 7 (D) 10
Solution
Discount on one shirt, ks, 80

= 25% of 320 = 320%25/100
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Hen;g,numhernfshirt he must buy to get a : ( i (B) 2
rebate of Rs. 400 = 400/80 = 5 (C) 3 (D) 4
. 90. The master status of relation is:
6. te Ul A ne S Father .
" ( e (B) Mather
(A) o yres (C) Neighbor (D) None of these
i D) Jff.-rfi 91. Umrao Jan Ada is written by:
() EJ*LJJ { (A) Mir Fazal (B) Bano Qudsia
- : f{d 5 A Ui @1 Mirza Hadi (D) Josh Maleh Abadi
77. ?ﬁﬂul)’f JErm ne Y v 92. Brass gets discoloured in air because of the
A:" /,J], iy (B) Bl prrq?sence of which of the following gases in
-/ e : ai _
(©) —&Fub ) Lk i (5 Hogen
i rt of Pakigtan is: (D) Carbon dioxide
. T o P e T ot A
(C) Rice (D) Furniture ) . a?d‘ JU_]I_}!‘J{_)JJ;H‘—J:';" 93
iacic Democracies system sel up o _ ,
. The B“t::rm“ institutiE}Er':}s.F r e Xk e L yis Lo ()
T Thre ou
B jvee - (D) six IRV
i lowing are river of Punjab: . J .
" ?:?I%hfr:::m - QIE} helum - S et (D) et 122\ L Ui i1 o
(C) Sutlej Ao hase H If 10 men can construct a building in 40 days. ~ 94
B1. After_came into power General Zia ul Haq How long will it take 1man to do this work?
promising elections | = 40 (A)
(B) 6 months 200 (B)
(€) 19[;2:?5 (D) 2 years 450 (D) 400 (G~
, 1 Punjabi
82. ;"H.}:Ih of the following was famous Funj i imuerst proportion example more man need
Baba Bulleh Shah less days
(B) R:hman Baba Let y be the number of days than
(C) Momin Khan Momin y=10x40/1 =400 days.
(D) None of these ¢ dndid [t sE 95
83. Cell wall of plant cells is formed of. _ ‘T-‘J' b tqr 2 venl!
Cellulose (B) Hemicellulose Potential Energy (@7 Kinetic Energ ©
(C) Proteins (D) Fats Gﬁ“‘?ﬂ?ﬂ"ﬁ)‘?ft‘:;g: )
84. Getting data from a cell located in a different pryy p
sheet is called _ i ’ Ifrfdgy 96
(A) Accessing {gréa;ﬂ?ur:‘?:gg I‘_lﬂf T e i Lluids
i u L] - -
V) Vpnaty () ith e~ (B) Ures e
85. How many Surah of Holy Quran stars wi .
ﬁ?kgg letters: @) 27 b= (D) =/ (C)
' f Quell is: .97
86 E:'?r.lllt faueleie command: n 3 /\Kﬁ) Peace IE':'}I'IEH"‘D"?"" ::matu IC
1 I ' j Y
(A) Deletes the mntenrt cf"a cell A Under contral (D) Calm (C)
(B) Deletes Formats of ce ' ' . ; 5 98
(C) Deletes the comment of cell oL 2 Jusy Lol S vif 162
(PY Deletes selected cells 64 ( 60 (A)
87. Asgt;: 1988 elections Benazir Bhutto formed 72 © 68 (C)
. in which provinces. ,
(A)_Punjab, Sindh  (B) Sindh, Baluchistan solution M
Sindh, KPK (D) None of these Required percentage = 16/25 x 100 =
B8 Mount Vesuvius is locategn: \ 1 8.,84000 9
(A) Germany ltaly ?r%p’jéd_ﬁ,éﬁ_fuﬁﬁ 04
(C) Russia (D) Canada 1412 (A)
83 The power of linear equation is: 1512 (

Put an end to (a rebellion or other disorder), typically by the use of force
Sentence: Extra police were called to quell the disturbance)
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Put an end to (a rebellion or other disorder), typically by the use of force
Sentence: Extra police were called to quell the disturbance)
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phﬂm“"‘u".‘i_—-

Solution
Tas rate =

Tas rale = 4:18 =1512

»DDOErODEBOOLMMD

1712 (D}

1 §/100 x 84000
Tax rate = 18/1000 x 84000

14
15.
16.
17.
18.

EDOOoDODE2OD0DLOO0O

27.

HbOPP0D200D00BD

1612 (C)-

Answer Ke
40 C 53 B
41. A 54, C
42" A 55. C
43 B 56. B
44 B 57. C
45 B 58. C
46 B 59. C
47 A 60. A
48 A 61. C
49. A 62 B
50 A 63 A
51. B 64, B
52. B 65. C
YT EEXEX

D000 >2DD00

100 T BAEr T St S
Grdw o’

S =L o)

79,
a1
az
g4
a5

E7.

84

" g0
91,

. 4
we (R

Lri7 1)

OO0 EBL00

52
93
G4
95
95 -
g7
9e
9%
100

maoEar®2DO0OO
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=3 General ability including (80%)
Pakistan Studies, Current Affairs, Geography, Basic
Mathematics, English, Urdu and Everyday Science.

~J Question relating to M.S Office and Computer skills (20%)

Paper No.3 (2023)
JUNIOR CLERK (BS-11)

Add No0.29/2022
Case N0.43J2022

iab — -43J2022
e Punjabv 2023
Board of Revenue, Funl
: las in | 13. Phases of the moon occur because:
; .« ysed to execute formu [ A) We can see only that part of th
1. Wh"éh sglfnbol Is us ' ' \( ) which reflects light towards us ® Mooy
'\f\s EXcel: (B) = . (B) Our_distance from the moon keep
' 50)# 0~ 2 %ﬂanghngd f the Earth
- igantic? (Adjective) C e shadow of the Earth covers on|
2. What s the synonym o(fBG)lgpoky i _( ) e of FODNSUITEES nly a
Immense, Enormou gég %:-Iaymme (D) Huge <Smal|, Little> . (D) The thi(:kn?sst of the moon's atmosphere
A : - is not constan '
cle which was purchased 2 IS no
sentence: /- 3. The "a'”ﬁ oé:gr:glactlgs at 12 % perannum. If [ 44 \Aho said microbes are animalcule:
The gigantic ears 200, “value is Rs .9680, the price at ~ (A) Darwin , (B) Mendel
elephant is - its prese hased is: (C) Leeuwenhoek (D) Louis Pasteur
the largest which it was purchase o Rs. 12500 LG D) L .
and animal (A) Es. }ggg’g ng Rs. 16250 15. Hingol river is situated |g wrélphdﬁrovmce:
on earth. (C) Rs. . - ~ (A) Punjab (B) Sin _
4. Excelis a program that IS Usegt‘gpgﬁgjae’ﬁta- © (C) KPK (D) -Balouchistan
(A) ga’agﬁiﬁeet ' (B) TWeorkbgok . 16. Pakistan is located in which continent:
- (C) Spre b | C (A éfnca gg% ana -
5. Father of Slave dynasty. ~ . (C) Europe one of these
.ud-din Aibak:  (B) Khizer Khan . :
Siave Dynasty Period ) (A) Qutb-ud giptalear A 3 17. The Punjab government has converted
(C) Sehl ';:dh' ) hfz)n r\;?]';eg\:’h?:ea | Fede‘ral-hJ minister house into
6. The intersection of a colur _ Panahgah.
spreadsheet is called: , . ~ (A) Ayaz Sadiq .  (B) Rana Sana Ullah
(A) Key . (B) Field : (C) IshagDar - . (D) None of these
(C) Cell - (D) Menu | 18. 892%=_ ' . _ ‘
7. ‘(1Al;ilo1r88teris equal to ?g)w %%%%%%mmeters: ) ’ (A) 792——_222 : gg)) gig
cm . (C) 79 | .
v D) 100000cm : : ~
© .10000 e ) (% el t found 19. 1965 war started from:
8. i?fglonal Cooperation for Development fo 5 (é) 4geptemger &B))) ggggggrr:g:;
g ' : 6 September :
Ay 1964 - B) 1970 - (©) e .
gCg 1974 fn)) 1976 20. In MS Word a ﬁhabractcla_r éhigf cl:”é%'?ed and is
: in :
9. How many times a normal man respires per ' ?K)'algﬂtﬁggvet ) ase(B) Raised t
. minute: % : i D) Subscript ~
(A) 10-15times  (B) 14-18 times (SESHESRESPt - )f 104510 -
(C) 20-25 times (D) 25-30 times - 21. ge;rrqs% remain in a"leg “1’951 —
10. Solar plate consist of which type of cell: ‘ D) 1953
(A) Fuel cell (B) onto voltaic cell (©) 1952. (d )m of the world is:
(C) BothA&B (D) None of these 22. The largest earth ﬂ”ed(Ba Warsak
1. g\r)apg_icalhrerr:resentatiog ofsdata is called: | gé)) Egﬁ;: _ (D) None of these .
ie chart | catter plot .- taken to the
: . o - ‘United Nations ! ;
12. Kachura lake is situated in: A) 15 August 1947 01 Ja%??r%se
gé; L bad (B) Skardu (C) 28 Jaruary 1949 (D) Nore |
& ara .a (D) Kara;hl 24. Duodenum Jejunum is apart o
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(Adjective)

Immense, Enormous

The gigantic elephant is the largest land animal on earth.

Sentence:

Slave Dynasty Period

 1260 to 1290

Antonym:
Small, Little

Add No.29/2022
Case No.43J2022

Syllabus 

General ability including (80%)
Pakistan Studies, Current Affairs, Geography, Basic
Mathematics, English, Urdu and Everyday Science.

Question relating to M.S Office and Computer skills (20%)


» Large Intestine  (B) Small Intestine

c) Stomach () Kidney
Which shortcut key is used to spell check in
2. yiigrosoft Word: N
) Fi—>helb &B) F2 i
2& F7 . = D) F9
g5, Element present in largest amount in human
" pody IS ‘ _
b/f\) yHydrogen _ ~(B) "Nitrogen -
EC% Oxygen - (D) Carbon

77. In 1846 the British sold Kashmj

. . r to Do
Maharaja Gulab Singh for an amount of: =
Ag 60 Lacs - iB)' 65 Lacs

EC 70 Lacs ’ D) 75 Lacs

8. Give the meaning of the idiom "breék
A)) Occur suddenly (B) break dowgm'
C) Incomplete

. D) None'of.thesm
" 29. Durand Line is the bord | \p»
)

v

(A) Pakistan-Iran
, %B Pakistan-india -
C) Pakistan -Afghanistan ch{
(D) None of these
India National Cong?g\z.‘g'<M
(A) Nehru (B) Gandhj '
C) A.O Hume ©
he idiom “Kic means?
B) Achieve :
(C) Tobe successful ((D)) Tghi‘)?;e sl

32. The mean e \diom Pri
Th ning of the \diom Prick up your ears

er between:

3.

30. Who founded Al
) Quaid-e-Azam
k the b e
(A) To Kill B

Founded
December 28,

s
1685, Mumbar, \A) | noring

. (B) Listening ca

indig - - une out (D) None-ofgthegu“y‘
. MOW  can you : .
f((/)\r{n atling you did 16, anotre ey, the - same

0 another text?
(_%O'py the text and paste in new
®) Ct:)%‘} tghpee tth)?t new text again A
ext a ' '
. tgoll O? e Dl é\ed click on Paste Special
. Wwhoeledt the text then click on F
. Painter and select th Pl Lo
(D) All of these e_new‘text
34. Change voice:
enem{. : :
('é) The enemy has defeated by our army.
(8) 'Ta'ir\:\ enemy had been defeated by the
“army.

location;

(C) The enemy has been defeated by our

army. :
(D) None of these

Cento was fc;unded in 1955
S P:k\stan left CENTO in:

(A) 1973 B) 1979
icg oos © . yem T

36. If 30 men working 9 h per day can reap a field
~in 16 days, in how many days, will 36 men

reap the field working 8 h per day?
A) 15 _— iB) 25
iC) ‘48

47, The

Our army has defeated the

38. MA\S brother ang friena

§ -me in
0 Mibes e
. e |

39. TRe meaning of put gyt js. "
((C)) E);t‘mgunsh iB)' Assuage

40. A feat:re of Olfjf) s s
odcature > Jflice that gayee
ca\\_edm:em automatlgally after it

Yé)) %?J\tlgs ave / %

41. Which key deletes oese
A) °r‘3r5°¥ in hﬁéeev?rﬁ;ma’a"‘e’ o the righ

Certain interva jg

elete

/ _tof
ConE, ((B) Elacksp’ace |
42. What is ng o0 thee
H R_omarr?e of lran's new 1<_:urrenc
(C) Sian " (D) B(r)gr:an
43. The antonym of Di\igent is:
ll-_iardworkmg . (B) Intent
44, By se?ezci' e
. \SCling paragraph we ]
A lé\gﬁ‘ sg\:acmg p cg)n ?r?&l?rl{t
45. First Capital& fBP kistan v el o e
. of Paki '
Ay KaDital - aKistan wag
- (C) Hyderabad

. Islamabad became
ital of Paki i
(B) Lahore iggga of Pakistan in
(D) None of these

46. Tarbela dam is located in:
A) Wazirabad (IBn)' Swabi

Mardan (D) Shangla
was a

_ — Was a gathering of 35 i
L\ntd‘t?\g l\<\/gshm leaders led bygthe AggroKmmeﬂtl
L iceregal Lodge In Simla in October
(A) Minto conf

_ erence (B) Delhi Co i

(C) Simla Deputation (D)) None of &Vgs[glon

48. When was the African Union established:

- (A) 1967 - (B) 1987 '
(C) 2002 (D) 2005

49, \(IVhich‘ is not an input device:

A). Mouse ~ (B) Plotter
(C) Keyboard - (D) Scanner -
.50. Cooking oil can be converted into vegetable
+ ghee by the process of:: ~ ~
: %A) Oxidation (B) Distillation .
C) Hydrogenation (D) Crystallization.
51. The Sl unit of “pressure” is:

A) Pascal ' §B§ Joule .

-(C) Tesla : D) Henry ‘
52. Which is the largest hardware company of the

world: . g

A) Dell : (B; Microsoft

tC% Apple (D) None of these

53. The angles of a triangle are (x-35), (x-25) anc
D) 10 ' 1/2xé2)0).ﬁndx. _— " ,
37.)\ndds Waters Treaty, treaty, signed on . KCAJOO . ED§ None of these
%e ’_(e{n 23—;@&@2& .bypetwe en, e’ eng 54. Which tab of MS-Word contains the Shapes
R W " Uni N ' tion: : -
((é)) \\I\‘\Inc;:r\d Bank i%)) L\m[:.gd Nations ?R) Home *(B) Review
Q:42

The head of Iran’s Central Bank announced Monday that the nation’s currency was set to be re-named and re-valued. Long called the
rial, Iran’s money will soon likely be called the Toman, and an impressive four zeros will be shaved off all .denomi.nations. What was
previously 10,000 rials will become one Toman under the plans, which were approved Monday by the Iranian parliament. A proposal has
been agreed to by the Iranian parliament to drop four zeros, by replacing the rial with a new currency called the toman, the name of a
previous Iranian currency, at the rate of one toman = 10,000 rials. This change is expected to take place between 2020 and 2022.
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Help

Edit

Length 2430 KM (old)
Now 2640 KM

1893 agreement signed

Founded December 28, 1885, Mumbai, India

Cento was founded in 1955
Pakistan joined cento in 1955

Islamabad became capital of  Pakistan in 1960

Q:42

The head of Iran’s Central Bank announced Monday that the nation’s currency was set to be re-named and re-valued. Long called the rial, Iran’s money will soon likely be called the Toman, and an impressive four zeros will be shaved off all denominations. What was previously 10,000 rials will become one Toman under the plans, which were approved Monday by the Iranian parliament. A proposal has been agreed to by the Iranian parliament to drop four zeros, by replacing the rial with a new currency called the toman, the name of a previous Iranian currency, at the rate of one toman = 10,000 rials. This change is expected to take place between 2020 and 2022.


(C) Insert (D) None of these (A) Delhi (B) Sikan
55. The interdisciplinary study of human (C) Agra _ D) Fatehp,,
population is called: 71. Which command is used to aqq d
Cartography ~ (B) Geography (A) ADD (B) Cgta ing
Demography (D) Biography (C) SUM (D) NonUNT g
56. The study of life of one's individual is called: 72. The famous book “The Repypjin» e(’flhe
(A) Psychology (B) Biography by: i Wasw,se
_ Biology - (D) None of these gl{,) Socrates (B) Plato it
o7. iT]heZ principal V}lhi?‘h will amounts to Rs. 270.40 ) A0S (D) Alexangs,
yeéars at the rate of 49 i iQ idla
compound interest is: = 4% per anndm o ;/?)mosfmk tTBS)Id,-E lfe. -
Sé) gs. 150 (B) Rs. 200 (C) on E (D) with
) Rs. 250 (D) None of these i o i 0
58. Sinal e 74. Which country is in the west of p 1,
--oInalé “spacina in MS-Word document (A) China ) Ira Akistans
(C:)U&;%S point line spacing. - (C) India (D) Afgnhar‘.'- a
©) 14 ggg 16 75. Z\qr;togym of Dastard: tan
. 59. Israel withd i ; ' pen (B) Cong;
{:)argfrom: raw his troops in 2000 after 23 . \(/\C/;r{ ifavenh f (D) Hero ISe |
yria B) L /6. Which surah of the Holy Quran i ...
_OHn  Bigee 126 ot o protct e o QU
.60. A car travels 100 km at i (B) Surah Ay
ST o | (0 Sl 6 S
Calculate the average i ' - When was Liagat N : i
journey, ge speed for the whole and Pakistan signed;ehru Pact between India
(A) 40 km/h (B) 44 km/h . " (B) 1955
+ Pakistan conducted nuclear tests on- 78. Average weight of 10 i ‘
_ e
gé) .Z’Zg May 1998  (B) 24 May??gga kg when one person oFf) 4%%'(% linscreased by 1.5
, ). May 1998 (D) None of these new man. Then weight of the nev;erglacgd by a
62. If nis a natural number the 92" -4 g 4 (é) 50 (B) 60 an s
visibie by: 8 always ©) 70 (D) 75
. (B) 13 79. Ali is my best fri H ; '
. ;C) BOiABE (D) None of these - speech: ¥ Dest Tnend. Best s which pa of
. The capital of Britj ' oun BY Verh '
fom Cafeta o " 12 as tenstred | (©) Adecve  (B) OB
elhi M e— 80. He said you ing v .
o ,(VC) Hyderabad (D) B:r?;g%re pﬁa\lrt I‘c\}f sgeecﬁfe doing very well, Well is which
- ame the battle in which Hazrat Khalid Ri- i (B) Verb
o picpme o o | e ) ddn
e r Battle of T, ' - National Com '
65 \A?r)l Battle of Mutah (D) Battle of Tapogk ) e as formed i CPeraion Centr
. What is the short ) - arch 2020 ' il 2020
- selected text? Sl key tq Subscript” the ~ (C) May 2020 fgg ﬁlfr:g%%%%
mater (B) Ctrl+- 82. NAFTA stands for: o
o5 e ift += (D)-Ctrl + Shift +- “(A) North Asian Free Trade Agreement
- Which shorteut is used for Undo in MS word: () North American fil6e Trace esocktion
gé) 8m+y " (B) Cirlez. rd: (8) North Alliance Free Trade Agreement
o W) tri+K (D) Ctri+] (D) North American Free Trade Agreemen:
- What is the shortcut key for “Decrenca: ' - Clacieris a sheet of ice.
Size” the selected text: yfor Decrease Font .. (A) Fastmoving - (B) Slow moving
o (B S shit+> ey cuvshiee || (© Stalic 7 (D) Noneofthess
5o )_ t.rl+> (D) Ctrl+< . - Another name of K2 is - 8611 Metres
- Which is an example of a formyla? (A) Godwin Austen (B) Broad Peak
C QAT e addaraz w2 Sanam " (D)ione il
69 tA2 - (D) SUM(A1:A2) - Shortcut key for page break in MS Word:
. An excel workbook is g collection of. - (A) Ctri+Enter (B) Ctrl+Space
4 g\/orksheets " (B) Charts ~ - (C) Shift+Enter (D) None of thesé
70, Wi: o b.th:h& P fD) None of these - The {"l/rsttnetw,ork that initiated {nternetwas'
. réis Shah Jahan' ne B) Ine
' an's tomb locateq? (C)'ARPANET fD; NSFNet

It was signed in 1992 by Canada, Mexico, and the United States and took
effect on Jan. 1, 1994. NAFTA immediately lifted tariffs on the majority of

goods produced by the signatory nations.
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It was signed in 1992 by Canada, Mexico, and the United States and took effect on Jan. 1, 1994. NAFTA immediately lifted tariffs on the majority of goods produced by the signatory nations.

8611 Metres


ge narration: He said to him, ‘Thank you
41, ChAPYC ind help. o
B for your KIf im for his kind help
e ke him for his kind help
B) o :old him for his kind help
HZ asked him for his kind help
D g voice! please give me your pen and
han
B gkeg&“ry%%a, ‘pen given me and take your
A) ,
| S%i!'are requested 10 give me your pen

(B) :nd take yOUf seatl.

(c) You are v

D) ?gf ;’?é’ [)?ggrtéd to give me your pen and
(

our seat. .
h 1a:;i‘;z,’overed the force of attraction or
0

0000}0000

arned to give me your pen and |

?%:l/g;UlﬁL){Ju:JL
Uﬁ'ybu"(&‘: (B)

- g, (A)
u:’dfc_u:ul D)) uxu‘; 5T (C)

(’r"_dﬁL/’lﬁJﬂL;’¢;fnbeuf
k2 @ SATE R )
FS et o) e ()
LL/,JJ&jﬁf})/Td .96

i "c"_KJ(/"&:« L/r)ﬁ.fu'_«l&&ulﬂ
e (B) |

.94

95

89 " sulsion: - : @
repulsio B) Wander wall - -
raday o . ‘
éég;«(’:;gulomb éD) None of these d”dfa/u.'ul (p) O}K/‘L' ©)
¢ bl U 21 90 e B o
5 B 93/ (A) g il B (A-)
At © W © Fledtu ) A
Jﬂf,g,l/ﬂu:)d(f/.'-'y/‘)J’r_'/’-‘vuﬁu)'ruv 91 S 1K kily o J .98
re W Ul Skl # =iiid (B) 5 (A)
oi? (B) = (A) =ty (D) L ()
4, (D =2 (C .. .
0 2 -(.) UL S 2k o gg
?LJ’/JLUW/_U};I/ .92 X o
’ /% . .f Js2 A1 (B) B (A)
e (B) = (A) S ety D). sl (C),
A=ty ©) e (©) S . s
' o e Zb AU 100
| Sedi fESGAE S 03 W @ 4 & m
Sore e T S0 ©
et 0 dbe” S (C) )
1‘ B 1 e g Answer Ke o
: L . D 40. C 53.7 C 66. B 79 C 92 (.
g. D. 15 D 28 A 41. A . 54 ¢C 67 B  '80. D 9§. 2
4 g 6. B 29.C 42 B 55. C 68. A 8. B 94 B
: ¢ 1moco o0 ¢ 43. C. 56 B 69. C 82 D 95 C
5§ ¢ o A 3. D 4 C 5-°C 70 6 8 B e &
7 S ;g C 32 B 445 A 5. B 71. C 84 A 97 A
i 4. 20 C 3 oC 46. B. 5. B 72 B 8 A 98. A
9 B - C 34 Cc 47 ¢ 60. C 73. A 86. C 99. C
0 g 2 A 35 B 48 G- 61 6 4B & A 100. D
Mo 323 B 36 A 49. B 62. C 75. D 88. B :
2 3 g_g B 37 A 50. C 63 A 76, C 8. C
Boa % g . 38 B 5. A ~ 64. C 77. A 90. B
| - U39 4 52. C 65 A 78 B 91 C
¢ . ‘
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Add No.22/2022

(Paper No.4 (2023)

FOOD GRAINS INSPECTOR (BS-12) FO

(Syllabus )ﬁ

aper MCQs Type Written Test of 100 marks and 90 minutes
(?Sr?ati)npcomprgingﬁjestions on Geperal Knowledge, Paklst_an
Studies, Current Affairs, Islamic Studies (Ethics for Non-Muslim
Candidates), Geography, Basic Mathematlc;s, English, Urdu,
Every-day Science, & Basic Computer Studies.

Established on
11 December 1946

OD DEPARTMENT

2023-18J-26J2022 (30-04-2023)

The Berber tribes were resident of: .
(A) South Africa (B) No!'th Africa
(C) Central Asia (D) China

2. Majlis is the name of the parliament of:
" (A) Iran (B) Iraq
(C) Qatar (D) Syria
3. The Himalayas, Alps, Andes and Rockies are
", examples of which kind of mountains:
! (A) Fold mountains
(B) Volcanic mountains
(C) Block mountains
(D) Glacier mountains
4. Which country joined the UNOQ in 2006:
(A) Montenegro (B) Macedonia
(C) Hong Kong (D) East Timor
5. One cell thick vessels are called:
(A) Veins -
(B) Pulmonary artery
(C) Capillaries
(D) Arteries
6. Who becomes Youngest female Aerospace
Engineer of Pakistan: -
(A) Shaista Malik (B) Aasiya Igbal
(C) Arooba Faridi ~(D) None of these
7. Which compound is\the most soluble in
water? )
(A) Salt (B) Sugar
(C) Camphor (D) Sulphur
8. Who has become youngest Microsoft Certified
Professional?
(A) Arooba Ansari (B) Arish Fatima
(C) Javeria Jalil (D) Kiran Naz .
Most metals at room temperature is in the
form of:
(A) Solid (B) Liquid
(C) Gas (D) None of these
10. Which mountain range is located in the south
of Pakistan?
(A) Himalayas (B) Karakorum
(C) Kirthar (D) None of these
1. Demography is the study of population
Including:
(A) Birth (B) Death
(C) BothA&B (D) None of these
12, :

W?telerloo is located in:

taly (B) England

13.

14.

15.

16.

17.

18.

19.

20.

21.
22.

23.

24,

25.

(C) Spain (D) Belgium

Headquarter  of Palestine | i
Organization is situated at: Iberation

(A) Ramallah (B) Acre

C) Haifa (D) Jerusalem
Alpine_glacier is also known as:

(A) Piedmont glacier (B; Valley glacier
(C) Trango glacier (D) None of these

The headquarters of UNICEF is located at:

(A) Geneva (B) San Francisco

(C) New York (D) None of these

is the state of the atmosphere at a
particular place and time. ‘

(A) Climate (B) Weather

(C) Season (D) Atmosphere

Which among the following planets has snow-
capped mountains?

Mars (B) Pluto
(C) Saturn (D) Jupiter
Siachen conflict started between Pakistan and
India in: - -
(A) 1982 (B) 1983
(C) 1984 (D) 1985
The total capacity of lungs is about;
(A) 2liters (B) 4liters
(C) 6 liters (D) 8 liters

India has announced new Kashmir Domicile
Law on:
(A) 1st January 2020
(B) 1st February 2020 Stared 1939

(C) 1st March 2020 Ended-1945

(D) 1st April 2020

How many Jews were killed in World War II:
(A) 4.5 million ~ (B) 5.7 million

(C) 8.6 million (D). 9 million

The Mughal era period is:
(A) 15296-1 757 (B) 1526-1857
(C) 1526-1861 (D) None of these

331 years

3

- seats are reserved for non-
Muslims in the National Assembly.

g ¥ (B) 20
(C) 30 (D) 40

Star in Pakistan flag represents: - |
(A) Knowledge (B) Wlf.sdt:rrlne i
(C) Courage (D) All of

Wazir Khan masjid is located at:
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Stared 1939
Ended 1945

331 years
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One Paper MCQs Type Written Test of 100 marks and 90 minutes duration comprising questions on General Knowledge, Pakistan Studies, Current Affairs, Islamic Studies (Ethics for Non-Muslim
Candidates), Geography, Basic Mathematics, English, Urdu, Every-day Science, & Basic Computer Studies.

Syllabus


Lahore B) Peshawar

0

Karachi D) Faisalabad
26. Which famous . Kashmiri leader died in
September 20217
(A) Burhan Wani
B) Yaseen Malik
C; Syed Ali Shah Gillani
‘ (D) None of these
27. Kalabagh dam is located in which province:
+— (A) Punjab (B) Sindh
On Indus (C) KP (D) Baluchistan
"V’ 28, The natlonal language of Pakistan is:
A) Urdu (B) English

29.
*30.
KK

32.

C) Punjabi (D) None of these
Who is the founder of Mughal Empire?

(A; Babar (B) Akbar

(C) Jahangir (D) Aurangzeb

-How many times. Mahmud of Ghazni attacked
on India: 2
(A) 13times (B) 15times .

(C) 17 times (D) None of these
Which is the national bird of Pakistan?

" (A) Parrot (B) Piegon

(C) Markhor (D) Chakur

The ‘deposits of copper, gold and silver have
been discovered at:

. (A) Aghari - (B) Dadhak
(C) Dakhni (D) Saindak

-

35,

‘Who signed-the Atlantic Charter in j\ugust
19417 - - - -

- (A) Frankiin Roosevelt and Winston Churchill |

(B) Winsten Churchill and Harry Truman
(C) Clement Attlee and Franklin D. Roosevelt
(D) Neviile Chamberlain and Harry Truman

. ‘The accufaéy of the floating point numbers

representable in two 16 bit words of a
-, computer is approximately: :

(A) 16 digits (B) 6 digits .

(C) 4 digits (D) 2digits

The city constructed on the bank of the river

Tigris is '

(A) Basra (B) Najaf

(C) Tehran . (D) Baghdad

.-Who was the first Malaysian Prime Minister

who worked for their freedom from British?
(A) Tunku Abdul Rahman

. (B) Mahatir Muhammad

(C) ‘Abdul Razzak Hussain

" (D) Najib Razzak

- 3T,
_(C) 8bits

" 38
+ Court Judges?

39.

-How many bits are in one byle?
(A) 4 bits (B) 6 bits ‘
(D) None of these

What is the age of Retirement of Supre
(A) 60 (B) 62 \\) }r
gc)) 65 (D) 66

EBDO and PODO were promulgated b
(A) Liagat Ali Khan (B) Ayub Khan

P

40
41
42

43

KPK
44

45

46

a7
48
49

50

51

52

53

54

—

. (A) Edit

 (A) Verb

. (C) Electronic In

(C) Yahya Khan (D) None of these

_ East India Company established in:
(A) 1500 " (B) 1550
(C) 1600 - (D) 1850

. Who was the first viceroy of India Lord Mountbatten
(A) Lord Canning (B) Lord Rippon
(C) Lord Curzon (D) Lord Hastings

_'Raja Dogra purchased Kashmir in which yez,.
(A)j 1840 (B) 1842
(C) 1844 (D) 1846 =
. INKS
isa G
68} Pass (B) Mountain’ \ herau
(C) Road (D) None of these

. Mahmud of Ghazni attacked India in which
century; ;
(A) 13"‘ Century iB) 117 Century
(C) 12" Century C) 13" Century |
_ Which ancient.city is considered as “Pear] of
Gandhara Civilization™: .
(A) Hasan Abdal . (B) Taxila
(C) Wah (D) Kamra

. Computer operator function is:
(A) Provides data for operating -
(B) Determines a sequence
(C) Perform defined tasks

. (D) All of these

."Which among following is not associated with
spelling dialogue box? '

-

(B) Ignore

(C) Ignore All (D) Change

. Which planét of the solar system cast out from
list.of planets? :

* ' (A) Mercury'. (B) Venus
(C) -Neptune (D) Pluto -

. "Which ‘'shortcut v is uséd for save the
document? .~ ™ . -
(A) Ctrl+A © 7 (B) Ctrl+S
- (C) Ctri+B (D) Ctri+l
. Which shortcut is used for copy the text?
(A) Ctr+sC - . (B) Tt%’iv ~
(C) QtrI+X - _ (D) Ctrl+u

. | am sure | have met your brother before.

Here before is: : .
(B) Adjective-
D) Noun-

L

(C) Adverb

. Whaltv:s ahlight pen?
(A) Mechanical Input Device
(B) Optical Input Device

. put Device
(D) Optical Qutput Devifce?
. What'is the meaning of the idiom “a turncoat";

A) Wet coat
C) Man of principle fg} ;oor Jan ——-

raitor
. The antonym of Climax is: ‘

(A) Apex - (B) W

(C) B_o!tom (D) Crown
. The antonym of Meagre is:

7.9

J
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On Indus River

Last
Lord Mountbatten

KPK

Links Peshawar with Kabul


56.

57.

58.

59.

60.

61.

62.

63.

85.

66.

(é) Poor

| (é)) Eg\.;lgtst (D) Large

.- d the missing term 16,24 54

Fil\r; 30 (B) 36

(C) 48 DS
:worked from 9am till 8pm. “Till" is which part
ffxfpiﬁfehc}we (B) Preposition

(C) Conjunction (D) Noun
Change Voice: Whom did the rich help.

(A) Whom the rich has helped.

hom the rich was helped.
(?;)) ylv\!hom the rich have helped.
(D) None of these

Voice: He is writing a book.
%afgook has been written by him.
(B) Abook is being written by him.
(C) Abook was being written by him.
(D) None of these

Change narration: He said, *| have a new car’.
(A) He said that he had a new car.

(B) He said that he has a new car.

(C) He said that | have a new car.

(D) None of these

Which of the following are not the sides of a

right angled triangles? *

(A) 9cm, 5cm, 7cm  (B) Scm, 15cm, 12cm

(C) 2cm, 1cm, V5cm (D) None of these

Solution 0

Verify the given sides using Pythagoras theorem

(9) = (5)* + (7"

81=25+49

81=74 ,which are not equal

Solve (V2 - 1/ Y2)*= .

- (B) 1/2

(D) 1/6

Solution

Vinvi-la 132 _,,_

( V2 ) "(\lz) = /‘

Solve *\64+3=

(A) 2

(C) 4

Solution

Waxax4 +3=4+3=7

—
e S
nw-

. 3.275is equal to:

(A) 39/35
(C) 210135
Solution

) 1000 200 40 " 40 -

Choose the correct meaning of the idiom:.'To
add fuel to the fire": ;

(A) Make the fire burn brightly
(B) Prevent fire from dying out
(C) Make things worse

1D) None of these

(B) 311/40
(D) None of these

Which of the following is not a.page view?’

67.
' (A) Habib Jalib

68.

69.

70.

7.

72.

73.

74,

75.

76.

(D) None of these -

(B) Zaheer Akmad Babar °

(A) Landscape (8) ‘A4
(C) A3 (D). None of these
Which Pakistani Poet Got "Lenin Prize"?

(B) Faiz Ahmad Faﬂ
(C) Ahmad Faraz (D) None of these

The antonym of ambiguous is: n 1962
(A) Clanty (B) Opaque f |
(C) Uncertain (D) Vague Lnelvsvzg
He_

_____his work before my father arrived.
(A) has finished (B) have finished
(C) had finished (D) was finished

The another word for pros and céns is:
(A) For and Against
(B) Bitter conflict

awarded
the Lotus
Prize for

\ Literature.

~(C) Diverging views

(D) None of these

Slow and steady the race. ‘ _
(A) win iB) wins . .
(C) won D) None-of these

Change narration: He said that | mig'ht
achieve my goals.

(A) He said “May you achieve your goals”.
(B) He said "May you achieve your goals”.

. (C) He said “Might you achieve your goals”.

(D) None of these

was the first to., develop the
binomial theorem. !

(A) Muhammad ibn Musa al-Khwarizmi
(B) Omar Khayyam* ~

(C) Al-Beruni '

(D) None of these .
Change narration: He said, “By God | am not
guilty”. L e '
(A) He said that by God he was not guilty.

(B) He said by God he was not guilty. * -

(C) He said that by God he had not guilty.

Who is the current Chief of Air Staff?

(A) Sohail Aman | '

(C) Mujahid Anwar Khan
(D).‘None of these

The sumi of ages of father and son is 50 °
years. If ten years ago the father age was 9
times the age of his son, then the present age

| . of father is:

(A) 35years *(B) 37 years
(C) 39 years _* (D) None of these
Solution ‘

. Sum of their ages = 50 years

10 years ago father age was gtimes son age thatis

10 years ago  father  son
, 9% .. X
Presentage 9x+10 X +10

Sum of ages =9x + 10+ x + 10=50
'\ 5 10x =50-20
10x=30 , x=3
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in 1962

In 1976 he was awarded the Lotus Prize for Literature.

since 19 March 2021


7.

78.

79.

80.
81.

82.

83.

85.

Present age of father = 9(3’) +10=227+10=37
Ageofson= 3+ 10 =13 years

What Is the LCM of 6™ and 7" term in
an=3n+2

iA; 360 (B) 460
C) 620 (D) 620
Solution

For 6" term, putn=6,wehave 3(6)+2=20
For 7" term, putn=7, we have  3(7)+2=23
LCM = 20x23 = 460 (because 20 and 23 have
no common divisor)

What Js the value of compound interest after n

years".
(A) A=P(1-r/n)*n+1  (B) A=P(1+r/n)*n
(C) A=P(1-r/n)*n (D) None of these
Solution '

This Is formula given

Robert Bunsen invented.:
(A) Bunsen Burner

(B) Bunsen Micrometer
(C) Bunsen Compass
(D) None of these

the‘a?t is the alternative computer jargon for
ug

(A) Leech (B) Squid

(C) Slug (D) Glitch

How many states are there in United States of

America?
(B) 45

(A) 40
(C) 50 (D) 55

A place where leather is tanned is called a:
(A) Tannery (B) Casino

(C) Brewery

Hazrat Ibrahim AS was born in:
(A) lran (B) Iraq
(C) Syria (D) Jordon

In which Prophet era Firawn was king:

(A) Hazrat Isa AS

(B) Hazrat Musa AS

(C) Hazrat Sulaiman AS

(D) None of these

In 1956 DNA polymerase was discovered

from the cell of:
(A) E.coli (B) Streptococcus

(C) Pseudomonadota (D) None of these

LJ/L JJle/lbﬁ4u;WLﬁlJ:uf.J .86

?JJJ i
Jh0rf (A)
O350 (C)

whs# (B)
St (D)

5 This is formula given

b ST sBE (@)

$'§_.__,_.ch__/,1(.](..:-.!/; 87

=t (B) =141 (A)
S D) = (C)

?Zéufiéi-ud)d:é'fnlnlg 88
Frpep B  FreP @)
u.?}(jfa.u:ul (D) =aAszs 4 (C)

JWJZJ¢Wétau£wwf’zJax 89

fe

Sr? (8 Julr (A)

St (D) J=? ()
T-;.L“/..‘:x.h"—k"’l:b/u,f ,lfr,f_-_,/’? .90

wW# (B) WF) A

St (D) =¥l (C)
YT ni b e 91

) S
et D) Je ()
S bl U 02
4 (B) I (A)
S et (D) $z51 (©)

S WP 93
LAV ST (A)
Fievtor 0 - wdier ()

f’{.b’u//":/lﬁrlf»t;lu‘:g}gzy .94 -

\

ij#l (B) i, (A)
S et (D) Joak (c)
r;r SEY I 95
I (B) e (a)
e diur (D) 2 (©)
. Pl YU st g6
KJ £ (B) LT
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w’@_g/,ﬁvdﬂf’ 98 U”W\('f (B) Bl -(A)
- oAE @ ot (a) Hedial O s (o)
Az (D) s (C) ‘ | |
_ o , Answer Key
{ B 14 B 27 A 40. C 5.°D 66 A ' 79. A @ A
2 A 15 C 28" A 41, 5. C 67. B 8. D 93 B
3. A 16 B 20 A 42 D 5 D 6 A 8 C 91 @
4 A 17B 3. C 43 A 5 B 6. C 8 A 95 A
5. C 18.C 31 D -4 B 5 B 70. A 8 B 9 A
66 C 190 C 32 D 4 B 5 B 7. B- 84 B - 97 A
77 B 2. D 3 A 46 D 5 B 72 A 8 A 98 B
6. B 2. B 34 B 4 A 6. A 73 B 8 A 99 ‘B
9. A 22 B 3% D - 48 D 6. A 74 A "8 B 100 o
0. C 238 A 3 A 49 B 62 B 75 B- 8 C
. C 24 D 3. C 5 A 63 D 7 B 8 A
22D 25, A 38 C -5..C 64 B 77 B 90 C
3. A 2. C 3 B 52 B 6 C 78 B o.p
4400000000
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Add No0.22/2022

One Paper MCQs Type Written Test of 100
marks and 90 minutes duration comprising
questions on General Knowledge, Pakistan
Studies, Current Affairs, Islamic Studies (Ethics
for Non-Muslim Candidates), Geography, Basic
Mathematics, English, Urdu, Every-day Science,
& Basic Computer Studies.

@er No.5 (2023))

ASSISTANT FOOD CONTROLLER (BS-15) FOOD DEPARTMENT
2023-09J-17J2022-30-04-2023 '-

1.

A photograph measunng 5 cm by 7 cm is
enlarged in the ratio of 7:5. What is the new
length and width of the picture?

(A) 7cmby9cm (B) 7.6 cmby 9.8cm
(C) 7cmby9.8cm (D) 7cmby8.8cm
Solution

Enlarged ratio = 7/5

New length=5x7/5=7cm

New width =7 x7/5=49/5=9.8cm
-Two numbers are respectively 20% and 50%

more than a third number. The ratio of the two
numbers is:

(A) 2:3 (B) 3:4
(C) 4:5 (D) 5:6
Solution
Let third number = x
First number = —— x =

' 100 35
Second number b1 x '—7—2-

X 3x _ .~

. 6x
tio of two numbers =— : —

3.

The size of a singlet tile is 2x2 feet then how
many tiles required to fill 17x12 floar:

(A) 47 (B) 51
(C) 59 (D) 63
Solution ’

“Area of tile=2x2 =4 .
~Area of floor = 17 x 12 = 204

Required tiles = 204/4 = 51 tiles
If x: y=7:3 then the value of xy+x* / x*y*=

(A) 172 (B) 213
(C) 3/4 (D) 1/5
Solution - -

'Putx 7andy 3

xy+x" /x"y'= 21449 / 49-9 =70/40 = 7/4
The prime numbers between 64 and 81 is:

(A) 2 B) 3
.y 203 -
Solution

rrime numbers between 64 and 81=67,71,73

79
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One Paper MCQs Type Written Test of 100 marks and 90 minutes duration comprising questions on General Knowledge, Pakistan Studies, Current Affairs, Islamic Studies (Ethics for Non-Muslim Candidates), Geography, Basic Mathematics, English, Urdu, Every-day Science, & Basic Computer Studies.
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fhe angles of a triangle are in ratio 2;7;11 

b ngles are. (A) To refused
T/'\‘)U' :’. 70°.00° To Proceed %g) P et
(' 20°. 70°,110° 17 e ) To fell something
(B) 20 (510 oe - Constitutional accorg® i
() 18°,63°.99 A) March 1972 (. agned on:

p) 23°, 54°,110° ) (C) October 1972 () August 1972

lution ; (D) December 1972
S0 18. The Emergence of Paki n it A
sum of angles ina triangle = 180 by: ———no O Fakistan” book is written
sum of mtlos; 20 (g) Muhammad Alj Bogra '
first angle = 55 X 180 = 18 gC)) /C\;‘ém:hfaTTad Ali

! a

second angle = 373 X180 = 63 (D) K. K. Aziz

_ te= ¥ 180 = 9 19. When the little bo ;
Third angle = 3 ¥ 160'= 99 tail broke offin > > hang "¢ 28

7. If one-third of one-fourth of a number is 15 (A) ihim (gr)\dflslhis

" ihen three-tenth of that number is: ' (C) Itone (D) thelhis
(A) 42 (B) 54 20. Bara Bagh Cemetery i .
© & (D) 98 A Punat V) s
Solution ) KPK (D) Balouchi
chistan
t x be required number th 21, ; '
Let X ;1 ) er then ) 1 i(tl.hoose correct correction: They say you did
3of3ofx=15=13=15 (A) You are advised to sit by them.
x=180 then 3/10x 180 = 3x18 =54 &3:)) ‘zou did it said by them,
8. mkl}i{g?eveyéarg is Ioca(tgt):l r\wjear: (D) Ngﬁ: Lef :ﬁgjsteo % oy them,
yderaba amshoro -
(C) Thatta (D) Larkana 22. Choose correct analogy: Condone; Offence:
o Select the danto ; _ (A) Overlook: Aberration o
R NSPARENT. nym of the given word. (B) Conviction: Criminal
' _ : (C) Error: Omission
J\&r” éég _I;_Itl]ri::sy. (g) Opaque - (D) Mitigate: Penitence
_ : ©) Dellcatg 23. Select the synonym of . the given word
10. gﬁ %:(t: Ethe synonym of the given word. (PXO)‘UGHTY \ , A
Y R Quiet (B) Proud
« (A) Repulse (B) Weary (C) Talkativ : J
)u\ (C) Lure (D) Disgust 24 Wr)men Was fhe K h(l?) ’.Humble ’ \
] , . ashm the
“uf (%O(\)l?/?s gf)gcreacrtn ?:Logy: Gu{e: Ingenious: :Jnited Nations Security I(golifxgﬁ bt; ngiat;’ the
e o ~ A) 1947 " (B) 1948 o
o Towos Yy VoA OB
(D) None of these l/J ) g 25. T:e Captain said to his men, "Stand at ease." ‘

12, Selsot 4ha” aifouim of . ' (A) The Captain urged his men to stand at
PULGHRIT weny e given word. ease, ~ i

Ve RITUDE: (B) The Captain com is r ‘
(A) Ugliness (B) Beauty stand at Fgzase TadR. iy fen's fo
C) Ele o ' &

; |(< ) g.ance. | (D) Allure (C) The Captain wanted his men to’stand at

- Kashgar is a city of which co ; ease. . : _
A : y untry: _
(c; gamgn Eg)) gqual (D) ltf;?] c(j):tpgn told his men that they should
p ri Lanka se.

14. My friend and benefactor died. . 26. Who is Author of the Book "The Making of
(é) was (B) were Pakistan"; t—
(C) has (D) have ‘ (FCYKWahfeed;uz-Zaman (B) Aitzaz Ahsan -

15. Change narration: He Said to me, "Will You 10) K feraatz (D) Ayesha Jalal
Accompany Me?" ‘ , ! \ -

(Q) He said me if | will accompany him, |

gc)) ne asked me if | would accompany him. 3 [ : i e
hi?n .asked me that | would accompany IAcf’tergafining power, ;’ulfikarAli Bhutto invited the ~

(D) He told me if I Id : ) ' eaders of the parliamentary parties to meet him on 17

18, ‘Solgict the ‘e baioh 'accompany him. October 1972, which resulted in an agreement known -
w19yl anckaggxﬁnate meaning of the Zisztis‘;c:‘nstitutlonalACcord', after an intensi\’le- :

——
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27,

28.

29,

30.

31. Bushra Rehman was:
, (A) Doctor (B) Novelist
~ (C) Scientist (D) Artist
32. The country with longest coastline in the world
is:
. (A) US (B) Russia
_ (C) Canada (D) China
33. MS Excel is used

- (D) toincrease the speed of computer
. The Rawalpindi Conspiracy was an attempted

35,
- is covered with forests?

36.

37.

" 38,

39.

(C) Bit

(D) Abdul Malik Balouch

(D) Mozambique strait

There is beautiful scenery along the roads. In
this sentence the preposition relates with:

(A) No_un_ (B) Adverb

(C) Adjective (D) None of these

All India Muslim League won how many seats
In the provincial elections of 1945-1946:

(A) 412 . (B) 421

(C) 428 \ (D) 457

The tMgest city of Pakistan according to
2017 (_ZenSUS s (Faisalabad)
(A) Sialkot (B) Lahore ~

(C) Rawalpindi (D) None of these

Which is the highest volcano in Asia?
(A) Mount Sinabung (B) Mount Damavand
(C) Mount Ararat (D) Mount Bromo

(A). to create web pages '
(B) to organize data
(C) to make presentation

coup d'état against the government of:
(A) Khawaja Nazim-ud-din

(B) Liagat Ali Khan

(C} Ch. Muhammad Ali

(D) Noor-ul-Amin

What percent part of the total area of Pakistan

(A) 3.7% (B) 4.9%
(C) 6.2% (D) 7%
First Chairman of the Senate was:
(A) Syeda Abida Hussain

(B) Tasleem Jalil |

(C) Habib Ullah Khan

Which of the following is the narrowest strait
of the world: -

(A) Strait of Malacca — ) (World Largest)
(B) Strait of Morocco
(C) Bosphorus strait

As____
myself.
(A) no oneleverything(B) someone! all
(C) no one/all (D) None of these

Fill in the blank with suitable word.

Barking dogs seldom
(A) Barks

is ready to help me I'have to do___ by

(B Bite

o Faisalabad

(D) Munch = . | 1 53.

Waterloo is located in:

40’ (A) Poland X (g) ﬁg@m
(C) Belgium (D) ltah safines
1\11/Which article of the po\nstlttutpn elines that
' ident is Head of the\State:
PAr‘eSIANicIe 41 (B) Article 47
(©) A 79 e S 7y marer
42. Where is the Taj Maha: éc;c%g(ri: Compieedin
(©) Dani (D) Hyderabad | piwrai
43. Which is the Oldest University of_Paklstgn. _
" (A) Punjab University (B) Zakariya Universit
(C) University of Agriculture{gstapiished in Lahore in 1882
(D) University of Jamshoro .=\
i i whole
44. Which shortcut is used to se
document: "
(A) Ctrl+A (B) Ctrl+B
(C) Ctri+T + (C) Ctrl+D |
45. Takht-e-Sulaiman is the highest peak of which
;Z?gmm (é) Salt range
(C) Koh-e-Sulaiman (D) Koh-e-Sufaid
46. Which technology is used in compact disk to
store data? ‘
(A) Electrical ~ (B) Mechanical
(C) Electromagnetic (D) LASER
47. WWW stands for:
(A) World Wlde Web invented b_y_Tim Bemers-_Lee with
(6] PHaaiord eh | e e
(C) World Whole Web and op
(D) World Wide Webpage '
48. All India Muslim League session in September
1906 held at:” . -
(A) Dhaka ¥ (B)) huckno;;v
(C) Kolkata (D. one of these
49. When was the Battle of Plassey fought?
(A) 1723 - ' (B) *17;19
(C) 1757 - .(D) 1773
50. The Founder of Jamat-e Islamiiis:
(A) Yasir Arafat , A _ -
(B) Maulana Muhammad llyas"~ “founded in c?lggllalllndla
(C) Abul Aala Maududi on 26 Augus
. (D) None of these
51. What is the- official residence of the
Prac t n _
|52 sy i
i } Fmn o
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(World Largest)
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Established in Lahore in 1882

On Jamna River
Commenced in 1632
Completed in 1648
Situated in Agra
in Uttar Pradesh
Built by Shah Jahan

invented by Tim Berners-Lee with Robert Cailliau at CERN in 1989 and opened to the public in 1991.

founded in colonial India on 26 August 1941


Founded in September 25, 1969
Member Countries=57
o) Alof these e '

Headquarter of OIC is Ioca@ed in:
) )Makkah (B) Madina

(/C\) Jeddah - (D) Riyadh

(trl"5 is used to add line spacing to how
5. many points:" '

The

(B) 1.25
Eé; 15 (D) 1.75
he Autosum feature:

56. A) Automatically adds range of cell values
! Extends a sequential series of data
((C) Applies @ boarder around the selected
cells
(D) None of these
jbel Prize is not awarded in which field:
o ('}'\c; Biochemistry - (B) Biology
- () Astronomy (D) Chemistry

58. Which neighbour country of Pakistan is

S

" jandlocked: = - :
(A) Iran v (B). China .
(C) India (D) Afghanistan

50. Rate of change of displacement is called:

(A) Speed (B) Acceleration

(C) Velocity (D) Retardation
60. Formic acid is obtained from: .

(A) Vinegar . (B) Orange

~(C) Ant (D) Fat

61. The International Monetary Fund (IMF) was
foundedon: - -
(A) 1944

Date of entry into .

(B) 1945 fogrzg: December 27
(C) 1946 . (D) 1948 y

62. Pakistan formally [eft SEATO in 1973,
because the'organization had failed to provide

, it with assistance in its ongoing conflict
against which country: ,
(A) China (B) India \
(C) Afghanistan (D) None of these

63. President of \Chjna confers highest Chinese
scientific award to which Pakistani Scientist:
~(A) Prof. Dr. Atta-ur-Rahman
. (B) Dr. Abdul Qadeer Khan
(C) Dr. Samar Mubarakmand
(D) None of these

64. Which test is used for
fFitness? . :
(A) Dyer test

(B) Macdonald test  ~

(C) Harvard step test _ '

(D) None of these " 2 '

65. I1SI ‘and FIA are secret agencies of which:

bardio‘resbiratory '

“country: a5
(A) Pakistan - (B) China -
(C) Iran (D) Afghanistan .

66"\1%2%78igned the, Atlantic Charter in August °

. (A) Franklin Roosevelt and Winston Churchill
(B) Winston Churchill and Harry Trumah |
ES (C) Clement Attlee and Franklin D. Roosevelt

67,

68.
69.
70.

71.

72.

73.
74,
75.

76.
77.

| *(C) India, Iran, China, Azerbaijan -
-(D) India, Iraq, Russia, Azerbaijan 't
78.

79, .
+ (A) Presiderit

80.

(C) Heart

Kyrgyztan Revolution also khown as:

"(D) Neville Chamberlain and Harry Truman

is warfare that is conducted
primarily through non-kinetic military action.
(A) Third-generation warfare
(B) Fourth-generation warfare
(C) Fifth-generation warfare
(D) Seventh-generation warfare

Scientists first identified coronavirug - in
animals in: _

(A) 1880s (B) 1920s

(C) 1960s (D) 1990s

Which country won maximum number of
Olympic titles? - _

(A) US - (B) Russia
{C) China (D) Japan

Automatic seaboat print one t-shirt in how
much time:

(A) 12 seconds -(B) 22 seconds

(C) 32 seconds (D) 42 seconds

Myopia disease is related to:
(A) Ear (B) Eyesight
(D) Brain

responsible for planning, -organizing
and delivering an appropriate range of sports
activities and programmes for individuals and
teams. )
(A) Sports Manager (B) " Sports Coach
(C) Sports Trainer' (D) None of these

Where is the faj Mahal located?

Total Medal=2980
‘Gold=1180
Silver=959

Bronze=84

On Jamna River

{liagrs (B) Lucknow /" Commenced n 1652
(C) Delhi (D) Hyderabad . Situated in Agra

in Uttar Pradesh
uilt by Shah Jahan

(A)- Orange revolution(B) Social revolution
(C) Tulip revéiution (D) Red revolution

Shakir Shuja‘Abadi ist

(A) Punjabipoet  (B) Saraiki poet
(C) Pashto poet (D) None of these

The .Bundestag is ihé" lower house of which

country pariament. .~
(A) Russia - (B) Germany

(C) New Zealand (D) Italy g

International North—Sbuth'\Transpon Corridor -
(INSTC) is between which countries:
(A) dndia,Iran, Russia, Afghanista oS

ndi | i y Established in
(B) India, Iran, Russia, Azerbaijan o ber 2000

is the oldest occupation in the world.

(A) Fishing . (B) Hunting . -
(C) Farming . (D) Allof these-
Who was Shoukat Aziz? Lo L Py

(B), Prime Minister - - " -
(C) Chief-Minister
(D) Chairman Senate

3%+7=250, Find t!te valy

ebfx:”
(A)1 . B 2

(B)
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Founded in September 25, 1969
Member Countries=57

On Jamna River
Commenced in 1632
Completed in 1648
Situated in Agra
in Uttar Pradesh
Built by Shah Jahan

Date of entry into force: December 27, 1945

Total  Medal=2980
     Gold=1180
      Silver=959
       Bronze=84

Established in September 2000


(C) 3
Solution

3"*%7=250.
= 3"9=250.7
= 3"9= 243
=3"=3°
=x+3=5

=D x=2

. 81 is a math concept that measure the
total length-around the outside of a shape.

(A) Angle (B) Perimeter

(C) Factor (D) Probability

82. One liter is equivalent to approximately 33.8
ounces. Mark has plastic cups that can each
hold 12 ounces of liquid. At most, how many
of these plastic cups could a two liter.bottle of
soda fill?

(B) 6

(A) 5
(D) 8

(C) 7
?gjﬂfthBV’Ju|f(/:J .83

(D) 4

Fe B) GueFneo )
Ferr 0) e ()

?%tigliffq&‘;f(q/ijbj .84’

A2 B)  Gaehies A

Feo (D) e ()
WURAATE LG uo S = 2 g5
ﬁ,éﬁwé” (B) ‘
H et o)

eHL L (A)
&,LJE (C)

SedTkur s Sibeinsse 86

Sy (B) oy (A)

o dEVevu o e (g
edv /vy F ekl b be » g7

AU (B) AU (A

251 (D) el (C)
e ?Qccﬁf&ubﬁw 88
Uj5 (B)
FHevo o |
(e {Erd ol 8o

g (A)

_wime ©)

gk ex (B) Bz (a)
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U s (C)
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(Paper No.6 (2023)) ~ “emmmmamen
55-16) (12/02/2023)
SSISTANT (BS- i
CODE—:t‘l(l;\irectorate of Florlcul_ture), |"tzl‘:ft';ﬁ?j :;gg:]erce,
Agriculturs . partl;::/elopme"t Depanment’ Dlrt’:‘cm';a:;ionerIDistrict Colslurner
lnvestment&Skll_'S Board of Revenué (Deputy Commlrt ent Housing UrbeCth
Protection Counc"'s,ocial Welfare & Bait-Ul-Maal Depa that,er ousing Urtar,
office Jhelum), blic Health Engineering Department, | e arfne fon
De"empmenFt& :rab;d Human Rights & Minorlgeslal )Af_fa'rs epartment (Punjgj,
cy, FDA, Falsaisre ‘Implementation Cé ‘
g Treaty T 22.62G2022-55E2022-16A2022

19G2022-32M2022-44J20
accepted Din-i-llahi’

Who among t

he following
éA) Todermal Tansen

(B r

C) Birbal ' ED;‘Man .Slngh._v

2. Who stood against Akbar Deen—;—llahl.
" (A) Shal

h Wali Ullg.h
Sheikh Sirhind
ECB:) Sir Syed Ahmad Khan

Dg Aurangzeb . .
In which city of Pakistan 2nd Islamic Summit

¢ 8
held:

(/3\(;n1'§;erggﬁiwas B) Islamabad (in 1974
§C) Lahore §D) Peshawar —

4. ' Badshahi. mosqué is in Lahore. built by -

“in < - o

A Jahangir (B) Akbar .
écg Shah Jahan (D) Aurangzeb

5. Sound travels fastestin:
(A) Solid B) Liquid
(C) Gas (D) None of these

6. Which of the following is not one of

PowerPoint's views? .
A) Outline view §B) Slide Sorter
£C§ Slide Show view (D) Normal -

7. Where is the British Library situated: -
(A) Paris (B) London
_(C) Washington (D) New York -

- 8% Which of the following is not a vector q'uantityf

(A) Displacement - (B) Velocity
(C) Speed . (D) Acceleration
9. The Nobel Prize has been awarded in_

13

14

15

1

(=]

17

18

19

Headquarter of International  Labgy,

. The "
Organization (ILO) is In: . ——
(A) NeW York (B) Geneva P:Lailstlasni)dir:gdlilé))in 1947
(C) Paris (D) Hague

est font size available in drop

. What is the-larg
down menu of MS Word:
A) 68 @ 70 Cg/’fl—
§C) 72 D) 78 in Powerpoint is 96
. Alia parted ___her parents in tears. , -
(A) from . B) of : \ )7
(C) with (D) by \’f
“ What is the sum of the first 5 composite
numbers:
A) 25 éB) 3. -
C) 37 (D) 43 |
. How many towns in Pakistan at the time of -
Independence more than 100000 population:
(A) 08 B) 09
(C) 10 (D) 11

. Eiffel tower is located in which country:

(A). Germany .-(B) France
(C) ltaly ‘ éD) us
. ‘She is used to _ *the hardships of life.
_ gA) face ~ (B) faced
C) togetfaced = (D) to have faced

20

21

. The process of removing unwanted part of an
image is called:

(A) Hiding (B) Cutting
(C) Cropping (D) Bordering
. Dear friend | need your help. Fill in the -

__ blank with suitable punctuation.

fields. : Physics = TN
(A)-5 (B) 6 (F“;Eemistry N gA) Comma (B) Semi Colon
(©) (D) 8. Doy erifiedens) (C) Exclamation’ (D; None cf these
10. FAO stands for: - - Reace 22. Her parents went to Karachi__.__ train.
(A) to. ~ (B) by
(C) at (D) of

, (A} Food and Agriculture Organizatio

october 16, 10a5) (B) Financial and Agriculture Organization

HQ: Rome, taly | (C) - Food and Assurance Organization
(D) Noneofthese o '

1. What s the meaning of Apprehension:
ié) Depth - . (B) Elongation
C) Security (D) Arrest- -

The largest artificial lake i is: T
@ Ba?l_(al lake . m(tgf vK/?éfdlféke o
( ) Kgnba lake - (D) Superior lake

ol

y3/12

5!

J

Largest Water Lake in the World by surface area and water=Caspian Se
Largest Lake in Pakistan=Manchar

Largest Fresh Water Lake in the World by Area=Lake Superior (Canada)

24

" 23, Islamic calendar starting is relating

A) Birth of Holy Prophet PBUH

B; Treaty of Hudabia o
C) Hij[at Madina (D) Fattah Makkcah

|

. | helped him. Here lis:
A)- Verb 58) Object
C) Subject (D) Adjective

i
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in 1974

Physics
Chemistry
Physiology or Medicine
Literature
Peace
Economics

October 16, 1945
HQ: Rome, Italy

Largest Fresh Water Lake in the World by Area=Lake Superior (Canada)
Largest Water Lake in the World by surface area and water=Caspian Sea
Largest Lake in Pakistan=Manchar


Established in 1919
Pakistan joined ILO in 1947

Largest Default Font Size in Powerpoint is 96
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who wrote “The' Loyal. Muhammadans - of

|ndia§ir Muhammad Zafar Ullah Khan

i@g Rehmat Al | |
-u -

(6} &i'Syed Anmad Knan

hich of the following is correctly punctuated?
. 's anyone's guess.
24 A ]r-Rgtlisbrar{: lost all |t§ books.
; That car is not your's.
(D)' That car is not their’s.

27' - \ )
uests. , .

st said their host thank you.

?’gg H}S gt:gst told to their host thank you.

he guest said to their host thank you.
igg ]I;Iong of these

: arch study is an eye-opener and.
28. Za:rr{S:Se to acquaint us with the problems of:

ations. _
fK)O rar;tempted to acquaint
(B) attempts at acquainting
C) attempt at acquaint
SD; attempting to acquaint

29. Who among the following is the founder of
" Microsoft: ' \
W B) Bill Gates

Charles Babbage
- 28 Elon Musk ED) None of these

hange voice please pick it up.
N 3\) Please let it be picked up.
B; You are requested to pick it up.

C
31. E)ur brain demands the most: - =
(A) Glucose (B) Lactose
(C) Proteins -~ - (D) Vitamins
32. Which is the largest lake in Europe:

(A) Onega lake (B) Garda lake
(C) Ladoga lake (D) Como lake

3. The sunlight can reach a depth
of - ' meters in the ocean.
(A) 100 m (B) 200 m -
(C) 300m .. (D) 400 m

34. Central National Muhammadan Association

was a political organization founded by Syed

Ameer Ali in: L ,
(A) 1875 - (B) 1876
(C) 1877 (D) 1878

3. My friend and | are going to party. Here | is:
(A) Subjective case (B) Genitive case
N _Ob]ectpve case (D) None of these
3. Which of the fo
country to launch Mars probe:
Qatar. (B) UAE
3 (C).Saudi Arabia (D) lran
7. | ‘
olympic torch rela lit
(A) 8airang P,unig

by: -
B i Osaka
() Yang Gian ( ) Naomi Osaka

38, 24 ! + (D) None of these
g thlgggé}!" Bhutto SFarjec\l‘ his po]iticél career i‘n’ ‘
A Ayub Khan 2%) ‘Yahya Khan

(C) Iskandar Mirza ) Ghulam

change narration: They are thanked their

Let me picked it up. (D). None of these

llowing become first Arab

Tokyo olympics 2020 final ‘torc_hbeare‘r' of the

39,

40.

41.

4.
43,
44

- 45,
. 46.
47.

48,

49,

50.

§1.._-  _ of the constitution of Pakistan

Muhammag ,
US Presid iden )
. eri‘rtrUJS(,),e Biden s also served
(Ag.gentakgon Chief
eaker of Congress -
C) lece President ; (D)

Joe Biden
. 46th President
| Assumed Charged

Chief Judge

on January 20, 2021
Change narration: idto ;
2 Ia%e?" r |oh He said tg me, "Why are
(A) He asked me why | was late. "
g He {e.algi to mehwry I was late,
€ lold me why | were |ate. -
,(Dg None of thesey e,
Six days Arab-Israel war won by:
) Jordan (B) Syria
(C) Egypt (D) lsrael . v
Term and tenure of. Senate membership is
years. -~ — :
§A 3 years (B) 4 vyears
dyears . - Gyears )
How many 'stages of COVID-19 discovered
until now: i ‘
(A) 3 - (B) 4
(C) 5 ., (D) 6.
. Ahmad. Shah Abdali

) ‘ launched his early -
Invasions against: ‘ B

EA) Mughals. EB) Sikhs
C) Marhattas C) British

Blood is thicker than - L
‘Air (Eg Water
(_3) Gas - (D) None of these
_ Which is the longest river of Pakistan: =~
- (A) Chenab . - (B) Jhelum -
(C) Indus - (D) Sutlej

Who is known as Father of Geometry:'

(A) Euclid (B) Pythagoras
(C) Ruthérford _* (D) None of these

A Ladder 15 m Long Just Reaches the Top of
a Vertical Wall. If the Ladder Makes an Angle
of 60° with the Wall, Then the length of the

Wall is:
(A) 15Y3m  (B) 15V2m
(C) 152 m (D) 15¥7m |
Lal Suhanra National Park established in:
" (A) 1968 (B) 1972 - @
(C) 1976 (D) 1991

The amount of oxygen required to store YOUI' A

body ‘to its normal resting level of metabolic
function is called: o '

(A) EPOC |

~(B) Deficit oxygen
" (C) Lactate Threshold

/

D) None of these

ensures equality before the law and equal

protection of the law and states that there

shall’ be no discrimination on the basis of

. - gender alone. .
. (A) ‘Article 22 B) Article 23
- (C) Article 24 D) ‘Article 25

52.

For what value of x+1/4Vx +a° will be perfect
square;
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Joe Biden
46th President 
Assumed  Charged on January 20, 2021

in Bahawalpur


L

in 1979

' 59. Bangladesh separated from Pakistan in:

(A)- Syria (B) Bahrain
L (C) Italy 7 (D) Qatar-
66. Bahadur Shah Zafar buried in:

A) +1/18 (B) +1/8
fc; 1/5 (D) 174 |
53. Which is introduced by Zia ul haq.d Ordinance

Army Act (B) Hudoo
gég Polige Act (D) None of these

54. Horticulture is the study of: ‘
imals (B) Insects
Eé; égnts&Fruits-' (D) Nong ofthese.
55. Heis ill fever. T .
ith .(B) b
(A) wit ) o¥ -

(C) to | e
ss were based on:
> ('-/lsg'ei!htm(ﬁ‘r?; tproce (B) Material exchang€
(C) BothA&B - (D) None of these
. Working with Zia book written by:
o7 A) Aygsha Jalal (B) Stanley Wolpgrl
§C) K. M. Arif (D) Ishtiag Ahma

58. The term 'double fault' is associated with:

A) Baseball (B) Golf
((C§ Tennis (D) Bridge

A) 1969 . B) 1970

fc; 1971 () 1972
60. Which of the following branch of biology is

related with the study of the bacteria:

A) Immunology (B) Microbiology

éC) Entomology (D) Genetics

61. Don't judge book byits__~ - .
(A) Page - - (B) Size .
(C) Cover - (D) Paper .
62. The average height of five pupils is 68 inches.
If one 70 inches and other three are 76

- inches, then what is the height (in.inches) of

the fifth pupil? - - :
(A) 36 - . (B) 38
(C) 40 (D) 42

63. Which is the largest coral reef in the world:

(A) Mesoamerican reef . . L
(B) Florida Keys reef Situated in Australia \
(C) Great Barrier reef :
(D) None of these . e

64. In the context of Pakistan political and
judiciary history what does PCO stands for:.
(A) Provisional Constitutional Ordinance
(B) Provisional Constitutional Order
(C) Provisional Court Order
(D) None ofthese - :

65. The Fifth Fleet of USA is located in-

(A) Delhi

(B) Cambridge
(©) Rangoon (B) Cambridge

(D) Hyderabad ¢

67 Strait. of Malacca is the main shipping channe|

between Indian
located between:
(A) Indonesia & Malaysia

South Korea & North | |
England & France h Koreé :

and‘ Pacific Oceans. It is

. 80.

‘ter-governmental . milit
Meénr:esog member states 28| E’Lyr
83 north American was éormed Undgrp
(A) NATO &B ) (D) N ashin tOn "lq
(C) Both A ) None of thegtay
 first General election hejq ol

'Stan._

all;

68. An
q
San 2%

(B) 195 "
D) 1979

A gc) 1968 - : ,
tronaut Wang Yaping is

70. Chinese 2S

for: .
walk in space

(S; }8 walk in moon o

(C) First Chinese women pilot

(D; None of these L

71. Jahangir khan was associateq w

e: ’ ,

O Gricket /(B) Squash
(C) Hockey -(D) Badmintyy,

72. Which school attacked in Afghanistan iy

1: ~ R
2 Wirwais Nika High School,
(B; Sayed Al-Shuhada School

Faizal E. Kandahari High Schoo|. .

‘ %8; ‘Safia Ama Jan Girls High Schog|.

. .Physical part of computer is calleq: ‘-
7 (A)y Hardware - (B) Software

th 'Which

3y

(C) CPU * . - (D) None of thege
4. The range of Shaheen-Ill missile is
: (A) 2250 km (B)- 2550 km

(C) 2750 km (D) 2950 km
75. Cursoris a oL "t

(A) Cursor (B) Think blinking“ne

(C) Pointing device. (D) None of thesa

76. Sun Yat-sen was father of nation of:
(A) Japan (B) China -
'(C) Malaysia (D) None of these
77. A sum of money at simple interest amounts,
Rs. 815 in 3 years and to Rs. 854 in 4 years

" The sum is: ;
- (A) Rs. 650 (B) Rs. 690
(C) Rs. 698 (D) Rs. 700

78. If two times A is equal to three times of Ba
also equal to four times of C, then A: B : (i
(A). 2:3:4 - (B) 3:4:2
(C) 4:6:3 (D) 6:4:3

| 78. Who was the President of US & USSR in 2

Incident of cuban missile crisis of 1962:
(A) John F Kennedy & Nikita Khrushchev
- (B) Henry Truman & Stalin
(C) -Richard Nixon & Mikhail Gorbachev
None of these - -

If G'oh_arj salary 25% "ess than Bét;af _salafY
- then how many per::ent Babar salary gre2®'
Egé)ln%ohar? T |
' S - (B) 10bs3

(C) 95/3 \ (D) Noneefthese‘

Temple Tree js én offici o
2 Tr icial ce 0
8‘3\) Prime Minister of Qat; -
(Cg Ergme Minister of ‘Maldives
nme Minister of .Malaysia

81.

(D) None of these

o (D) Prime Minister of Sri lanka—
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42, Jan Sher Khan got Hilal-e-Imtiaz In which

oar
1009 8) 1063
{?3 1097 ) 2002

03, Rozn became obligatory In which Hijrl;

W

vernge value of A and B Is 50000, that of B
04, f‘\”d (;{ ls 60000 and average of A and C |g
65000, Find the value of B:

Y(\:g 88888 fgg ﬁl?)(r)\%oof these

"GUMJJVU’"Q«/"’ 85
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e 2 (D)
Vg o f 2 e g7

S =ty (D) Zwf (©C)
Wb s dey e
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B o e
P IKEU M 8o
e ()
=2 (C)

I

L pdle 2 (C)

Kete @)
W et (D)

=A% (B)

o . | ‘ JM (A)
Ffe Uty ) G (C)
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o ?ujgfy’u:m!fPunctuation 91

Q:i,l, (B)’ S (A)
VAT SA©
?ujéfgu::ul:(i.éﬁ‘/.f{j .92

te Ui ok 90

Answer 'Key

1. . B 19, A* 25" D A B . B
2 g ,,?-, ?: 33 C 200 C 2 B 32 C'. 38 C 44 C
3 ¢ 9. B 15, A 21 A 27, C  33. B 39 C 45 B
4 D 10. A 16.,C. 22 B 28 B 3 C 40 A 46 C
5 A 11. D 17 A 23 C 20 B 35 A  41: D 47 A
6 o 15 ¢ 18. B 24 C 3 D 36 B 42 D ¢
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g | /¥
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48.
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77. -
70. A
¢ n B 15
B 72. B 80.
c 73 A g
C 75 C 82.
5 76, B 83.

.0;000000’
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84.
85.
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©
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General Syllabus

OD>O>m

91.
92.
93.
94.
95.
96.
97.

O>D>O>

%,
1o, &

One paper of MCQ type General Ability Written Test of

100 Marks of 90 minutes duration comprising
questions relating to General Knowledge including
Pakistan Studies, Current Affairs, Islamic studies

(Ethics for Non-Muslim candidates), Geography,
Basic Mathematics, English, Urdu, Everyday Science

and Basic Computer Studies

4
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100 Marks of 90 minutes duration comprising
questions relating to General Knowledge including
Pakistan Studies, Current Affairs, Islamic studies
(Ethics for Non-Muslim candidates), Geography,
Basic Mathematics, English, Urdu, Everyday Science
and Basic Computer Studies

General Syllabus


Tolerate or endure something

Sentence: .
I am too tired to put up with
any nonsense.

N

e

10.

Assistant BS-16, Aariculture (Directo
Pesticides Winq Assistant BS-16,Aar

Assistant BS-16 Agriculture (Plannina Evaluation

Paper No.7 (2023)
CODE-53 ASSISTANT (BS-16) -2023 12-03-2023

| PEST warnina & Quality Contrg, o
?23:5,‘:,"?&0"3:0:1) & Adaptive Research w;

Add No0.1/2023+2/2023

n
Cell Assistant BS-1 G'Aq"CUIturg

A
Research Wing Assistant BS-16.Aariculture Water Manaagement Wina Assistant Bs.

16.Housing Urban Development & Public Health Enaineerina (Office of the

Chigf

Enaineer North Puniab Assistant BS-16.Housina Urbag gngg?aﬂn’?g'gj‘sps':gé Health
Engineering (Office of the Chief Engineer South Punja -

To put up with means:

(A) To understand (B) To adjust

(C) To tolerate (D) To accommodate
Which country first accepted Pakistan:

(A) China (B) Iran

(C) Iraq (D) Saudi Arabia

3:"“9 the lecture, the teacher stood
iS.

(©) o the o o
0 (D) of
The synonym of Pait s

1S
(A) Admirable ’

v
>

(B) Insignificant

(C) Valuable (D) Irreplaceable
Seled _ ‘ the same
reiationship. Wisdom: Sagacity
(A) Denigrate: Devalue \

N9/
(C) Search: Quest \5)\ .
(D) Highway: Junction
Mayor”.
(A) Him was elected Mayor the people.
(C) Mayor is elected by the people.
(D) He is elected by the people Mayor.

the pair which has
(B) Primary: Secondary
Passive Voice of “The people elected him
(B) He was elected Mayor by the people.
Anjuman Himayat-e-Islam was founded in:

(A) 17989 (B) 1822

(C) 1884 (D) 1900

Which year was Dr Abdus Salam awarded
Nobel Prize:

(A) 1869 (B) 19786

(C) 1479 (D) 1989
The old woman lived alone, with to
look after

(A) Someone / her
(C) Everyone / she (D) No one 1 her

An  international agreement  concluded
between States'in written form and governed
by international law, whether embodied in a
single instrument or in two or more related
instruments and whatever its panticular

(B) Anyone / herself

" - designation is;

(A) Hague Convention on the Law of Treaties
(B) Vienna Convention on the Law of

1) [

12.

13.

14,

15.

16.

17.

18.

19.

20.

21.

Treaties A

(C) Geneva Convention on the Law of
Treaties

(D) None of these _ _

Baba Farid belongs to which s'uf|' order:

(A) Suharwardia (B) Chistia

(C) Nagsbandi (D) Qadria

Stoke is to Cook then:
(A) Sun: Heat
(C) Planet: Galaxy

Cat is to Kitten then:

(B) Moon: Star
(D) None of these

(A) Duck: Cat (B) Cow: Calf
(C) Bear: Deer (D) None of these
Select the pair which has the same

relationship. After: Before

(A) First: Second (B) Present: Past
(C) Contemporary: Historic

(D) Successor: Predecessor

He __ the bank when police caught him.
(A) stealing (B) was stealing
(C) stole (D) had stole

Who is trying to defend you. Here who is:
(A) Demonstrative pronoun

(B) Intensive pronoun

(C) Interrogative pronoun

(D) Possessive pronoun

Selept the pair which has

relatno_nship. Umbrella: Rain

(A) nght; Sight (B) Glare: Stare
Vaccine: Disease (D) Wear: Wool -

The Famous Book “The Daughter of the East*
IS written by '

(A) G Allana (B) k. K Aziz

(C) Benazir Bhutto (D) Ayesha Jalal

The antonym of Egregious is:
(A) Ordinary (B) Enchain
(C) Acquit (D) Consummate

The idiom *“To bury the hatchetl® mean:
(A) To make peace ™———

(B) To make a foolish choice

(C) To make a wrong decision

(D) To lose somaething

Which Province of Pakistan is called
Islam?

the same

A

Bab-y).
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Tolerate or endure something
Sentence:
I am too tired to put up with any nonsense.

in Physics
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p ® Sindh
(A P”?(] (D) Balouchistan
© KP First Muslim Hijab woman elected
2. Name 1 ¥ lsrael Parliament in March 2020
A sMe

e|ectlon55

Haneen Zoabi  (B) Iman Khatib-Yasin
(A) ha

Hussniya Jabara (D) Nadia Hilou
(C) Courts are established in Pakistan
2. Mimﬂ% 21st for the period of:
L 2gyears (B) 3years
(é; 4 years (D) 5 years
. Bundar is located in: .
2. If)ﬂ gﬂ:jab (B) Sindh _
fC) KPK (D) Balouchistan

Malala Yousafzai graduated frofn which

* universily: (B) Oxford

Stanford
gé; Cambridge (D) None of these

¢. When Muslim League joined the interim
. government:

45 (B) 1946
%8 1847 (D) None of these
The meaning of Take up is:
# (A) Lose —(B) Start
(C) Give up (D) Cease

28. The largest cluster of population is in:
" (A) South Asia (B) Southeast Asia
(C) Europe * (D) None of these

29. Which river flows in Balouchistan?

(A) Zhob River (B) Gomal River
(C) Dasht River . (D) All of these

30. Dyarchy system “firstly used in subcontinent
b . M——\

(A) British Government
(B) Indian Government
(C) Pakistan Government
(D) None of these

31. Cyclone is basically:
(A) Violently rotating column of air _
Large system of winds
"(C) Permanently frozen layer
D) None of these

32. Which term is wrong in this series: 140 340
940730 940 1140 -
(A) 54 |

(B) 730 \
(C) 940 (D) 1140
Solution '
340-140 = 200
540-340=200

730-540= 190 which is wrong, wrong term is 720
B 1P, = 360 and 1 °C, = 15, find r-

(A) 3 (B) 4
C) 5 (D) 6
Solution

M=4x3x2x1

l=4) 3r=4

34,

35,

36.

a7.

38.

39.

40.

41.

42,

43,

44,

A man walked for 1/3 hour and then got an

automobile ride for 1/2 hour. What part of tire
consumed he ride on automobile:
(A) 0

. (B) 0.5

(C) 0.6 (D) 0.7
Solution

Total time of his Journey . !;'% :’ =

m we can cut from a
n of 10cm » 12em =«

How many cubes of 1 c
cuboid of the dimensio

15¢cm:;
(A) 180 (B) 1800
(C) 160 (D) 1600
Solution
10x12x15 1809
No of CUbCS-—Tu—l—— = -"]—- = 1800
How many organs are required to form z
state?
(A) 1 (B) 2
(C) 3 (D) 4
What is currency of Sri Lanka?
(A) Dollar (B) Takka
(C) Rupee (D) Lira
Muslim League Started the Day of
Deliverance in:
(A) 1937 (B) 1939
(C) 1946 (D) 1947
Yellow river is located in:
(A) China (B) us
(C) Austria (D) South Africa
Jammu Kashmir Liberation Front wants to get
independence from: . ,
(A) India

(B) Pakistan

(C) Both India & Pakistan
(D) None of these
Conflict over the border region claimed by two
countries for area: i

(A) Wadi Halfa Salient -
(B) Nagorno-Karabakh
C) Bajo Nuevo Bank
(D) None of these

What are cyclones in Australia known as?
(A) Hurricane (B) Typhoon

(C) WiIIy’—WiIlies (D) Tornado
When balochi tribe join Pakistan:

(A) 10 June 1947 (B) 17 June 1947
(C) 29 June 1947 (D) None of these

A fraction becomes 4/5 when 1 is added to
each. of the numerator and denominator.

However, if we subtract 5 from each then it
becomes 1/2. The fraction is

(A) 5/8 (B) 5%
(C) 719 (C) 131186
Solution

Let the fraction =’—x’- then by given condition
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45,

46.

47.

48.

49.

y-5 2
Use options instead to solve equations put option
C7/9 inwhich x=7 ang y =9 then
X+1 _
Y+1 57941 10 5 5§
Similarly

x-S 1_7-5 2 1.1
Y-5"2 9-5 422
How many two digit numbers are there which
are divisible by 11: -
() 9 (D) 11
Solution

The two-digit numbers which are divisible by 11
are 11, 22, 33, 44, 55, 66, 77, 88, 99. Hence, there
are9 two-digit number which are divisible by 11

AX+2y=5 3x-6y=20 In the system  of
€quations above, a s a constant. if the system

as one solution, which of the following
?Znnot be the value of 37

) (B) 4
(C) 1 (D) -3
Solution
Condition for sy
is -
Al/Az= 81/82
given Al=a, A2 =3 :

stem of equation to have solution

Bl=2 ,B2=-6

Put all values we have
a 2 6 - 4
i

If the price -of carpet 8-meter-long and 3-
meter-wide is Rs.6288, what will
of 12-meter-lon

(A) Rs. 16654
(C) Rs. 21345
Solution

Area of the first carpet = 8m x 3m = 24 sqm
Area of the second carpet = 12mx 6m=72sq
cost of carpet of 24 sq m = 6288

9 and 6-meter-wide carpet:
(B) Rs. 18864
(D) Rs. 12768

-cost of 72 sq km = 72 x 525 _ 18864

24

Which crop requires high temperature, light

rainfall or irrigation, 210 frost free days and
bright sunshine for its growth? N

(A) Jute (B) Wheat

(C) Cotton (D) Rice Sy
Which - of the following is correct’ emai
address: - _

(A) username@.com

N

- (B) username@website.info

- 50.-

" (C) username@.pk

(D) None of these

What is the full form of SQL:
(A) Structured Query Language

be the price

51.

52,

53.

54,

55:

- 56,
. (COAS

57.- Study of tissues is called: '

58.

- 59,
" (A) Upper case

. 60.

61.

CENTO stands for: - — ==

' (C) 2003 . . o
‘Which part of the Camera is analogue to the

Structured Query List
Eg)) Simple Query Language
(D) None of these

Which of the following replaced the Vacy,,
s? _

Ext))eBattery (B) Capacitor

(C) Transistor (D) None of thegg

Which toolbar has a slide design ¢
PowerPoint?

(A) Drawing toolbar

(B) Standard toolbar

(C) Formatting toolbar

ption Mg

(D) None of these

The Blue Lagoon is located in:
(A) Greenland (B) Iceland
(C) Florida (D) None of thesg

Soviet'leader Mikhail Gorbachev's

glasnost and perestroika resulted in;

(A) the sudden introduction of capitalism ang
democracy to the Soviet Union.

(B) A new willingness to tolerate significant
changes in Soviet society,

(C) The strengthening of the Sov
domination of Eastern Europe,

(D) The Soviet Union's withdrawal from’ the -
nuclear arms race.

Which- women scientist research led to the
foundation of fiber optics?

(A) Dr. Shirley Jackson -

(B) Maria Mitchell

(C) Rosalind Elsie Franklin

(D) None of these

General Qajar Jived Baia, Chief of Army Staff
endorsed. - punishment to

_ on the charges of leakage of
sensitive information. '

(A) Brigadier Salem Nawaz
(B) Brigadier Raja Rizwan
(C) Major Aslam Igbal -

(D) None of these

policies of

iet Union's

(A) Histology

(B) Cytology
(C) Anatomy

- (D) None of these

. 1955
(A). Central Treaty Organization O

) Command Treaty Organization

(C) Central Territory Organization

(D) None of these

Which of the following cannot change fontg?
(B) Lower case
(C) Togglecase (D) Indentcase .

"came in foreign policy of Pakistan
A U-Turn came in foreign policy o istar
after world launched war against terrorism jp.

1
(A) 2000 Egg ggg :

~ 'retina in the human eye?


Highlight

Highlight

Highlight

Highlight

Highlight

Highlight

Highlight

Highlight

Highlight

Highlight

Highlight

Highlight

Highlight

Highlight

Highlight

Highlight

Highlight

Highlight

1955


(B) Film

Lens (D) Shutter
(A) = erture
(€) : pzuch as Netball, |Hcckey and Football
sports =t oh type of skill: . .
62 invo%e :: ':km;’p (B) Fine Skl:l(ﬁl
(é)) Close skills (D) Gross skills
(

world War Il which battle support was most
3. In 7 |
neect nt (B) Air Support
|ear SUppO
(é) ::Sael support (D) None of these

ipherals are connected to the
64. A)'\fc%rg%mer s 1B) Motherboard

Ec) Keyboard (D) None of these

nuclei model given in:
g {A“;01935 (B) 1940
(C) 1945 (D) 1950

g6. On which agreement Muslim League,

Congress and Sikh fully agreed with Lord
Mountbatten:

(A) Government of India Act 1935
() Indian Independence Act 1947
(C) Objective agreement of 1948
(D) None of these .

67. Longest Ayat of Quran is
Al-Bagarah. . ‘
(A) Ayat No 282 (B) Ayat No 284
(C) Ayat No 286 (D) None of these

68. What was the title of Allama Igbal's PhHD

Thesis? ‘

(A) The Development of Metaphysics in
Persia

(B) Reconstruction_of Religious Thought in
Islam '

(C) Concept of Social Justice in Islam
(D) None of these

69. Red sea is connected to which gulf through
Bab-el-Mandeb strait- :

(A) Gulf of Oman  (B) Gulf of Mexico
(C) Gulf of Aden (D). Gulf of Alaska
70. Who abrogated 1956 Constitution?
(A) Tikka Khan (B) Ayub Khan
(D) Iskandar Mirza

(C) Yahya Khan
7. Which cricket world cup jointly host by
(B) 1987 .

Pakistan and India:
983
(D) 2011

(A) 1
ted between

of Surah

-(C) 2003

-T2 The Gulf of Bothnia is situa
(A) Finland & Denmark
(B) Finland & Sweden
_(C) Norway & Sweden.
(D) None of these.
73. The Cyber
launched on:
(A) December 1% 2014
(B) December 1% 2015
(C) December 1* 2016
(D) December 1% 2017

Harassment Helpline was

\

74.

75.

78.

77.

78.

79.

80.

81,
82,
83,

| 84.

85.

Soft power is: -
(A) Weakening hegemonic influence '
(B) .Collaboration among several emerging
powers
(C) Getting others to agree with you without
. using coercive force
(D) The influence of financial institutions

President of Pakistan is elected by:
(A) National Assembly

(B) Senate

(C) Provincial Assemblies

(D) All of these

Normal blood pressure measured in millimeter
of mercury is: :

(A) 120/100 mmHg (B) 120/80 mmHg

(C) 1001100 mmHg (D) 120/50 mmHg

The main Role in the Drama "Waris" js acted
by:

(A) Abid Ali (B) Talat Siddiqui

(C) Mehboob Alam (D) None of these
The boiling point of water depends upon the: .
(A) Atmospheric pressure

(B) Mass

(C) Density

(D) Volume

Animals which are no longer present on earth
are called:

(A) Wildlife animals

(B) Habitat

(C) Extinct animals .

(D) Endangered animal

The Jallianwala Bagh massacre is also known
as:

(A)  Delhi massacre

(B) Ludhiana massacre

(C) Amritsar massacre

(D) None of these

Battle in  which Holy Prophet (PBUH)
participated is known as:

A) .Sayee (B) Sarriya

(C) Ghazwa (D) None of these

How many masarif of Zakat mentioned in the
-Holy Quran;

(A) 6 B) 7 @
(C) 8 (D) 9 —

What does Taraweeh means: '
(A) To stand . (B) To sit
(C) Torest (D)1 To pray .

Which two surahs are called Mauzatain?

" (A) Surah Al Baqarah and Surah Imran

(B)" Surah Falak and Surah Naas
(C) Surah Ahzab and Surah Feel
(D) None of these . :

The Time taken for sunlight to reach the Earth
is:. Fccehan Y

(A) 8 minutes- y

(B) 8 minutes 20 seconds
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86.

= A5

CONDOA LN

K=t (D)

(C) 8 minutes 30 seconds
(D) 9 minutes

Satpara Lake is in:
(A) Swat

(B) Gilgit-Baltistan
(C) Haripur

(D) None of these

. Stlnger missile were given to Pakistan in

which war:
(A) 1971 war
(C) Afghan War

’L«LI&.@ e

(B) 1965 war
(D) None of these
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Paper No.8 (2023)

v/ Qualification related questions (80%)

stions related to (20%) .
\/(ggﬁeral Knowledge, Pakistan St.udles,
Current Affairs, Geography, Basic
Mathematics, English, Urdu, Everyday
Science and Basic Computer S’[udIES)

STRICT TRAINER (BS-16) LITERACY & NON FORMAL BASIC
P EDUCATION, DEPARTMENT2023.36B2023 12-03-2023
Add No0.31/2022

Humanistic approach to psychology was
* founded by:

(A) Wundt and James

B) Rogers and Ma_slow

) Watson and Skinner

(D) Freud and Jung

The real name of Gama Pehiwan was:
Z (A) Ghulam Mohammad Baksh Butt

() Mehr Din Shams

(C) Kazim Khawar Hayat

(D) None of these

3. Child is no'more egocentric in whi
~ piaget cognitive development:

(A) Sensorimotor Stage

(B) Preoperational Stage

(C) Formal Operational Stage

(D) Concrete Operational Stage

4. Which teaching methods is used for science
subjects ;
(A) Demonstration  (B) NPT
(D) None of these

(C) Observation
5. focus was on the scientific- study
that could be

ch stage of

of observable behavior
objectively measured and verified.
(A) Psychoanalysis's

(B) Structuralism’s

C) Functionalism's

(D) Behaviorism's

6. "A Child can think l
évents" This is th
Piaget of stage:

Concrete Operational
(B) Sensory Motor
(C) Formal Operation
Pre Operational

€ characteristic given by

I. \éVft\ich type of chart is best for categorical
ata:
(A) Pie chart (B) Histogram
Maps (D) Vertical bar
8. Which of ‘the following is used to create web
Pages: ' '
(A) HTTP (B) HTML
(C) URL - (D) FTP
9. ‘

What is the other name of Null Hypothesis?
Directional hypothesis
Scientific hypotheses
Research hypothesis
) Statistical hypothesis

10., Assessment at the end of instruction is called:
Formative (B) Summative

ogically about objects and

i) A

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

(C) Norm-referenced (D) Confirmative

'Economics is the science of wealth' was
defined by '

(A) Adam smith
(C) J.K Mehta

Education as an o
included in matric an

(B) Robbins
(D) None of these

ptional subject for was '
d inter in which education

policy:

(A) 1970 (B) 1972
(C) 1974 (D) 1976
Which of the following is output device:
(A) Mouse (B) Keyboard
(C) Printer

(D) None of these
Who is called pioneer of Idealism:

(A) Aristotle (B) Plato

(C) Socrates (D) Alexandar

What is the chemical formula of sugar: -
(A) CH,COOH (B) CgH4204

(C) C13H,,044 (D) None of these
The graph used to show data on nominal
scale is called:

(A) Line graph
(C) Speed graph (D) None of these -
Vice principal is working in place of pri'ncipal it
is called: »

(A) Job seek _

(B) Job replacement
(C) Job research
(D) None of these

Statistical techniques used to con;pare mean
of more than two groups is: '

(A) Analysis of Variance
(B) Linear correlation and
(C) F-test for precision
(D) None of these :
Specific objectives are concerned with:

(A) Planning (B) Lesson

©) Management (D) None of these
approach to counseling also known as
Individual Psychology: = .

(A) Psychogn’alysis theory

(B) Adlerian theory

(C) Behavioral theory

(D) Humanistic theory

(B) Pie graph

regression

According to Human ‘Development Index
literacy rate of.Pakistan in 2019 was: y
(A) 56% (B) 57%
(C) 58% (D) 59%

Assessment where comparison of student
performance with other student is made with:
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Qualification related questions (80%)

Questions related to (20%)
General Knowledge, Pakistan Studies,
Current Affairs, Geography, Basic Mathematics, English, Urdu, Everyday Science and Basic Computer Studies


(A) Criterion-referenced assessments (D) Curriculum il@l@L/)
ch:‘; g_orm Referenced Testing K 35. Khilafat movement was ended by: red in 1919
e o e T urents (A) Quaid-e-Azam ' Ended in 1924

(D) None of these :
(B) Gandhi .
23. Assessmeqt conducted . during learning (C) Maulana Muhammad Ali Johar
?A!)Jc%sus to |r:1_prove student performance is: . (D) None of these
Ummative (B) Formative : liefs, norms and values are beg
o :(C) Diagnostic . (D) None of these %, gﬁ'&’gg 'in?m ' S t
- Rnowledge acquired through culture, skills A) Observation (B) Survey
(a:)d téaditiotn ils fall in which p%\ilosophy:' 203 Management (D) None of these
ssentialism (B) Totalitarian iences of the children for whom
2 cpistemology (D) None of these 3. hoal assumes responsibilty is -
5. What is the function of the F4 key in a (A) Curricular activities
SPreadsheet? b e "(B) Co-curricular activities
(£) Change font AR (C) School program
ég; gﬁpeat the last action - (D) Curriculum
oose open command » ias to whi untry:
(D) Open bookmark 38. (NAe)slgrrIan:i?ndela belong(;g)to r\x’ahnl;glfaountry'
26. Teacher is feeling difficulty in class in bringing |,  (C) South America (D) South Africa

e wil Leobiects and he wants to overcome i 30. Education imparted in a series of lessons or

?:)will use: e
Models (B) Research class meetings is callea: )
(C) BothA&B A) Course (B) Curriculum

27. An outline of the topic f j '
covered in Speciﬁc.tirﬁe isoc;:?:di:‘r?gte:m P e 4D. Copying  arwark”faks under Whish lsaming

gé; (S:zltljarts)gs , &?,3 ,?,;‘},’g‘ gfthese ?X)mac‘:'génitive domain (B) Affective domain
28. :lavgﬂg)m;s? the easiest step in bloom's &S; zgﬁzhgfrrt]ﬁte()s'.édomaln
(C) Apphineins  (B)Remermbering A Remambane - (BB
29. “Schools should be run on democritic lines” is i HO'T‘e work ([.)) T 01.‘ gea
?:)Id gg;construcﬁonism : 42. '!';lngs in apo,st.rpphe I?\ used ‘WIth noun to
(B) Progressivism (A) Collective (B) Concrete
(C) Idealism - (C) Possessive (D) Attributive
- (D) Essentialism 43. HTTP stands for: :
30. EI;)ye‘mbocrac‘:y and education is a book written | gg‘g :;gzg:’;: ¥?::;?érp£?ggsc%?r
(C) Hypertext Transport Protocol

(Aj Maria Montessori (B) John Dewy
(C) Mahatma Gandhi (D) None of these () None'of these :
31. Which sociologist argued that school is a | 44. The'process of using sample statistics to draw

miniature and reflection of society rather than conclusions about t i
kit St y S rue population parameters
(A) Emile Durkheim (B) John Dewey > (A) Descriptive statistics
(C) Talcott parsons (D) Karl Marz (B) Statistical inference
32. The standard time duration of a micro (C) Scientific method
teaching cycle is: A \C) ;Sarpling
(A) 12 minutes (B) 24 minutes - 45. Students are passive in;
(C) 36 minutes - (D) 60 minutes |~ (A) Project method (B) Discovery method
33. Think-Pair-Share and Jigsaw are examples of: : (C)_ Inqury methqd (D) Lecture method
(A) Cooperative learning ’ 46. A summary -measure -that is computed to

(B) Management ideas describe a characteristic frg ;
(C) Circle learning of the population is calleg: m only-a sample

(D) Collaborative leaming ¢ R - (B)" Scientifie miathod
. (C) Census (D) Parameter 0

34. Making value judgment about curriculum is: Pt el
A) Curriculum design , : _ Y" of learning was o 3
((B)) Curriculum evaluation - : ' (é) ?k:nner - (B) Igavl?)ig!ven by:
(C) Curriculum development (C) Tolman - .. -~ '(p) Piajet

Nelson Mandela: Born in 1918, died on Dec 5, 2013, He received Noble peace prize in 199
He received Nishan e Pakistan in 1992, Remained in Prison for 27 years,

His Book "A long walk to freedom" published in 1994, He was released from Prison in 1990,

"Higher than Hope" is a biography of Nelson Madela written by Fatima Meer
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Started in 1919
Ended in 1924

Nelson Mandela:           Born in 1918,               died on Dec 5, 2013,            He received Noble peace prize in 1993 
He received Nishan  e Pakistan in 1992,            Remained in Prison for 27 years,                            
His Book "A long  walk to freedom" published in 1994,  He was released from Prison in 1990, 
"Higher than Hope" is a biography of Nelson Madela written by Fatima Meer
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. nahi was promoted by:
" (f}{’)’"gfgér (B) Hamayoun
C

B angir (D) Akbar
io is a collection of:
4. Poﬁfggct’; (B) Investments
(é; Problems (D) Theories

who composed the National - Anthem ' of
50. istan?
P:)k',sA lama Igbal {B) Hafeez Jalandhari
%C) Ahmed G. Chagla{D) None of these

Goodness deals with aspect of
" philosophy- '

PA) Ethics (B) Axiology

(C) Epistemology (D) None of these

52. The reasoning from General to Particular is
" called: .
c:) Inductive reasoning
(B) Deductive reasoning
(C) Analogical reasoning
(D) Creative reasoning

53 Evaluation is the process of:
" (A) Determined the extent of achievement of
objectives

(B) Ascertaining the quality, the value of
outcomes

(C) Comparing the outcomes of instructions
(D) All of these

§4. Cosmology is a study of:
(A) Religion (B) Universe
(C) Skin (D) Stars

55. A set of instructions that directs a computer's
hardware to perform a task is called a:
(A) Command (B) Program
(C) Operating system (D) None of these
5. The Socratic method is known as:
(A) Discussion method .
(B) Lecture Demonstration Method
(C) Inquiry method
(D) Question-Answer method

51. Effective lesson plan is useful for:
(A) Social sciences
(B) Physical sciences
(C) Economics
(D) None of these

38. Enables lectures to understand science using
scientific method is termed as:
(A) Naturalism (B) Curiosity
(C) Observation (D) None of these

59, Which Act for the first time made it possible.

for Indians to take some share in the
administration of their country:

(A) Indian Council Act 1861

(B) Indian Council Act 1909

(C) Government of India Act 1935

(D) None of these

60. Theory developed deductively under which
research paradigm:

(A) Positivism (B) Descriptive

(C) Predictive (D) None of these

61. Intelligence is a possession of an individual
who have the right to exercise it said by:
(A) Stedman Graham(B) John Dewey
(C) Ralph Nader (D) None of these

62. Selection of people for research purposes is
called: '
(A) Sampling
(B) Applied research

(C) Exploratory Research
(D) None of these

63.. The most repeated number in data set is
called:

(A) Mean (B) Median
(C) Mode (D) None of these
64. A test is said to be _if it measures

futqre professional interests or skills of an
individual.

(A) quluati_on test (B) General test
(C) Aptitude test (D) None of these

65. Employees are lazy according to which

theory:

(A) Theory X (B) TheoryY

(C) Theory Z (D) None of these
66. MB stands for:

(A) Milibyte (B) Megabyte

(C) Microbyte (D) None of these
67. COVID-19 variant start from which city of

china:
(A) Beijing (B) Shanghai
- (C) Wuhan (D) Tianjin

68. Type of learning in which association of
stimulus rarely illustrates a particular response-
with another stimulus that illustrates a
response; )

(A) Classical conditioning
(B) Operant conditioning

(C) Non-Operant conditioning
(D) None of these

69. The college employees other than faculty
assisting the activities of institutions is called:
(A) Staff (B) Upper class
(C) Lower class (D) None of these

70. Lesson starts from:
(A) Previous knowledge
(B) Forwarding knowledge
(C) Current knowledge
(D) None of these .

71. "To start curriculum one should make sure that
curriculum should be: . :
(A) Relevant with subjective
B) Relevant with objective
(C) lrrelevant with objective
D) None of these

72. To determine objective of education which
one is considered as basic so‘urce.I
(A) Philosophy (B) Psychofc:gy{‘se
(C) BothA&B (D) None of thest
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73. The leave granted -shall not be
debited to the leave account. _
(A) Freedom (B) Quarantine
" . (C) Access (D) None of these

74. Research conducted in which type of method:
(A) Observational  (B) Experimental
(C) Analytical (D) None of these

- 75. If xxy=x 2 +y? =xy then the value of 9x11 is:

(A) 93 (B) 103
(C) 113 (D) 121
Solution

Putx =9 and y = 11 in RHS we have
- 9x11 =9x9 +11x11 -9x11

=81+121-91
= 202-91 = 103 k// 7
76. The antonym of feral is:
(A) Wild (B) Raw
(C) Tame (D) Ignorant

77. The use of traditional classroom strategies
and online learning techniques together is
called as:

(A) Auditive learning (B) Blended learning
(C) Visual learning (D) None of these

78. Last Caliph of the Ottoman Dynasty was:
(A) Abdul Majid (B) Abdul Hameed
(C) ‘Abdul Nasir (D) None of these

79. While writing a textbook the writer should be
aware of the:
(A) Learner (B) Content
(C) Society (D) All of these

80. Well is which part of speech:
(A) Conjunction (B) Interjection
(C) Noun (D) None of these

81. The educational institutions, libraries,
hospitals, and industries store the concerned
information by: '

(A) Operating system
(B) Data management
(C) Informing system
(D) Word processing

82. The term spiral curriculum was given by:
(A) Jerome Burner (B) William James
(C) Ivan Paviov (D) None of these

83. An oil burner in a housing development burns
76 gallons of fuel oil per hour. At 9am on a
very cold day, the superintendent asks the
housing manager to put in an emergency
order for more fuel oil. At that time, he report
that he has on hand 266 gallons. At noon, he
again comes to the manager, notifying him
that no oil has been delivered. The Maximum
amount of time that he can continue to furnish
heat without receiving more oil is .

(A) 1 hour (B) %2 hour
(C) 2 hour (D) 2/3 hour
Solution

Oil burner uses fuel per hour = 76 gallons

84.

85.

86.

87.

88.

80,

90.

91.

93.

94,

9.00 am
He had total 266 gallons at »
Time he can consume fuel = 266/76 = 3.5 hoyrg

At noon (12pm) he had fuel left for = % hours = 30
minutes :

| ' “the students aft
A test taken again from st oF
little time gives the same result is .

Valid (B) Invaliq
fé; Reliable (D) Unreliable
My father didn't like the music __
(As; nor am | (B) norlam
(C) as me (D) None of these
The source of knowledge for Islamje
education foundation based on: :
(A) Quran (B) *Sunnah
(C) Figah (D) All of these

Which of the following Jis the nature of

iculum?
kel (B) Creative

A) Critical
fc; Conservative (D) All of these

A study of conducted to cc_)llect data from
different groups of a population at the same
time: .

(A) Ecological studies

(B) Clinical trials

(C) Cross sectional study

(D) Sampling Strategies

Which is the best practice control internal ang
external threat to validity?

(A) Sequence (B) Analysis

(C) Randomization (D) None of these

Epistemology is the branch of philosophy
concerned with the theory of: -
(A) Education (B) Learning
(C) Knowledge (D) None of these

To test the ability of individual about his own
emotions and other personality to judge or
take decisions:

(A) Spiritual Intelligence -

(B) Emotional Intelligence

(C) Social Intelligence

(D) None of these
92.

Every system of education is based on:
(A) Ideology of nation

(B) Social development

(C) Intellectual development

(D) Skill development

According to Dewey child js:

(A) Rote Learning

(B) Active builder of knowledge

(C) Authoritarian teaching methods
(D) None of these o

In a process, quantity or condition s .
COntroFl) alters to initiate change in the Vaalltjethoef
the regulated condition is:

(A) Dependent variable :

(B) Independent variable

(C) Controlled variable

- (D) None of these
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« 8‘

. "‘m:ho‘;‘;ﬁisfh:f the supenvision of (B) Cephalocaudie pnnciple
‘e‘:c?\lggancement of phpd welfare (C) Pnnciple of independence of systems
tg).'prépgr utihzation of SChobl facilities (D) Proximodistal pnnciple i

. (C) Carmying-out of the curricylym Nl S E AT A 99

(D) Achievement of success ——FreJim =
curriculum is supposed to: A (B -, — (A)
A) Be organized by the schog) 3% 7 &
g) Achieve the objective LA et (D) . #+ (C)
- (C) BothA&B .
~ (D)-None of these 95_¢-,',E:¢},L°_L_;.C9311.100
“ 5chool is microsystem of: T LTI
" (A) Society (B) Education “1Lx%0 (B) A
- (©) \Ggudgnce None of these AT (D) gl ()
The principle that development first start from
~ head towards other parts of body is:
(A) Principle of hierarchical integration
Answer Ke
B. 14 B 27. A 40. C 53. y D 66. B 79. D 192, A
AR S 8 B 4. B s 0B 67 C 8 B 95 B
D 1% B 20 B 4 ¢ 55 B 68 A 8 B o1 B
AbM B30 B 43 B s b 69 A 82 A 95 A
D T8A 31 B 4 B 57 A 70 A 85 B . % o
A 19 B 32 C 45 D 88 A T B  84-o 97. A
D 20. B 3B. A 4 A 59 A 72 A 85.- C .98 B
B 2. C 3 B 4 D s A 73 B 8 b . 99. A
D 2 B 3% B 4 D 6. 8B 74 B 8 D 100 8
B 23. B 36. B 49. B 62. A 75. B 88. C .
A 24, A 37. D 50. C 63. C 76. C 89. C
B 25. B 38. D 51. B 64. C 77. B 80. C
C 8. C 3 A 52 8B .6 A 78 A o B
$000000000 '
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Add No0.25/2022
Case N0.44H2022

(Syllabus)

One paper MCQ type General
Ability Written Test of 100 marks
and 90 minutes duration
comprising Questions relating to
General Knowledge including
Pakistan Studies, Current Affairs,
Islamic Studies (Ethics for
Non-Muslim candidates),
Geography, Basic Mathematics,
English, Urdu, Everyday Science
and Computer Studies.

Q No.11 detail

Switzerland,Principality of Lechtenstein,
Austria, Germany, France and Netherlands

Q No.12 (Detail)

Year- Winner- Runner up
2023- Lahore Qalandars Multan Sultans
2022- Lahore Qalandars Multan Sultans
2021- Multan Sultans Peshawar Zalmi
2020- Karachi Kings Lahore Qalandars
2019- Quetta Gladiators Peshawar Zalmi

2018- Islamabad United Peshawar Zalmi
2017- Peshawar Zalmi Quetta Gladiators
2016- Islamabad United Quetta Gladiators

W

@aper No.9 (2023)

ASSISTANT ADMINISTRATIVE OFFICER (BS-16) INFORMATION

& CULTURE DEPARTMENT (PUNJAB COUNCIL OF THE
2023-44H2022-29-_04-2023

. One side of a rectangle is 12 cm long and its

diagonal measures 20 cm. Find the other side

and the area of the rectangle.

(A) 152 cm? (B) 172 cm?

(C) 192 cm? (D) 202 cm?

Solution

Two sides and one diagonal joins to make a right

angle triangle. And we can use Pythagoras

theorem to find other sides, which.is

(Hyp)” = (perp)? + (base)?

(201 = (12)2 + %2

400 = 144 + ¥

400-144 = xz . oot :
C26=x 5x=167=x=16 i

gf1x§4/o.144=14.4/x then what will be the value

\

ARTS)

(A) 0.144

(B) 144
(C) 144 (D) 0.144
Solution
144 14.4 10000 144 10000
0.1444 ¢ 144 ~10x
1444~ x 1444  10x 1444
©_ 1100000 "1
T 10x - 1448 x %
= L oou
= Too00p _ 01444

Jane is playing a board game in_which she
must collect as many cards as possible. On
her first turn, she -loses” 18 “percent of her
cards. On the second turn, she increases her
card count by 36 percent. If her final card after
these two turns is n, which of the following
‘re?pres'ents her starting card count in terms of
n% 5,

(A) n/(1.18) (0.64) (B) (1.18)0(.64)n

‘
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            Q No.12   (Detail)

Year-       Winner-                   Runner up


Switzerland,Principality of Lechtenstein, Austria, Germany, France and Netherlands

2023-         Lahore Qalandars

Multan Sultans

2022-         Lahore Qalandars

Multan Sultans

2021-         Multan Sultans

Peshawar Zalmi

2020-         Karachi Kings

Lahore Qalandars

2019-         Quetta Gladiators

Peshawar Zalmi

2018-         Islamabad United

Peshawar Zalmi

2017-         Peshawar Zalmi

Quetta Gladiators

2016-         Islamabad United

Quetta Gladiators

Q No.11 detail
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One paper MCQ type General Ability Written Test of 100 marks and 90 minutes duration comprising Questions relating to General Knowledge including Pakistan Studies, Current Affairs, Islamic Studies (Ethics for Non-Muslim candidates), Geography, Basic Mathematics, English, Urdu, Everyday Science and Computer Studies.

Highlight


7.

(C) n/(1.36) (0.82) (D) (0.82)0(1.36)n

Solution
Let staiting card = x )
Remaining card after losing 18% = x — 0.18x =

0.82x

After second turn she got 36% increase = 100 +
36/100=1.36

Total cards = 0.82 + (1.36)(0.82x)

After these two turns final cards are =n , then
n

£ (1.36)(0.82)

4. Ifa+b=-2 then (a+b)’ =
(A) -6 (B) -8
(C) -10 (D) -12
Solution
Given (a+b) = -2
Taking cube on both sides, we have (a+b)’= (-2)°
(a+b)*=-8 ‘

5. Kriya deposits an amount of RS. 65800 to
obtain a simple interest at the rate of 14% per
annum for 4 years. What total amount will
Kriya get at the end of 4 years:

(A) Rs. 102648 (B) Rs. 115246

(C) Rs. 125578 (D) Rs. 110324
Solution

S.I=PxR/100xT )
-S.1=65800 x14/100x 4 = 658 x 14 X4 =Rs. 36848
Final deposit = 65800 + 36848 = Rs. 102648

6. What will be the simple interest on Rs. 4000 at

12.5% per annum for the period from 4th
February, 2005 to 18th April, 20052

(A) Rs. 215 (B) Rs. 120

(C) Rs. 200 (D) Rs. 100

Solution .

Time = (24+31+18) days = 73/365 years = 1/5
years

S.I=p x R/100 xT
5.1=4000x 12.5/100x 1/5 = 40 x 12.5 x 1/5
S1=40x125/10x1/5=4x125% 1/5

4x25= Rsr 100

Find the missing number: 6,7 21 33, 48
(A) 12 (B) 14

C)s (D) 20

Solution '

Series patternis =6+ 9 + 12 +15
Se6+6=12 s missing term
He is different the people around him.
(A) from (B) to

(C) of (D) with

Which movement change Africa and Middie

.East regimes?

(A) Revolutionary league
(B) Arab league

(C) African peace league
(D) None of these

N
CSino—_?kistan Agreemﬂ)

10. Pakistan China border agreement was sigf\Ed

"}\: 1947 (B) 1953
'(c) 1963 (D) 1967
1. I(-io)w many countries does the RHine River

2 :
pf)ss4through. B G
fC) 6 (D)7 -
12. The Pakistan Super League 2019 won by:
' A) Peshawar Zalmi
(B) Muitan Sultans
(C) Quetta Gladiators
" (D) Islamabad United

13. Which of the following nutrients has the
~ highest calorific ;/alue?(B) -
(A) Garbohydrate (D) Proteins

(C) Vitamins o
14. When did Taiwan separate from China?
" (A) 1947 (811949
(C) 1963 (D) 19

hour, Jason can install at least. 6

s \Inr;inggsvs but no more than 8 windows. Which
of the following could be a possible amount of
time, in hours, that Jason takes to install 10g

windows in a home:

15 (B) 16
fc; 17 (D) 18 A
Solution ‘

lowest window install = 100/6 = 16.6 :

maximum window install =100/8 = 12.5

required answer should be greater than 12.5 but
less than 16.5 '

which is possibily 16 hours.

Or ' :

~ To conceptualize the problem, it helps to do a
proportion to figure out the numbers the answer
could be between: | ‘
8 windows/1 hour = 100 windows/x hours

Solving for this gets You 12.5 hours (so the fastest
that she can install 100 windows is 12.5-hours).
You do the same for the upper bound of hours:

6 windows/1 hour = 109 windows/x hours

This gets you 16 2/3 hours (so the slowest that she

- 12.5 hours </= x hours </=162/3 hours
16. Wheh China join World Trade Or ahiZation'
- (A) 1995 (B Aegy o
(C) 1999 (D) 2001

17. Where is located the TR S
Copacabana Beach in South us tggg’st place

(A) Argentina - (B) Colombi
(C) Brazil. . _ fugrl?:;a
18 Sykes-Picot. Agreement (also 'cl;alled Minor

Agreement) was signed ;
A e e T (8?1916"‘
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Sino-Pakistan Agreement


l\/aradem beach is located in which country:

19 Cuba (B) Nicaragua
é; panama (D) None of these
Golden Jubilee of the Indian National
0 Dngress (1885-1935) fell in 1935, which wee
pserved during the session held at A
%) Karachi (B) Delhi ~——
(C) Lucknow (D) Not anywhere
is time we out.
o ?Al) go (B) went
(C) gone (D) None of these
edied_______corona.
n z\) from (B) of
(C) to (D) None of these
3, Arab League was established in:
B 1941 (B) 1945
(C) 1949 (D) 1965
. When Pakistan left CENTO:
(A) 1971 (B) 1974
(C) 1979 (D) None of these
25. US adds and in list of Child

Soldiers Prevention Act in 2021,
(A) Armenia & Chile

(B) Pakistan & Turkiye

(C) Estonia & Djibouti(D) None of these:

26. The average heartbeat per minute in a normal
man is:
(A) 50-60 times (B) 70-80 times
(C) 80-90 times (D) None of these
21. Max Weber was famous:
(A) German sociologist
(B) German biologist
(C) German artist
(D) None of these

28. Kargil war ended through which agreement:
(A) Delhi Agreement Started May 3, 1999
(B) Washington Agreement Ended July 26, 1999
(C) Simla Agreement (D) None of these

29. The antonym of Stagnam

(A) Static (B) Progress—-) LJ/J./
(C) Stale ©) Fithy A4 b

3. Gangkhar Puensum, the highest- unclimbed
mountain in the world, is located in:

(A) India (B) China
(C) Nepal (D) Bhutan
. Package of enzymes bounded by a

membrane called a:

(A) Ribosomes (B) Golgi apparatus
(C) Endoplasmic reticulum

D) Cytoplasm
2. Siam Paragon is a shopping mall in;
(A) Phuket (B) Bangkok
(C) ChiangMai . (D) None of these

% The tang lying between the river Ravi and
fiver Chenab is called: '

Bari Doab

34.

35.

36.

37.

38.

39,
40,
.
42,
43,
44,
45,

46,

48.

49,

- (C) Indus
47,

(B) Chaj Doab
(C) Rachna Doab
(D) Sindh Sagar Doab

: . v
The antonym of facilitate is: | \ 7 '\"/]f)
(A) Ease (B) Impede \3) \

(C) Promote (D) Enable

Anna Molka Ahmad famous for:

(A) Painting (B) Literature

(C) Scientist (D) None of these |

When did Quaid-e-Azam join All India Muslim

league:

(A) 1911 (B) 1912

(C) 1913 (D) 1914

Shandur Polo Festival to be held in which
month:

(A) April (B) May

(C) June (D) July

Balochistan Became Province in:

(A) 1947 (B) 1956

(C) 1970 (D) 1974

When did Martin Cooper invented the phone?
(A) 1971 (B) 1973

(C) 1975 (D) 1977

What is the synonym of Veracity?

(A) Authenticity (B) Fiction
(C) Mendacity (D) None of these
Who was the first viceroy of India:

(A) Lord Canning (B) Lord Rippon
(C) Lord Curzon (D) Lord Hastings

Synonym of Reverie is:

(A) Daydream (B)'Adoratip
(C) Meeting (D) Awakening call
Which of the following is combustible?

(A) Hydrogen (B) Nitrogen

(C) Oxygen (D) Carbon dioxide
The share of Industries in GDP of Pakistan
after partition:

(A) 8% (B) 12%

(C) 14% (C) 18%

Most crucial step in natural growth in nutrient
cycle is: '

(A) Nutrient cycle (B) Water cycle

(C) Nitrogen cycle (D) None of these

The largest river in the world is:

(A) Amazon . (B) Nile :
(D) None of these

| know all the people sitting in the hall.

Find complete object in a given sentence:.
(A) 1 know all the pecple in the hall.

(B) All the people sitting in the hall.

(C) I know the people in hall;

b J\f

(D) None of these

COVID-19 cause by:
(A) Bacteria (B) Germs
(C) Virus (D) None of these

Change voice: Jack may solve this problem.
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Started May 3, 1999
Ended   July 26, 1999


(A) This problem might be solved by jack.
(B) This problem may be solved by jack.
(C) This problem has solved by jack.

(D) None of these :

None of the boys . preéent.
(A) was

. (B) were ‘.
(C) has . ' ' (D) have

Change narration: Salma sa
you give me your pen?" :
'(A) Salma'asked me if | gave her my pen,

B) Salma asked me if | can give me’ yotlr

50.

51.

id to. me, “Can

" pen. | . ‘
(C). Salma asked me if | could give her ny

, pen. . :
* (D) Salma asked me can | give her'my pen
52. The Indus Waters Treaty water-distribution

by the: ,
(A) World Bank , ;

(B) International Monetary Fund .

'(C) North Atlantic Treaty Organization »
(D) International Bank for Reconstruction and
. Development R

53, Choose the correct analogf/:

. _Sig:Gulp . -
# el (A) Soup: Water ~ (B) Tent: Hut -
. (C): Touch: Push -

(D) Cup: Glass

3

54. The Rafi Peer. Theatre'Worksﬁop (RPTW) |
' founqed by . two"

named after
brothers.

(A) Rafi Peer ~(B) Usman Peer
(C) Faizan Peer (D). None of these

55. The meaning of [diom At stake is; *
* (A) Verylow (B) In danger
(C) Atthe top (D) Appropriate .

56. One who travels from place to place is called; °
\g (A) Journeyman ~(B) Tramp o
2~ &—(C) ltinerant (D) Mendicanit

J} » . 57. Which kind of system of government wa-s-'_

- introduced inv1962 Constitution? -
. (A) Bicameral (B) Presidential .- .
- (C) Parliamentary (D) None of these * .-
8. Najam Hussain Syed is famous for: °
- .- (A) .Doctor . (B), Critic
~. . (C) Psychology (D) None of these -
59.. Radcliff awarded which
support in Kashmir: K
(A) Ferozpur (B) Gurdaspur
(C) Pathankot * - (D) None of these
60" Telephone.was invented by: a7
. (A) Cerf (B) ‘Babbage
.. - (C) Edison " (D) Graham :
61. _______ is an instrument for measuring . a
' small electric current, o :
(A) Anemometer
(C) Galvanometer
(D) Sphygmomanometer

,"/"

(B) Hygrometé'r g

district to India for-.

* treaty between India and Pakistan, brokered .

| 65., Clausewitz policy is:

is named as:
g %Oldggﬁ{a?g;t:gty - (B%‘ Deterrence |
(C_; Balance of power (D) Gommon defence

63. Ahmad Shah\Pitras Bukhari was a ’fémous |

iter of language. - SR
(A) Engih - e
' '(C) Punjabi (P) Hin

: ed-meter race false start time is;
\64' 'zgru&qrseconds (B) 0.25 seconds "
. (€)'0.75seconds (D) 1 second \

\ . "
" (A) Decision to use force must be mutual
. (B) Strategic ' deterrence, political
N prestige benefits , |

~(C) The' policy of detente evolved . fron

conflict . " ~
" (D) 'None of these

66. 'Which vof - the following -types of tapq
" constraints will prevent the entry of duplicat

and '

rows, - , ,
(A) Primary key (B). Umq_ue o
(C) Null (D) Foreign key -,

- 7. In excel from which tab you ¢an write date of

birth like this YYYY/MM/DD:

(A) Input ~ (B) Format menu

(C) Insert* L (E_)).None pf these
68. Which of the following ‘is' - riot
characteristics of computer; ;
(A) Automation (B) Speed v - -
(C) Intelligence (D) Versatility.: - .
69. Audio, Video and PDF. can sent through:

* (A) Gmail (B) Yah6o -

~(C) WhatsAgp (D) All of these
70. Who is the father of Internet: .
. (A) Charles Babbage (B) . Vint Cerf

(C) Martin'Cooper: (D) HowardAiken

the '

|. 71 Change narration The'boy exclaimed. with joy

.. that they had won the match. .
(A) The boyssaid, "Hurrah! we have won the
_omatcht oo 0 : '
- (B) The boys said, "we have won.the match."
"-_(C) The 'hoys 'said, "Hurrah! we . won the -

Ty emagehy R R R
... (D)’ None of these

72, Quaid-e-Azam asked three ‘law -lords from""
»" . British government in which commission:
- (A) Mandate commission - . - |
+ (B) Boundary Commission - - -
(). Empowerment commission
(D) None of these - v
Pervaiz Musharraf replaces | as arm
‘chief. . ' i 83 ANNY
(A) . Abdul-Waheed Kakar - -
- (B) Jahangir Karamat
(C)- Asif Nawaz Janjua
(D) None of these

74. Australian Open tennis oy 2 ,,
“ ' on which type of court: UInamgnt is pla‘yed

<

~

13,
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Hard court |

) (B) Clay court .
(A) Grass coun (D) None of these
ahadur Shah, the last Mughal Emperor, was
18~ iled fO:
ex;bm sore (B) Awadh
fC) Rar‘9°°“ (D) Baghdad
Tran nsnational Actors and  Transnational

16. Governance activated in the area of:
A) wwi1 . (B) Cold War
() Bluff War (D) None of these
. Wthh among the follow1ng is the capital of
[a0s:

a) Kabul .(B) Vientiane
(C) Vietnam (D) Nigeria
MICR stands for:

18- (a) Magnetic Ink Character Reader

B) Magnetic Ink Character Recognition -
C) Magnetic Ink Character Receiver.
(D) None of these

9. In June 2020, United Nation Security Councn

elections held for:
(A) To address climate change i issues

(B) To select non-permanent member of UN
Security Council

(C) To discuss Kashmir matters by the |

request of China
(D) None of these -
§0. The study of insects is called:
(A) .Ornithology (B) Entomology
. (C) Zoology *(D) None of these
81- Aliaba group found in: :

(A) 1991 (B) 11993
(C) 1997 (D) 1999
82. Heisgood ' . (mathematics. .

“(A) in " . (B) at -

_(C) on . (D) into
, vurwr;d'éu,ﬂ 8
Srd (B) ;/f; (A)

u.’fdfr_u:ui (D) 2U ()

QW—JU/B/GVGU; 84

\ Js,dlu»fu/v (B) uJbuuf.,/v (A) -

VLI ©) e ()
\ ' *‘Jufugﬁ}‘ AU 85._
c oz, <B) L UreP (B
St D) e ©)

‘ °‘Lﬂf’/‘:‘_f/¢ ':,E:K;{_r‘gg;:_ubﬁ, .86

JI:/‘,.-ZI\..‘(B)‘_ ' iy (.}‘.\;)’;f

> e

tﬂ;ljfc——d:t\ﬂ. (D) ook (C)
P P ¥ L L
U ra i ) N

HHeso ® T (©).

e WP S U et 88

,uu/g;(‘b (B) -
St ©)
J:{ngbtf/g‘ﬁ-;!}lrl&'fc—-;yé"d..{l/hrl"
| | ; ot
"‘"f;;,,.,;,_;(-;,r_-,/-f{ (A)

. .,Gdlu’.duj (A)
Gl (C)

i ea e P (B)

ten P ae 2 (C)

?ZZ_JLJGJ/Z45 Y‘L.-ri

13 (B) 0 (A)
60 (D) 50 (C)

"JLJ&]&JJ(UJIJU'J’:.«/”’
ruJu‘.,.v_,/v (B) (M,Js(m.,/v (A)

S ety )

.89

.90

91
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Answer Key 79. B 9
C 14 B - 27. A 40 A 5. C 23‘ S 80. B. 93 8'
A - 15 B 28 B 4. A 54 A 4 o 8. D 9 a
o 16. D 29. B 42 A 5 B 9 D 82. B 95. B
B 17 C 3, D 43 A 56 C 8 o g5 4 g2
A 18 B 31 B 44 A 5. B 10 4 B o7
‘ 71. A 84. - A
D. '19. A 3. B 4 A 5 B B 85 B 98 B
A 2. D 33 C 46 A 59 B T2 2 op o g9 o
A 21 A 34 B 4. B 60 D I3 B g S
B 2B 3 A 4 C 6. C Th L gp o .
C 23 B 3 C -4 B 62 B 75 - & %
C 24 C 37 D. 5. A 6 B 76 B o
C 2 B 3 C 5 C 6 A 7. B G o
B. 2 B 3 B 5 A 6 A 78 B :
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(Paper ot t2023y )

£CTOR LABOUR WELFARE (BS-17) LABOUR &

oF LABOU —
founded in which year: @ ceo
amazon it u (B) 1994 Andy Jassy
P 1983 (D) 2004 (_Since July 5, 2021

‘2003
g Asian Secertarv-General. of the

me first as:

~ited Nation was:

UT.?‘LHE":U& (B) Ban ki vuo.
.}1 Lt (D) Kurt Waldheim
\L

i “Bismilla
\vhich surah starts without "Bismi
:,u Al Baqarah (B) Al Tauba
(C) AlNisa (D) Al Quraisk

What is the first element in the periodic table? ),
(A) Hydrogen
(C) Nitrogen

Court the Suo Motu powers? ‘
(A) Article 144(3) (B) Article 154(3)
(C) Article 174(3) (D) Article 184(3)

Who wrote the novel Pride and Prejudice:
(A) George Orwell (B) Charles Dickens
(C) Jane Austen

(D) Eamest Hemingway

1 Gigabyte is equal to:
(A) 1024 bytes - (B) 1024 bits
(C) 1024 megabytes (D) 1024 terabytes

The meaning of Idiom Laugh in one's sleeves
Is: —_—
(A) To laugh secretly

(B) To laugh openly

(C) To laugh at some weak

(D) To laugh occasionaly

On December 14, 2022, which country
launches space force unit in South Korea:

(A) UK (B) US

(C) Japan (D) Germany

10. All Parties Conference regarding freedom do;
India against British rule was ma
in ]

(A) 1922 (B) 1924
(C) 1926 (D) 1928

11. Where “CN Tower” is located? t

Q Bia" (0} redaiers
_ (C) Dubai Hijrah.

12. Bait-e-Rizwan took place in
(A) 5 D) 8
(C) 7 ban

r
998 census the share of u
Pakistan was: = 4 gg%

in
settlements 8 17.76 %

A) 11.81 %
&C)) 32.52%

(B) Helium Now Secretary General
(D) Carbon(izimr i

Which Article of Constitution gives Supreme

N RGE DEPARTMENT (DIRECTORATE GENERAL
RE S WELFARE/LABOUR & HR) - 28M2022 (15/01/2023)

Add No.18/2022

14,

15.

24,

25.

" 26.

16.

17.

18.

19,

20.

21.

22.

23.

How many days Hazrat Younus i
in the abdomen of fisf? AS remained
(A) 10 days EB) 20 days

(C) 30days D) 40 days

Who started the Faraizi movement?

(A) Maulana Muhammad Ali Jauhar

(B) Haji Shariatullah

(C) Allama Igbal

(D) Sir Agha Khan l

Holy Prophet PBUH was born in:
(A) 570 AD (B) 571 AD
(C) 572 AD (D) 573 AD

Who is the winner of ICC Men's T20 World
Cup 2021: '
(A) New Zealand

. (B) England 2022 Winner
(C) West Indies

(D) Australig \ England

Which article of the ‘constitution of 1973 is
related to the affairs of Zakat:

(A) 31 (B) 35

(C) 76 (D) 123

Who was the Last Governor of undivided
Punjab:

(A). Abdur Rab Nishtar

(B) Sir Evan Jenkins

(C) Francis Mudie _
(D) Ghulam Muhammad S

-
2

The antonym of Impertinent;
(A) Kind {B) Polite
(C) Noble D) Mannered

Fill in the blanks with suitable Prepositions:

The bridge is constructed __the canal.
(A) Over 58) Across -

(C) by D) None of these
Diego Garcia is military base in the
Indian ocean.

(A) Japan 58) us

(C) Germany D) Russia

The Cabinet Mission came to India in the
year:

(A) 1941 EB) 1943

(c; 1946 D) 1947

What Is the extension of Microsoft Wo

&) e (8) DOCX rd files?
gc T D) DOCS

She
tournament.

trains

8 &

is Foing to train
is r
My elder brother got a mot

for the Upcoming tennis

aining (D) will train

or bike but |
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Highlight

CEO
Andy Jassy
Since July 5, 2021

2022 Winner
England

Now Secretary General
Antonio Guterres
since 1 January 2017

Add No.18/2022
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27.

28

29

30.

31.

32.

33.

34.

FIFA Winners
35.

| 2022 Winner:

Argentina

2018 Winner:
France 3B6.
2014 Winner:
Germany

37.

38.

38.

40.

41.

" (A) or

(A) going
(C) going to lhe

(B) has not

(A) have not

(C) had not (D) could nol

White ball for the fust ime In the 1992
Cricket World Cup

(A) used (B) was used

(C) had used (D) had been used

If Ashraf earlier, he would always
be on ime

(A) gotup (B) gelup

(C) hadtogetup (D) had got up
You can go neither by train ___ by

bus?
(B) nor

(C) no (D) and

If you work hard, you __ good marks.

(A) would get (B) would got
C) will gel (D) will got
aluchistan plateau lies in:

(A) East of Koh Kirthar and Sulaiman range
(B) West of Koh Kirthar and Sulaiman range
(C) South of Koh Kirthar and Sulaiman range
(D) North of Koh Kirthar and Sulaiman range

Quaid-e-Azam joined Indian  National

Cc;n%resg in which year: 5
(A) 190 (B) 1914 :
(C) 1920 (D) 1931 (Leﬁ'“ 1920)

Non flowering plants are called as:

(A) Cryptogams (B) Angiosperms

(C) Phanerogams = (D) Phanerogams
The Battle of Karnal Was Fought Between the
Mughal Emperor Muhammad Shah and "
(A) Aurangzeb (B) Akbar

(C) Nadir Shah (D) Bahadur Shah
Anna has finished her work, now she is

home.
(B) going lo
(D) going towards the

How many times has France won .the FIFA
World Cup:

(A) One (B} Two

(C) Three . (D) Four

Near the London eye, there is a bridge __ the
Thames River.

(A) above (B) over

(C) off (D) towards

Which of the following fractions is greater than
3/4 and less than 5/6?

(A) 9/10 B) 2/3

(C) 172 (D) 4/5

Fatima is not al heme at the moment, She
work.

(A) is at (B) is on

(C) was at (D) was on

sign is used at the end of a sentence
or a short phrase which
O o, p express strong
(A) Comma (B) Exclamati
(C) Semi Colon (D) Full stop -

The largest ocean of the world is:
(A) Atlantic (B) P:ciﬁé

42

43.

44.

45,

46.

47.

48.

49.

50.

o1.

S2.

53.

95.

5

[+

. Who among the following ProP

C) Indiz

( } 1 -r in . {D) Nﬂne

Battle in which Hgl [ Uflhe“

Fﬁzhgpmcd is known as Ophe (PRY

) Sayee

(C) Jaziya Em

A car travels al lhe speed qof 4

Whal is the distance traveleq by t"';_lrn Per hour
& cy .

H) ng

20 second in meter: r wilh,
(A) 100 m (B) 150 m n
(C) 200m (D) 250 m

The North Allantic Tr .
created in: caty D'ga“'latmn wa
(A) 1944 B) 1

(C) 1958 EC)J 1861

Johar town blast in Lahore is
A) Hafiz Saeed (8) F‘J.Er:.?led to:

C) BothA&B (D) None of these
We can insert a2 page e
word at: Page number in Microso
(A) Header (B) Margin

(C) Macros (D) None of these
Myanmar got independence in:

(A) 1947 (B) 1948

(C) 1950 (D) 1951

When was indian council act passed:

(A) 1855 (B) 1858

(C) 1861 (D) 1884

Qazi Isa was the Baluchistan Muslim
League.

(A) President (B) Vice President

50] General Secretary
D) Board of governance member

Zika virus is a mosquito-borne virus first

identified in:
A) Morrocco (B) Uganda
C) Ghana (D) Nepal

Chaj Doab lies betweenwhich two fivers:
(A) Chenab & Ravi (B) Chenab & Jhelum
(C) Sindh & Ravi (D) Sindh & Chenab

On October 31, Indira Gandhi was

assassinated.

A) 1981 (B) 1982
C) 1983 (D) 1984
Israel captured East Jerusalem In:
(A) 1948 B) 1967
(C) 1971 (D) 1988
sed Laws of

planetary motion?
(A) Roger Bacon
(C) Johannes Kepler
(D) Galileo inte
On January 8 ,2022 Ukrainé -,
Airline Flight 752 was Sho
taking off from Tehran [rar
surface to air missile ¢2

A) Human error
C) Instrumental errof _

: iplical fibre works on thé
) Scattering _
EE) Total Internal Reflection

(B) Issac Newlon
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2022 Winner: Argentina
2018 Winner:
France
2014 Winner:
Germany

FIFA Winners


ledergngfrefmdion .
rder connects:

ational bird of Pakistan:
(8) Chakor
8 A W’”:or (D; Pigeon
’ " of the two sisters is married.
1 iB% every
(C) each D) any
e gases used in different types of welding

80. :
include:
ﬁmg xygen and hydrogen
B

59.

acetylene and

Oxygen, acetylene and argon
ig; oggen and acetylene

61. How many players in basketball game in each

7

s {Bg 9

H 11 D) 12
62. Which is the Highest peak of Himalayas range

in Paskiilan: 8) Tirich Mi

A) Sakesar n r

8126 m fc)) Nanga Parbat io‘ K-2

63. Louvre museum is located in:

(A) Paris (Bg London

(C) Rome (D) None of these
84. Who is the Current President of Iran:

A) Ibrahim Raisi ) Abdul Nasir

C) Mohsin Raza D) Amir Hussain

65. Faint Heart never won fair lady. WON is which
p:)rt o ?gee 2 B) adverb
ve aave
EC) preposition ED; None of these
66. IE!\ a;n-22=3§-1 find the UHIIB.I)B of ag:
n+ 3n-
C) 2n+2 iD) None of these

67. Doctrine of necessity in Pakistan was first time .

used by:

A) Chief Justice Muhammad Munir
B) Chief Justice Ifthikhar Ch

C) Chief Justice Kazim Ali

D) None of these

68. ?:Jwg yﬁ:dat was the ?Ef‘?gg of:

C) Egypt Qatar
88. The Pakistan initiatives for mothers and new-
bom was designed to work for:
Ag To fight against terrorism
B) Women rights
Cl Against child labour
" D) Women protection
0. Law of magnet induction sed by:
ia Michael Faraday EB p‘Epr:am IRPyufharforﬂ
- Clerk Maxwell D; Neils Bohr
- The value of \(-25) + 3V(-4) + 2V(-9) Is:

A) 131 B) -1

EC& 17 in& 1%‘1
72. Globalization has im

structure of: proved in th

A) Workers in developin
332 People in developgd goo:#“néﬁ:a
C) BothA&B (D) None of these
73. Find the height of a parallel
is 54 cm:hand the ba':e is 1!?9 J“am Vhaseibren
iA) 26cm EB) 36cm
C) 4.6cm D) 5.6cm
74. Who was the first viceroy of India:
&Ag Lord Rippon Eg

e living

Lord
C) Lord Curzon D‘ Lord ﬁ“a';ﬁl"“
75. Ashgabat is the capital of:
%Ag Azerbaijan 23; Portugal
C) Turkmenistan D) Tajikistan

76. The term DNS stands for:

A; Domain Name System

B) *Dependent Name Server
C; Domain Name Service
D) None of these

77. When was the 16th Amendment Bill passed
bx National Assembly of Pakistan?
i ) February 8, 201 {B; March 8, 2010
C) April 8, 2010 D) May 8, 2010
78. Who abolished Khilafat in Turkey:
{A) Alliance %B; Briti
C) Mustafa Kamal (D
79. The term “Islam” means:
iAg Submission iB)) Peace
C) Fortitude D) Thankfulness
80. Correction of adverb Lets play nice:
gA% Lets play nicely

army
None of lhese

B) Nicely lets play
C) Lets nicely play (D) None of these

81. Which type of forest is found in Chitral, Dir

and Swat: i
& Detduous (D) Noneott

82. The wages of sin death.
A) is {Bg are
C) by D) None of these
83. When the Soviet Union invaded Afghanistan:
A) 24 December 1974
B) 24 December 1977
C) 24 December 1879
D; 24 December 1981

84. If 3x-8=-23, vmmhﬂnvalueow:-'f
A) -35 -36
& 3

D) -38
g5. How many neutrons in "TTF":
e S

' hdprovlslonoffaodfon % he
= ﬁ;?;t A.}lar 10 days 26 men left "th‘ﬁnfivn‘; s
Crimber of days for which 1he re

: ,{gi I;:g: s — {g; ﬁ
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Advanced PPSC MCQs Model Papers

1248 »
87 Which product of Microsoft 1s not available in S fe Lo (D) rrf»'—:.)’:r (C)
~ Linux operating 5‘!‘5“-‘";8] MG A = -
Jpen Source CCNS! - _ . ».
Eé: En.E!L:r‘n;ml-:i Line Interface !.r_pufdﬂ.{br‘r'iff—’ 95
(D) None of these L;J(J; (B) !(L (A)
88 Identify the latitude of I"‘Fljllu.“l?li_":rzm'lngging N - r‘- ' ©
274210 34 02 N (B) to : =l (D Ut 2 &1
Eg‘}n 5042103602 N (D) 3142 10 36.02 N VEdie vty (0) ez |
89 The runway for long jump is about {I-‘,__w[&,l:['{%h}@i_u; 96
in width e )
e (£} N /34 (B) WO (A)
(C) 166m D) None of these ey "j,
80. A manufacturer of TV sels produced 600 units I et (D) v/ 2hg (C)
in the third year and 700 units in the seventh . ‘ _
year. Assuming that the production increases L}L“'Z_UF;LfLl:--:iu'l.fa"b"duilucbll-”! 97
uniformly by a fixed number every year, find T . A :
the production in the first year? r__/-r{;..-;t.iim_,ﬂ,a-_guib i H‘,{_,Lf?i).i,z'l
(A) 250 TV sets (B) 350 TV sets - B LS = b
(C) 450 TV sets (D) 550 TV sets fetih i /¥
nﬁL'S;lf'_fL'—uJ'J:?h_i:/"JL:)AJ:IJJE 91 Al (B) =Fl(A)
Self oy Litfe ALG ¢ =367 (D) =ZU! (C)
Sy (B) Sty (R) sp2l T ask v e S 98
dir= 2 (D) JUik (C) _5 (®) 25 (A)
S Puihe o Lasdnladiis 92 £ (D) >l (C)
==l (B) JHes (A cad B iz " & U:J.;,-J LGk 99
S ety (D) S (€) o e S
?_l_g;t:-l&u:‘ku’(:f"'xﬂl .93 uj (B) J A (A)
U (B) 220 (A) V(I (D) &/ (€
UE Ui et O Ui f e LUz 100
UL AU T 04 Mserd £ )
e A, o2 UK spidr 6 25T ()
£y V.10 l:"if :*',?KULE-'; F ety © ez ()
Sh® - Fiw
: »7 Answer Ke
1. B 14. D L 40. B 53.° B '
2. C 15 B 286 A 4. B 54 ¢ gg— E 79. A 92. g
3 B 16. 8 29 B 42 B 55 A 68 80. A 93 B
i. A 177 D 30. C 43 C 56 B 8o 81. A 94 C
5. D 18 A 31 A 4 B 5. g ‘3 A 2. A 8% %
6 C 19 B  32°A 45 C 355 B - A4 . 8. C 9%
7 ¢ 20 C 3 A 4 A 5 ¢ I C 8 c o B
8 A 21. A 4. C 47. B 8 b 72. A 85. A 9. A
% B 22 B 35 A 4 C g . 3 B 8 B 99 A
o8 zc 3 B 49 4 g 2 A 87 B 100 B
1. B8 24. B 37. 8 5 B8 63 A 5. C 88. A
36 %S ¥ D.s1g g5 A 8 A g A
J . A 39. A 52. D 65 A ;g E gg_ E
¢P00000000 ' e 3
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Largest Fresh Water Lake in the World
by Area=Lake Superior (Canada)
Largest Water Lake in the World by
surface area and water=Caspian Sea
Largest Lake in Pakistan=Manchar

“\. ASSISTANT DIRECTO

7.
L

Longest
Moutain §,

- 10,

1.

*(C)- Mount Etna

The Charismatic - Leader: Quaid-i-Azam
Mohammad Ali Jinnah and the Creation of
Pakistan: AT R M
, (Ag Benazir Bhutto

Sikandar Hayat -

‘A matter can exist in which of the-following

ft})\;ms: ‘ :
Liquid - - (B) Solid _
\gc) Gas 50) .All of these

Who chaired Asia Pacific Group of UNESCO

@aper No.11 (2023) |

Department (Specia

Add No=32/2022

Which is the largest lake of Pakistan.

A) Drigh lake (B) Manchar lake ,
§C) Kunjhar lake (D) Saif-ul-Malook lake
The ratio of ages of two students is 3: 2. One
is older to the other by 5;/ears. What is the
age of the younger student?

A) 2 years (B) 10 years
fc; 15yyears (D) None of these

Cue, bolting and break terms associated with

which game:
(A) Volleyball (B) Snooker
(C) Billiard, (D) Polo

The radius of a circle is 10 cm and the length
of one of its chords is 12 cm then the distance
of the chord from the centre Is:

(A) 6cm (B) 8cm

(C) 10cm (D) 12cm

Who among the following Mughal rulers was a
contemporary of Queen Elizabeth | of
England: .-

(A) Jahangir ,

(B) Aurangzeb Alamgir "

(C) Zaheer-ud-din Babar

(D; Akbar the Great

In 1946, who called for the complete
elimination of nuclear weapons:

(A) UN General Assembly

(B) UN Secretariat

(C) World Bank , B
(D) European Court of Human Rights

The largest volcano of the world is:
(A) Mauna Loa (B) Mauna Kea
- (D) None of these

B
§C)v Shaukat Hayat Khan
D) Colonel llahi Baksh

for the year 2020 from Pakistan:
§A) Abdul Basit (B) Moin-ul-Haq
C) Maleeha Lodhi (D) Munir Akram
— hshe Is a good runner but | have not
A) Poigib?yr g B) A |
| a
5(:) Doubtfully fD) Ngﬁergpﬂwyese'

R INTELLIGENCE (BS-17) Punjab py;
| Branch, Punjab) - W

12.

13.

14.

(C) BothA&B .
15..

16.

" (C) 300

-17.
_ Constituton:

~ (C) Mahatama Gandhi

18.
19.
20.

21.

<(C) 30
22

23.

- (C) Mushrikoon

(C) Montenegro. (D) China i
Which Mosque was ordered by Al2

' destroy: b RRNRRE

(A) Kafiroon =~ ~-. -(B) Zirar

Syllabus

e

Kyle bought a $2000 government bo
yields 6% in simple interest each y%nd thay
the equation that gives the total amour. fite
dollars, Kyle will receive when he sn]t A, in
bond after t years. 7 ells the
(A) A=2,000 (1+.06)t (B) A=2,000
(C) A=2,000 (1+.086) (D) A=2000
During Mughal rule Bakhsi was:

(A) Incharge of Military Affairs

(B) Finance Minister

(C) Incharge of Religious Affairs
(D) Minister of the Royal Household-

Which religion followers are not alloweq
sehri while keeping fast: to eat
(A) Christians (B) Jews

(D) None of these

Tipu sultan had diplomatic relations with wjt

(1 +.0
(1+.o§))

french king: - i
(A) Napolean (B). Charles
(C) Henryll (D) None of these

The number of bones in new born baby is:

(A) 200 (B) 250
(D) None of these

Who is popularly known as Father of India

-  One paper MCQ type written test of 100
Marks and 90 minutes duration comprising
questions relating to General Knowledge

including Pakistan Studies, Current Affairs,
Geography, Basic Mathematics, English,

Urdu, Everyday Science, Basic Computer
Studies and Islamic Studies (Ethics for

(D) Bal Gangadhar T"ak Non-Muslim candidates).

(What) did he wants you to do?
Identify (what) in this sentence act as:

(A) Pronoun (B) Adverb

(C) Adjective (D) Noun

Errors from computer hardware and software

can be identified and removed by process:

(A) Interface (B) Debugging

(C) Formatting (D) Flip Flop

In MS Word a character that is raised and i

smaller above the baseline is called:

(A) Outline. - (B) Raised

(C) S‘uperscript_ - (D) Subscript

How many countries joined NATO: /“Eqtaplished on

(A) 20 : (B) 26— 4April, 1949
(D) 34 : :

Which - of the following is not a member ©

NATQO: ‘ .
(A) Lithuania (B) Luxemburg

(A) B.R Ambedkar
(B) Jawaharalal Nehru

(D) Noneo
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Largest Fresh Water Lake in the World by Area=Lake Superior (Canada)
Largest Water Lake in the World by surface area and water=Caspian Sea
Largest Lake in Pakistan=Manchar

Established on
4 April, 1949

Longest
Moutain

Add No.32/2022

Syllabus

One paper MCQ type written test of 100 Marks and 90 minutes duration comprising questions relating to General Knowledge including Pakistan Studies, Current Affairs, Geography, Basic Mathematics, English, Urdu, Everyday Science, Basic Computer Studies and Islamic Studies (Ethics for Non-Muslim candidates).

Syllabus 

Add No=32/2022


2.

2.

2.

27.

28.

29.

30.

3.

32.

33.

3.

35.

36.

37,
38.

39,

40,

i=h of the following cities was the former
hic . :

Nota ggf;ak'smn' (B) Rawalpindi

fé) lﬁaeshawaf (D) Karachi

The book “A Brief History of Time” is written
e \ Brief History of Tin

h a _(B) Oswald Spengler
2,5)) é::esg?\t:j\ Hawking (D) Karl Marx

She sings a song, doesnt is she here |

doesn't s she is: B) Pronoun case
uestion % .

%é)) Z:,Z?uqnd case D) Object

In which Surah of the Holy Quran B;
ded twice:

?P(\j) Surah Baqarah

(C) Surah Yaseen

smillah is

(B) Surah Namal
(D) None of thgse

aym of VEIL: ——————' ),
Sg)nocgver (B) Overt ¢ o)
ic) Blatant ’

(D) None of thes
In tennis which test is
fitness of players:

A) Push up test §
20) Dyer test

Choose the correc; analogy

Morning : Noon :: 7 - .

A) Child: Young (B) Child: Youth
EC) Noon: Forenoon (D) None of these
The meaning of Put on js:

(A) Call

used to check the

B) Fitness test
) T test

) Wear >\
(C) Escape (D). None of these
Computer Hard Disk was first introduced in-:
A) Dell Apple
20) Microsoft (D) 1BM

Geneva is the city of which country:
%A) New Zealand (B) Switzerland

C) ltaly ) None of these
Choose the analogy of words written in capital
letters. Lion: Roar

(A) Snake : Slither (B) Goat: Bleat
C) Lizard : Crawl (D) Elephant : Tusk
B;;njosa Lake is situated in:

S

wat (B) Gilgit B_al(istan
(C) AJK (D) Karachi

Choose the analogy of words written in capital-
etters. Speak: Stammer .

(A) Walk : Stagger (B) Strut: Walk

C) Speech: Stage (D) None of these

Arab spring started from which country:
(A) Tunisia (B) Libya

(€) Yemen (D) Egypt

| met European. -

(A) a (B) an

(C) the

. (D) None of these

In March 2006, who was appointed as the
?owling coach for Pakistan:

A) Shaoib Malik (B) Waaqar Younus

Ramiz Raja (D) Misbah-ul-Haq
When did Pakistan join the OIC?
(A) 1968 - (B) 1963 _
(C) 1973 (D) 197

41.
42,

43.

44,

45,

46.

47.

48.

49,

50.
51.
52.

-53.

54,

55.

Who was the founde

Cloud Gate is locateq in:
?é)) gggf (B) San Francism
a (D) None of thee
When did the Indian Mmutiny take place:
(A) 184 B) "1857 '
(C) 18865 (D) 1902
Azad p j
\(Nhich . vaétrfm Project will pe Constructeq on
A) Indus (B) Jhely
m

(C) Chenap None of these
Antonym of Haggarg:
(A) Healthy (B) Robust

Hearty (D) Plump
How man

Y prince| sta
Subcontinent y te at

e the time of
artiti i i .
out of 565 Partiion decided to join Pakistan
& 1 ~ (B) 12
—— 20) 14
In Punjab

_ Radcliffe gave an unjyst g d
mcludmg following tehsils in Indianjside: s
heikhupura Kasur

(B) Gurdaspur, Pathankot
Feroxpur, Hoshiarpyr (
hakargarh, Pakpattan )
The world's deepest
Trench is located in: S
Indian Ocean (B) Atlantic Ocean
C) Pacific Ocean (D

) Arctic Ocean
After cold war, a new col
has arisen between:

(A) Russia & us

trench the Mariana

d war or cold war ||

(B) Russia & China
China & US (D) None of these
Agra summit was a two days summit which
remained: : v
(A; Successful
Un-Conclusive

C) Delayed Till Further
None of these

Which out of the followin

g countries hosted
most refugees in 2012: : '

A) lIran (B) Pakistan

§C) Germany D) France
Which one is the capital of Somalia? -
(A) Nairobi (B) Cairo  *
(C) Mogadishu (D) None of these

Ctrl,shift and alt are called
(A) Modifier
(C) Adjustment

keys.

(B) Function

(D) None of these
r of Nawaiwagt news

paper. e

A) Hameed Nizami (B) Majeed Nizami

EC)) Arif Nizami - (D) None of these

i 3 ' ' d:
Which Prophet was declared Adam secon
(A) Hazrat Ibrahim AS S
(B) Hazrat Nooh AS

(C) Hazrat Musa AS

(D) None of these

: /ai ‘elected as
General Pervaiz Musharraf was e
ident through referendum on:
‘(:A—;asApril_BaO, 2001 (B) Ap_rll 30, 2002
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Call off

(C) April 30, 2003 (D) April 39, ZQO4
56. The workers called _ the strike.

B) off -
gé;g; fD) None of these
57. The reaction between an acid and a base.tov
form:

A) Salt & Water (B) Acid solution -
gc; Base solution (D) ‘Water

+ 58. The name of the daughter of Quaie-e-

Azam was: - S |
((é; &Aﬁgﬁ};ﬂ - (D) None of these

59. Who was the founder of Lodhi dynasty of

India: R )

i Ibrahim Lodhi ~ - (B) Bahlul Khan Lodhi
Loaniaynasity ] - () uahn Lodht .g(D) None of these

1451 to 1526 §60. Brain virus created by brothers.

(A) Pakistani . (B) ltalian
(C) Chinese ~ (D) Japanese
61. Maleeha Lodhi served as ambassador of: N
s “(A) US - (B) UK :

\ (C) UN (D) Allof these v
62, River flows into a quiet lake and begins.to,
form a: : L L
~ (A) Deltas (B) ‘Alluvial fans

(C) Natural leeves (D) Point bars
63. Healthful diet includes  balance, variety and

_principle. A _
(A) - Availability - (B) Moderation
"« - (C) Quality (D) Complimentary |
64. What is 20% as afraction?
(A 172 (B) 1/20
(C) 1/5 - (D) 1/0.05 el
65. His hand caught yesterday in the door.
(A) Bruised (B) Burnt , :
(C) Rough (D) Rashed
- 66. The binary decimal of10100is: .. -
. (A) 20(10)- - (B) 200(10) -
(C) 200(100) (D) None of these

67. Chapter 1 of the 1973 constitution deals with:
Fundamental Rights ; v
Principles of Policy ‘
President's powers -

Prime Minister's Powers

68." How this incident come

) around N abo'ut '

| by - (D)-at s

69." Which is used as an electrode in the dry cell:
A) Lea (B) Graphite s

C) Molybdenum (D) None of these
70 Which of the following is not
f xce !

(A) Range - -B :
(C) Document gD; \(/:\glr kb.OOk
- 71. We shouylg abide by the '
-~ (A) Would we? Y the rule

( (B) Shouldn't we'?

B WI" n:)t we? - ‘None of these
- INé muscles, tisgy

ot €s and p

Carbohydrates  (B) Proteing
fé§ Vitamins (D) Fats

73. Which key is used for help in Word;

S B) F2
58 2 gD; F4

74. Faiz Ahmad Faiz buried in;

(A). Karachi ~ (B) Lahore
fcg Hyderabad (D) None Of thegg -

75. Zulfiqar Ali Bhutto first ministry yag.

-(A) Industrialization (B) Commeree
gCg Finance (D) Petroleym’

76. The Bari Doab is located betweep:

A) Jhelum & Chenab(B) Bias g Ravi b
: f& Ravi & Chenab (D) Bias ang (\:l;] b

: _ b
- 77. Mahmud' of Ghazni waged !
& re?)ellious India in the year of: 5 aaing
(A) 900 AD (B) 1000 Ap
(C) 1100 AD (D). 1200 AD

78. Which one'is not the principle of New Worlg

Order: . '

(A) Territorial Integrity

-(B) Human Rights

(C) Peaceful Engagemen_t :
(D) War on terrorism

79. That charming 'girl was the al

eyes. ‘ Bl -
(A) Target =~ = (B) Ambition
(C) Cynosure- (D) Doggerel :
80. When Aligarh college become university:
-~ (A) 1875 - (B) 1877
- (C) 1920 . (D) 1936

81. 6 men, 7 women and 5 children complete a

job for Rs 4400. If their individual wages be i
the ratio 4:3:2, the total money earned by 5
children is: o ’ 1
(A) Rs. 800 (B) Rs. 880 -

(C) Rs.980 -~ - (D) Rs. 990

- 82, If 1/4 writing, 1/6 reading and 1/8 designing

- are participated in different contests and 33
participants of mathematics, then total number

.. of participants are:
" (A) 70 (B) 71
(C) 72 .- (D73

| 83. Who was the Prime Minister of India at the

- time of tashkent agreement:
(A) Lal Bahadur Shastri - -
(B) Indira Gandhi

(C) Atal Bihari Vajpayee

| . (D) Rajiv.Gandhi B
84. “Chilum Joshi” is a festival celebrated in

ilgit Baltistan
A) Kalash Valley . (B) Gilgit
gC; Peshawar (D) None of these

85. Hazrat Zaid bin Haris R/} name o?curred in-
£ faveh surah of Holy Qua?. Surah Al Bagarah

(A) Surah Al Imran - (B

hman
(C) Surah Al Ahzab (D) Surah Re

‘ kistan ?
86. Which is the national flower of Paki

e b
- (A) Jasmine ; (D; mﬁigold
- (C) Sunflower (
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Call off

1451 to 1526

Lodhi dynastry period


¢ worker said. ‘| have not
narratio

df\n/"‘p,‘w (B)

nange ymmg wr0 ng. 94 that he has not done o
57 don an wor uy(d’( JJ;'_.,v .
i Thv‘h'"g wrro ';gld that he have not done C-U'UI D)) = b 7 (A)
The —ele
B) Y‘hwg:v r:: ns%nd that he had not done 'E f/ £ ©
P y
(C anyihnng wfogg ed that he has not done GJ*" A (B) A}Uﬂ_}; 95
hmg wrong ' g A
:: after 4" lap is 22 and itis 18 after kJWL”/‘;'L}‘U' (D) @)
8. ;m lfgs then how many laps are made at the dﬂb} (&)
end: ®) 12 'C-Vuf,u :
0 ()
((/é)) N (D) 16 LA vngu‘ul 96
8. The largest 01‘| regmery in Pakistan is: 5 152 ~( JJ’Z.:“ (A)
ttock oil refinery
((‘g)) éa?c—Chma oil refinery : U Lfr”l” UJ'J K5 S I
(C) Pak-Arab oil refinery (D) None of these v A W iy uJu st (B)
A 5
cdy,u’;uiét)‘lb’bu)ﬂuﬁ?"%(fuJ", 59 u“df VL (C)
A’!JJ{SS (B) - 225 (A) . <~ Uayl (D)
#1150 (D) b.pb'g)dfo (©) o ‘ u,.ap’“ ( hq/".-'%"w;ll-’hu 97 |
. ) dd .. L ; o B) N . . ) o .
S lad ) APl It F, L ‘ U
sptlS TIPS SL e 15 gy Hletu ) N
U @) F oy o Ux’l (C)
Jﬂb, (D) ‘TJ_, @ _ g Mrf.;:af"f y
W =2, . —— ubd‘,& e ®)  F o
5 Juj“"/’/ﬂu}“”y/» 9 u:(d’[f'—dw (D) LI
7~ \s (B) by 2 : s v (C)
<\ s :
UMGI(LU"L” (D) N (A) > R ‘\U“-’u’.«uuu',, 9
| “¢r ¢ (c) B d; (B) 4 9
S (B) : =1 (C)
At Ve w
Ve vty () ) T £ 4 L 100
.t 6* © o X0 P (n)
¢L5 e o A
Xy o LJJ( \’rLS Ly Jn;ﬂ 94 ’ (D) Jrk (¢
y 8 14 c .Answerk '
-SRI | AL W 27. B 40 B r5ey | |
i B 16. C 28. A 41. A 3. A 66. A 79.° C .
5 po kA S o4z . B % B . &4 & ¢ 2 B
- 6. . 18. A ‘o B 43. B B . 81. A - C
AL 31 B B 5 B 69 B 94,
L ARG R e ma o fcosiok ¢
o %, 21 ¢ %3-,_83 % 5 5. B 128 ‘85 & 5
8BS ue Bog B4 pd o BA R &
;12 Biv: bg Bl gg‘ A 40 B 62 A 78 B & S 100 J
13, % % ¢ 3% A 9 ¢ o 8 7B %S "
| 2. A 39 B % A 65 A 78 A oy e
‘ 0000000000 ' \
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Add No0.29/2022

Case N0.56E2022

Syllabus

Qualification related questions (80%)

v General Knowledge including (20%)
(Pakistan Studies, Current Affairs, Geography, Basic

Computer Studies)

Mathematics, English, Urdu, Everyday Science and

@per No.@j

ASSISTANT DIRECTOR REVENUE HOUSING URBAN
DEVELOPMENT & PUBLIC HEALTH ENGINEERING

DEPARTMENT,WATER AND SANITATION AGENCY, FDA,

FAISALABAD-2023 (25-02-2023)

A buyer's perception of value is considered a
trade-off between:

(A} Product value and psychic cost

(B} L{J&I customer value and lotal customer

(C) Image value and energy cost
(D) Service value and manelary cost

Capital Structure is an optimal mix of whi
one of the following options: ' which
(A) Sales and profits

(B) Debt and equity
(C) Current assets and fixed assets
(D) Mone of these

Al breakeven point:
(A) Total expenses = Tolal revenue
{B) Tolal expenses > Tolal revenue

(C) Tola! expenses < Total revenue

(D) None of these

Floaling assets are valued at:
(A} Markel price
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Add No.29/2022
Case No.56E2022

Qualification related questions (80%)
General Knowledge including (20%)


Syllabus

(Pakistan Studies, Current Affairs, Geography, Basic Mathematics, English, Urdu, Everyday Science and Computer Studies)


10.

11.

12,

13,

{B) Cost
(C) Costor market whichever is lower
(D) Cost less depreciation

refers 1o the rigk inherent 1o the
entire markel or markey Seqment.

{A) Financial risk

(B) Purchasing power
(C) Systematic risk
(D} Inmterest free risk

The first  and foremost function of
management is
(A) Planning (B) Organizing

(C) Controlling (D) Coordination

Which of the following 5 a method that s
commonly used in qualitative research?

(A) Self-completion queslionnaires

(B) Surveys

() Ethnegraphy

(D) Structured observalion

The form of
liabilities

(A) General Partnership

(B) Limited parnership

(C) Limited liability partnership
(D} Particular partnership

The average of the data js also known as:
(A} Harmonic mean (B) Arithmetic mean
{C) Geometric mean (D) Sample mean

If the current ratio is 2:1 and working capital is
Rs. 60,000, what is the wvalue of ecurrent
assels?

(A) Rs. E0000
(C} Rs. 120000
Solution
Carrect option is C)
Current Ratio = Current Assels (C.A)/ Current
Liabilities (C.L) = 2/1
So,CA=2CL
Now, Working Capital = Current Assots (C.A)
minus Current Liabilities (C.1) = Rs.60000
50, CA-CL = 60000

4 C.L-CL = 60000

CL=Rs.60000
Kow, C.A = 2 x 60000 = fs.120000
Verification refers 1o
(A) Confirming ownership
(B) Valuation and Possession
(C) Actual existence
(D) Al of these

Bringing all parties 1o an agreement is termed
as'

(A) Joinder (H) Consensus
(C) Contract (0) MNone of these

Deblors have least profit share due lo:

(A) Naot participating in operational risk
Payment to lrade payables

'EC{ Current ratio and Quick ratio

(D) Nohe of these

business having unlimited

(B) Rs. 100000
{D) Rs. 180000

14,

16

17.

18,

19.

20.

21.

22,

23,

24,

25

" (A)

Papers or 2023 577
An cxpendiura whiel
| DCCUrs non.r
and reqularly is known as- iepentedly
(A Cﬂpllﬂfﬂ!pnnﬂllurﬂ
I Revenue cupendilure

(C) Deterreg revenue expend
e nedifur
(0D} Mone of these pendire

Superyisor wagn is a pant of

{ﬁ:] Conversion eost (B} D;:—urahng cost
(C) Variable ens (D) Hene of ihese

Unsystematic risk g 5o known as
(A} Unavoidable fisk (B) Random fisk
(C) Specific nsk (0) None of thega

Chnrncm-nslucs of the job is alse known as:
(A) Job analysis B Job rating
(C} Job desernprion (D) Job evaluation

Which research is  conducted when a
researcher needed a solution 12 a proklem?
(A) Scientific Research

(B) Applied Search

(C) Descriptive Rasearch

(D) Basic Research

Change in government policy with In
content of tax:

(A) Tax palicy

(C) Manetary policy
The pan of equity
callea:

{A) Common stock (B) Prefarred stock
{C) Growth slock (D) MNone of these

Human Resource Managemeant deals with-
Insurance matters (B} Staff functicns
(C) Accounting function (D) MNane of thass
Auditing refers 1o

(A) Reporting the financial infarmation

(BY Examination of financ:al information

(G) Preparatien of financial statements

(D) Maintaining the ladger accaunts

The standard deviation is the of
lhe variance

(A} Square (BY Sqguare root

(C) Cube (D) Cube root

According to the capial-asset pncing model

ial]

(B) Fiscal policy
(D) Regulatory policy

having certain return is

(CAPM), a security’s expected (required)
relurn is equal 1o the risk-free rate plus a
premium

(A) Equaltothe secunty’s beta

(B) Based on the unsystematc risk of the
secunty

(C) Based on the total risk af the sacurity

() Based on the systematc nsk ol the
Securty

Which one renders high profitability?
(A) Ssset (B} Balance shoat
(C) Inventory (D) Equity

In response to market expectations, the credit
perod has been increased from 45 days to €0
days. This would resultin a
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578 Advanced PPSC MCQs Model Papers (Volume 2)

(A) Decreasein sales
(8) Decreaselin deblors
(C) Increase in bad debls
(D) Blocking of funds f

res are Issued oul of.
F::lmga?taal reserve  (B) Free reserve
(C) Share premium (D) None of Ihese

Which body prepare ond publish audit

dards:
?ﬂnln:ema:iﬂnal Auditing and Assurance

Standards Board
(B} Interational Federallon of Accountanls

(C) Generally Accepled Audiling Standards
(D) None of these

@ The shorcut to add new slide In power point

27.

28.

is:
{A) CtrieM (B) Clrl+N
(C) Cirl+0 (D) Ctrl+P
30. Investment decision making traditionally

consisis of two sleps : 1
(A) Investment banking and security analysis
(B) Buying and selling

(C) Risk and expected return

(D) Security  analysis  and portfolio
managements o
11, An advertisemanl which conceal organization
identity:

{A) Display advertising
{B) Blind advertising
(C) Native adverlising
(D} None of these

32. Each element having equal chances of

selection is called:

(A) Probability

(B) Neon-probalility
(C) Stratfied sampling

(D) Qusta sampling
@NI India Muslim League cbserved the “Direct

Action Day” on:
(A) August06, 1944 (B) August 28, 1945

(C) August 1B, 1846 (D) Augusl 02, 1947
34\ When Mushtag Ahmad Khan died:
(A) 2012 (B) 2014
(C) 2016 (D) 2018

35. Banks realize dividend and interest on behall
of customer is included in”
(A) Beneficiary (B) Agency
(C) Nominge (D) None of these

36 Which is the primary actwity of o commercial
bank?
(A) Maintaining deposil accounts mncluding
current accounts
(B) Issue and pay cheques
(C) Collect cheques for the bank's cusiomers
(D) Al of these

37.) Consider the following stalements relating to
the Word Trade Organizalion (WTO)
(A) The WTO deals with the global rules of

a8

38.

a1

42.

43

44,

trade between natians,

(B) The goal of the WTQ is to help producers
ol goods and services, exporters and
importers to conduct their business.

(C) The WTO, which is a successer body of
the General Agreement on Tanffs and
Trade, came Into being following the
Uruguay Round of Negoliations.

{D) All of these

Which Is the most caommon measure of central

lendency?
{A) Mean (B) Median
(C) Mode (D) Range

Diversificalion as a ool for reducing risk by:
(A) Holding mare assels is always belter than

holding fewer
(B) Intaresting in more than cne asset

(C) Porifolio losses be prevenied
(D) None of these

The sum of the first five prime numbers 1s:

(A) 24 (8) 26
(C) 28 (D) 30
Solution

Required sum =(2+3+5+7+11]=28
Mota: 105 not @ prime number.

When  gavernment revenue  excesds
government expenditure, it is known as
= budget.

(A) Surplus (B) Zero

(C) Balanced (D) Deficit

World Bank Is also known as:

(A) Imternational Bank for Davelopment

(B) International Bank for Recenstruction and
Development

(C) International Bank for Infrastructure and
Development

(D) International
Developmeant

Which of the following is an example of
nonverbal communication?
(A) An online blog where employees N
differant cities can share ideas
(B) A company logo designed to project the
grganization’s image
(C) An emall message reminding employees
of an upcoming staff meeting ;
(D) A phone call from attorney to a client
It principal =Rs 1,00,000, Rate of interest
=10% compounded half yearly Find amount
after one year
Y003 (B) Rs. 110250

(A) Rs. 110024
(C) Rs. 100400 (C) Rs. 110850

Solutlon:

The formula for compound interest [s:
A= P rf100)

M s Amount

P = Mrincipal

Bank for Design and
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45,

4B,

47

48.

49.

50,

9.

¢ = rate of interest

n = conversion period

n the given problem statement :

p= RS 1,00,000

r=5%

n = 6 months

(i) Interest for six months

A= 1,00,000(1 + 5/100)'

= 1,00,000(1 + 0.05)

= ],m‘ﬂﬂﬂ{ Iﬂf‘"

=1,05,000

interest for six months = 1,05,000 - 1,00,000
= HSSDD‘D

(ii) Amount for six Manths = Rs. 1,05.000
(ili}) Interest for next six menths

A =1,05,000(1 + 5/100)

= 1,05,000{1.05)

=1,10,250

Interest for next six months = Rs. 1,10,250 - Rs.
1,10,000

=Rs. 5,250

(v} Amount for One year = Rs. 1,10,250

Which is not a characleristic of a service?
(A) Vanability (B) Intangibility
(C) Inseparability (D) Mone of these

Petty cash is a part of;
{A) Cash book (B) Cash receipl
(C) Expense book (D) Expenditure book

Which of the following can be distributed
among the shareholders?

{A) Capital reserve

(B) General reserve

{C) Revaluation reserve

(D} MNone of these

Strategy is developed by the visionary chief
gxscutive in

manageament

(A) Planning mode

(B) Adaptive mode

(C) Strategic mode

{0) Entrepreneurial mode

The doctrine of impossibility of performance,
fendering a contract void, s based on:

{A) a commercial impossibility

(B) a supervening impossibility

(C) just and reasonable ground

(D) an unjust enrichment

Price elasticity of demand that is
called inelastic
(A) More than 1
(C) Equalto1

Debt is a part of:
{A) Working capital (B) Financial equity
(C) Capital structure (D) None of these

(B) Lessihan1
(D) MNone of lhese

mode of stratlegic.

Papers of 2023

52. The types
o l‘.;:t;'l'? mn:l gt?ﬂud that are tangible in nature

classified ns.  Conoumed in few uses are
(A} Durable qoods

(1) "'DT'I-UUFEIHH gonds

(C) Services

(D) Augmentad gasds

93, Selling expenses includas in
(A) Material east (B) Labaur cost

C)[C] Adverlising cosl (D) Farctary cost
5

43\ International Women's Day is celebratad each
year on. i

(A) 6 March

{C) 10 March
(55, ')'Cﬂp it all" means:
(A) Tocovereveryiting (B] Toseiza

{C) To finish (D) Tooccur

56. The sum of deviations taken from mean is
(A} O B) 1
(C) 2 (D) 3

S7. Audit evidence is considerad sufficiant when
(A) There is enough cof it to affard a
reasonable basis for an opinion eon
financial statements.

579

{B) B March
{D} 12 March

(B) 1t has been obtained by random selection.
(C) Itis competent.
(D) It has the qualilies of being relevant,

objective, and free frem known bias.

58. The career-related conseguence of the

idela{.rering of organisations most likely option

s:

(A) A higher proportion of job moves being
demotion

{B) Promation being a bigger step when it
happens

{C) Lateral moves becoming scarcer

(D) All of these

59. Preference shareholders are of the
company.
(A) Credilors
{C) Customers

60. Which of the following statemen!s are
incarrect?
(A) Services are imtangible
{B) Services are perishable _
(C) Services can be co-produced with
cuslomers
([} Services are invariable

61, The two Internal elements of SWOT analysis
are;
iA) Wenknesses and threats
(B) Opportunities and Ihreats
{C) Strength and weaknesses
{0) Strengths and threats

62. An organizational structure in which more th==
one type ol departmentalization |s employed Is

called
(A) Mixed departmentalization

(Bl Owners
(D) Bormmowers
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(C) Matrix form
(D) Centralization
§3. Roshaneh Zafar is the founder of
(A) Citizen foundation
(B) Alkhidmat Foundation
(C) Kashf foundatian
(D) None of these
64 He said to her, "What a cold day!”
{A) He lold her thal it was a cold day
(B) He exclaimed that it was a cold day.
(C) He exclaimed that it was a very cold day
(D) He exclaimed sorrowfully that it was a
cold day.

@Sﬁnmf{--‘l‘mr written by:

(A) Josh Malehabadi
{B) Jigar Moradabadi
(C) Abdul Halim Sharar

(D) Nene of these
l EE.i The Partition of Bengal was occurred on:
(A) 16 Oclober 1905 (B) 18 October 1905

(C) 20 October 18905 (D) 22 October 1905

He said, "Be quiet and listen to my words.”
{A) He urged them to be guiet and listen to

his words.
(B} He asked them to be guiet and listen to
his words.
{C} He urged them to be quiet and listen to
© my words.
(D) He requests them to be quiat and listen 1o
his words.
@Hﬁme the country which is nat a neighber of
Pakistan:
{A) Iran {B) Afghanistan
(C) Russia (D) China

69. Objecls like glass through which things can be
seen clearly are called:
(A) Miscible objects
{B) Transparent abjects
(C) Translucent objects
(D) Opaque objects

70. Which of the fcllowing gases is the maost
harmful to the ozone layer
(A) Carban dioxide
(B) Chlorofluorocarban
(C) MNitrogen cxide
(D) Sulphur dioxide

71. '_I.I'l.'hinh of these oplions, apart from cash, are
instruments 1o dislnbute  profits 1o
shareholders?

(A} Stock purchase
(C) Stock split

72\ World Wide Web is:
— (A) Worldwide connection far computers
- (B) Another name for inlernet
(C) A collection of werldwide information
(D) A collection of linked information residing
&n compulers connected by the internet

(B} Bonus shares
(D) All of lhese

Advanced PPSC MGM%Q
lizat 73./He aimed the flying bird.
(B) Process departmentalization ' ot o\

(C) of (D} with

74. | Which surah ils called preface of Holy Quran:
{A} Surah Faleha {B) Surah Rehman
(C) Surah Yaseen (D) None of these

75 \Which ancient city 15 considered as "Pearl of
Gandhara Ciwvilization™.

(A) Hasab Abdal (B) Taxila
(C) Wah (D) Kamra

76. is the subject matter o
Macroeconomics

(A) Factory pricing  (8) Growth theary
(C) Individual incomes
(D) Market structures

77. Joint venture account is a’
(A} Nominal account (B) Personal account
(C) Real account (D) Dummy account

@ 1 Gigabyte is equal lo .
(A) 1024 bits
(B) 1024 megabyles

(C) 1024 kilobyles
{D} None of these

79.] Government run by cfficials is called:
(A) Democracy (B) Gerontocracy
(C) Bureaucracy
(D) Kakistocracy

80. The basic factors of production are land,
labour, capital and:
{A) Enterprise {B) Investment
{C) Machinery (D) Resources -

81. US entered into World War |l due 1o
{A) Annexation of Poland by Germany
(B} Aerial bombing on Poland
(C) Japanese attack on Pear! Harbour
(D) Non-payment of dues by Germans

82. Which keyword is used to find the number of
values in a column?
{A) Total (B) Count
(C) Add (D) Sum

Who invented computer:
(A) Charles Babbage (B) Fahrenheil
(C) Howard Aiken (D) Vint Cerf

84. Which of the following is a measure to reduce
inequality of income?
(A) Promotion of industnes
(B) Socal secunties 1
(C) Granting of credit to poor an concessiond
rate
(D) None of these
@ The author of the wealth of nationis
(A) Adam Smith  (B) William Robins
(C) Ravid Recardo (D) None of these

86 The difference between desired sewi:e!:"'lg
the level of service considered adequd

known as:

(A) Service Quality (B) Service failures
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(C) Tolerance Zone (D) Service recovery
Synonym of Hallowed:
he concept of i
7. Iejelnped hfrr of consumer surplus was Eg:; E:min-_.rad (8) Sacred
(A) Marshal (B) Gotham o6 istorical (D) Ancient
(C) Benethan (D) None of these ' ?g‘a;rfn?;?ﬁzﬁglmkﬁ place between 9 and
B. Whll':%"rflar“e’:: of selling goods directly to (A) Stockholm  (B) Rome
;::pulle_e ough a network of self-employed ['2_3‘.- _Grasgnw (D) None of these
(A) Multilevel marketing 97. Liabilities are which of the following:
{B) Whole sale marketing (A) Resources (B) Oblipations
(C) Vertical marketing (C) Fulure benefits (D) Expenses
O e e B 1 of e 1iOWing BoCOUnEE:
' . I o which of he following accounts:
89. .:.Igp::;:eptmnal demand curve is one thal (A) Sales income account g unts
{A) Upward to the left I:g} Sales accounl
(B) Downward to the right iD] Relurn Inward accounl
(C} Upward to the right (D) Expenses accounl
(D) Honzontally g9, ”.TE “m?,t of rE(}iremeSt of a partner the
i i . o existing partners decided to value ol Stock
@):& ;‘1:"';3;?5'53" F'ak:stantbeﬂaﬂ 1;1§EHEpublm: from Rs. 10,000 to Rs. 12,500, Building from
(C) 1962 D} Lo Rs. 50,000 to Rs, 52,500, Sundry creditors
(L) from Rs. 12,000 to Rs. 13,000 and also
g1. Authorized share capital is also known as: agreed 1o lake on record unrecorded liability
(A) Registered capital of Rs.2000. What is the profit or loss on
(B) Issued capital revaluation of Assets and liabilities?
(C) Paid up capital (A) Rs. 2000 profit (B) Rs. 2000 loss
(D) Mone of these (C) Rs. 3500 profit {D) Rs. 3500 loss
92. Net loss occurs when: Solution
(A) Expenses are greater than income It can be solved In simple way
{B:| EIPEHSEE are |E:.';5 than income Proflit = HEEUU-IIUUU:I + IEIEW-SDQUUI - 13000-
(C) Liabilities are greater than income 12000} - 2000
(D) None of these = 2500+2500-1000-2000
83 The assels that can be converted info cash =5000-3000= 2000 profit
wilhin a short period (i.e. 1 year of less) are . .
known as: i Sl =5 p 3/ Y agn100
(A) Current assets  (B) Eixed assels M - & ST
(C) Intangible assets (D) Investments Tj‘—fu{;": _it-.:..;u"_'_-, P RLE
84, tiuuid Ratio Is equal lo liquid assets divided I|_...-d‘1._.- (m 8 (A)
y .
(A) Current Liabilities ,_,r_'j J,r,;_hﬁ;u (m J.]' _,-13.] (i
(B) Total Liabilities
(C) Contingent Liabilities
(D) None of these
Answer Key o o
1 40 C 53 C 66 A 92. A
2 g :; ﬁ 12-"; g 41. A 54 B 67. A 80. A 83 A
T A £ c 29 a 49 B s Cc 6 C 8. C 84 A
i ' i 56 A 69. B §2. B 95. B
¢ ¢ 1 c %0 4D 0 B 8. A 9% C
s ¢ 8 B, 3 B % 8 o AN b s B o1 B
6. A 32 A : : ' ' '
¢4 w8l R L G o2b B4 8T owoa
& A 2. B 3 0 o5 g Cc T A 87. A~ 100 B
9 8 22. B 35 B > g 62 A T g & A
0 ¢ 23 B 36 0O ¥ 5 g5 oc 76 8 2 'c
1. . D 24 D 37. D 5{; C g4 C 77.. A 90. B
2 ¢ 2 c ¥ A 35 g 8 700 91. A
13 A 26, D 39. B 52. 1
PP E E A A
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ASSISTANT DIRECTOR ACCOUNTS / BUDGET AND

ACCOUNTS OFFICER / ACCOUNTS OFFICER / AUDIT OFFICER
(BS-17)-2023 12-02-2023-40D2022

Stock exchange is known as
marke! for securilies.

(A) Primary market

(B) Secondary market

(C) Capital market
(D) Service value and monetary cost

Right shares are the shares:

(A) Offered 1o the
shareholders
(B) Issued by a newly formed company

(C) Legally issued to the public at large

exisling

equily

(D) That have a right of redemption

Net profit ratio is a:
(A) Long term solvency ratio
(B) Short term solvency ratio

(C) Turnover ratio

(D) Profitability ratio

Liquid ratio is also known as ratio:

(A) Inventory (B) Current

(C) Acid test (D) Debt equity

In his traditional role the finance manager is
responsible for :
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572 Advanced PPSC MCQs Model Papers {Valume 2)
(A} Arrangement of financial resources 16. A series of constant cash flows that occur at
(B) Acquinng captal  assels of  the the end of each period for some fixed number
organization of periods is .
(C) Efficient management of capital (A) Ormnlar-,r annuity
(D) Proper utilization of funds {g’ J:I‘nTl:llt!}f due
6 Control of Ir.nnnnul planning is  key :D::: P:f:ghﬂj.:::ﬁh Nows
responsibility o
(A) Treasury management 17. Process of wenfying the documentary
(B) Authontative management evidences of Iransactions are known as
(C) Partcipative managemenl (A) Auditing (B) Vouching
(D) None of lhese (C) Testing (D) Verification
7 Hawving some overall goal in mind, financial 18. Zero Coupon Bond is also known as:
management is concerned with: (A) Deep discount bond
(A) Financing ol assels (B) Bearer bond
(B) Acquisition of assets (C) Zero interes! bond
(C) Management of assels (D) Irredeemable bond
(D) Allof these 19. An efficient market hypothesis states all public
8. Bonds with longer maturities generally have information which is reflected in current
interest rale risk market prices is classified as:
(A) Higher (B) Lower (A) Strong form efficiency
(C) Depends on the type of bond (B) Weak form efficiency
(D) None of these (C) Semi strong efficiency
9. Patents, Copyrights and Trademarks are: (D) Market efficiency
(A) Investments (B) Intangible assets 20. The firm operate, produce, market all over the
(C) Current assets (D) Fixed assels world is called:
10. When the coupon rate is less than the {g]' gltebn;ﬂ!?;alﬁnn
qut;l‘&d rate of return the discount on the EC:; Ljrgited 'Fiab'rllrr company
bon as maturity approaches.
(A) Increases (B) Decreases (D) None of these
(C) Does not change 21. A feasibility study considers all of the aspects
(D) First decreases then increases of prnjec_t, iq:_iuding_: _
11. Which of the following is not a current asset? {g] ;1'-‘3"2@""‘;' of I'TE and capacity
(A) Temporary investment (B) Financial resources
(B) Salary paid in advance (C) Market demand
(D) Preliminary expenses 22. Land revenue assigned to jagirdar used for:
12. Money Market is an in which only [S} ggncultqm]mmrpe purposes
short-term  debt instruments (maturity less EC; P:?ﬁﬁﬁ‘ﬁ*‘:ﬂ‘i‘ﬂfwﬂ
than one year) are traded. rpos
(A) Financial market (D) None of these
(B) Security market 23. A market for wholesale loans and deposits
Repeated @ (C) Secondary market traded between banks is called:
#PPSC 2021 (D) All of these (A) Interbank market
NAH# clands fﬂf: ﬁ' (1994) {E} I'I'I\I'E’E_'!ﬂr market
(A) North American Free Trade Agreement (C) Subsidiary market
::'gi :uﬂg is:an Fre?: Trade Agreement (D) None of these
orth American Free Trade Association 24. Government made poli r industria
(D) None of these sector is called: ooy Tor the, ind |
14. A is a polential obligation thal (A) Factories policy (B) Industrial policy
may aE:;se from ‘an event that has not yet (C) Distributive policy (D) Regulatory policy
occurred. 25. Which one of ing becom
(A) Currgnt liabilities creative fa;nr?n ;r;umiwng e 3
(B) Contingent hability A '
(C) Long term liabilii ) tand (8) Capia
(D) Hang of ths.-l-:?ea“IEE (C) Consumers (D) Human resources
. " 26. Which factor has been fhe most rapi
15. Cﬂn'ﬂht”f.ﬂ‘ﬂ ﬂ:lafgln is also known as: l:hanging :Dmpgnem in an Uqa'ﬂ:ﬂhﬁg!‘:
(A) Marginal income (B) Gross profit general environment in lhe past gquarter-
(C) Net profit __(D) Netloss century:

//T he North American Free Trade Agreement is

an agreement signed by Canada, Mexico & United States
The agreement came into force on Junary 1, 1994

The Purpose to establish was to remove tarrif barriers to

the exchage of goods and services among the three countries
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The North American Free Trade Agreement is
an agreement  signed by

Canada, Mexico & United States

The agreement came into force on

Junary 1, 1994

The Purpose to establish was

to remove tarrif barriers to 

the exchage of goods and services among the three countries

(1994)

Repeated Q
#PPSC 2021


(R} Social

(A Globs
(L1 Technatogcal (11 Economic
27 The man opermbon expenses of a business

nre rfrr'nr'.! AL

(A) Operaling expenss
(B1 Agmenstralion expense
{C) Nos-admin sirplion expense
(D) Selling expense

28 The pimary objective of cost accounting is lo
(A} Ascerlan the cost of goods and sprvices

(B) Ascertain the profit
(C1 Imveniony valuahon
{I:" Fixaton of ,"-!"ll-ﬂ,:] price

258 Agency theory suggests that managers (the
agents) particularly those of large, publically-
owned firms, may have different objectives
from those of the
(&) Workers
(C) Employees

30. Inventory Period
Penod is called:

(A) Cash cycle
{C) Collective cycle

31. Fixed assets turmnover ratio is a
(A} Leng-term solvency ratio
(E) Shori-term solvency ratio
{C) Tumover ralio
(D) Profitability ratio

12. The folicwing factor would be relatively low if

supply of labor is higher than demand:

(&) Production (B} Labor cost

(C) Wage (D) All of these

is the phase of an audit where the
auditor gathers samples to identify any
matenal misstatements in  the client's
accounting records or other data.

(A) Substantive testing

(E) Control testing

(C) Detective testing

(D) None of these

34. Balance Sheet shows .

[A) ;he financial performance at particular
ate
(B) The financial position at particular date
(C) The financial position for an accounting
period
(D) The financial
accounting period

35. Income statement is also known as:
(A) Statement of earnings
(B) Statement of balance sheet
(C) Statement of income
(D) Statement of operations

36. Which statement shows the flow of cash
cash equivalents during the financial pes
(A) Statement of changes in equj
(B) Cash flow statement
(C) Balance sh

(B) Subordinates
{2} Shareholders

+ Accounts Receivabla

(B) Operating cycle
(D) None of these

=d.

performance for an

Papers of 2023 573
(M Income siatemoent
17 Monopolistic compatition differs from perfect
compoetilion pnmarily because
{A] Monopobstic  compelilion,  firms  can
dilferentinte their products
(A} Perlect compelihon, firms can
diffsrentiate their products
monapolstic  competition,  industry

(2} n
produces all of the market supply of

goods
(3} None of thesae
A8, A nationwide electronic funds transfer netwaork
which enables participating banks/flinancial
institutions lo distribute electronic credit and
debit enlries lo bank accounts and to settls
such entrias is termed as:
(A) Clearing bank
(B) Claaring house
{C) Clearing cheque
(0} Certificate of Deposits
3a. The maximum amount beyond which a
company is nol allowed to raise funds by
issue of shares is:
(A) Issue capital
{(B) Reserve capital
(C) Nominal capital
(D} Subscribed capital
40. Ratio of net profit before interest and tax to

sales is:
(A) Capital gearing
(B) Solvency ratio
(C) QCperaling profit ratio
(D) None of these
41. The capital budgeting in which we check in
how ‘many year initial investment is cover is
called:
(A) Net present Value
(8) Internal rate of return
{C) Payback period
(D} Discounted cash flow

42. ‘u{aﬂable manufacturing overhead (VMOH)
-~ Fixed manufacturing overhead (FMOH) is a

part of:

(A) Standard cost

(B) Manufacturing overhead cost
(C) Aclivity based cost

(D) Marginal overhead cost

We can remove / hide border of a shape by

selecting:
(A) Noline (B) No outline
(C) White line (D) No border

The best way to insert a new slide in a

presentation is to use the:

(A) Normal view (B) Special view
(C) Slide sorter view (C) None of these
Which of the following pane is not available

Task Pane?
(A) Gelling started  (B) Clip Art

3 v/ Slide Sorter can be accessed though menu.
Ans= View #PPSC 2019
In Microsoft Powerpoint in order to see all the slides
on one screen use:
Ans= View Slide Sorter #PPSC 2016

The view that displays the slides of a presentation as
miniature representations of the slides is called:

Ans= Slide Sorter View #PPSC 2021

v/  Slide Sorter of PowerPoint is available on menu

Ans= View #PPSC 2021, 2022
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Slide Sorter can be accessed though_____menu.
Ans=

View

In Microsoft Powerpoint in  order to see all the slides on one screen use:

Ans=

View Slide Sorter

The view that displays the slides of a presentation as miniature representations of the slides is called:

Ans=

Slide Sorter View

#PPSC 2021

#PPSC 2019

#PPSC 2016

Slide Sorter of PowerPoint is available on____menu

Ans=

View

#PPSC 2021, 2022
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pane cannot be found in PowerPoint:

‘[\ Ans= Word Art # PPSC 2018, 2021

W01 Ward Art (D) Search resulls

s tarm depletion apphes o decrease In
valie ll.l"r
A Cuorrent assed (B Wasling assel
C) Tangble asset (D) Intangible assel
o uzually shown in Balance Sheel at;

47 Asspls a

(aAY Unespyred cost

| Replacement cosl
|'\1' Kevalue o8l

[ Markel value

- LT |
MS Wora
A Ctri+Enter

C':"::I What s the shortcut-key for manual line break

(B} Shift+Enter
() Alt+Enter (D) None of these

A Jont Stock Company is managed by
“'f.' Owner (B} Shareholders
| Secretary (D) Board of Directors

Which of the following are actions you can
assian to an action button or slide object?

gfﬂ Run a macro (B) Play a sound
(C) Hyperlink (D) All of these

S1. is the a .
malenal cost garegate of direct
matenal cosl, direct lab |
expenses, O cost, and direct
(A} Prime cost

5
ns ki

In latest generation computers, the
instructions are executed both
sequentially an parallely. In computer
{CJ Variable cosli science, an instruction is a single
operation of a processor defined by

D) Non
{ J e of thESE the processor instruction set.

32. Guarantee made b i
bank for import is cgﬂ;g:npsﬁ'ﬁank 1@ Yorsion
(A) Latter of assurance
(8] Letter of credit
(C) Deferred payment letter
(D) None of these

53. ;Ln}plgl cost is also known as:
omponent cost (B i
(C) Notional cost ) Incraanity cost

(D) Incremental cost
@ What does 5*2 in Word?

(A) 5rows 2 columns (B
(C) 52 eolumns [{D,": gchriﬁ.?;ns S 1w

55 What happens if
I:-:;E;ﬁaﬂpd then u::IiEtI:T:J unnsell?:ir g?iif:nguﬁgﬁﬂgﬂ
(A ide is |
{E: Er:%%:;%zé:i:i: Inserted as first slige in
L iukrad serted as secong slide in
;:'ETET:t ast'iludfr is inserted as third slide jn
Noene of these

96.) Who coined the
. name of Uniteq Nati
{fg; itﬂn[__ F B) F. R:g:::;t
= - Nennedy (D) None of these
. Bank pass book js also known as-

Bank book (B
) Bank a
(C) Bank column (D) Bank st;ﬁ:'.r:'lnént

\/ The Olympic Games are held after: Four Years

(B) Text

Word Art option exists in:  (A) Set up
imi (D) Slides

2 #PPSC 2020 C) Timin

58 Which statement is correct: Agency conf]

minimized by:
(A) Increasing share of debl by bond hm%t

stockholder )
(B) Restructuring remuneration
(C) Both are correcl
(D) Both are incorrect
59, Residual value is the: .
(A) Value of the asset when il is pumha,h
(B) Value of the assel at the end of its |y,
life |
(C) Cost of lhe asset
(D) Allocation of the cosl

@ Which bank gave monetary policy in
Pakistan?
(A) State Bank of Pakistan
(B) National Bank of Pakistan
(C) International Monetary Fund
(D) None of these

61. P/V ratio shows the
(A) Profit earning capability
(B) Profit and Volume
(C) Safety margin
(D) None of these

62. Which item comes under fi i ivities |
E:ash L ted nancial activities
A) Redemption of Preference Sha
(B) Issue of Preference Share ©
(C) Interest paid
(D) All of these

4

ratio.

computers,  the

63. Inlatest generation
m;trun:tinns are executed:
(A) Parallel (B) Sequentially

(C) BothA & B

64. Cash budget include:

(A) Dividend payable (B
. P -
C) Issue of capital (D] Aﬁtﬂheexsp;enduum

65. Which of the following i
in
(A) Security premiungn :cgﬁ:?”ue reserve?
Eg% Sapltal reserve
apital redemption
(D) None of th35ep ranve

None of these

Random Access Memory

@ Where is RAM located?
.{A,‘l Motherboard (B) Expansiuﬂ

(C) External drive (D) None of thel:lmn:l
7. Pak;staq first participated in th y
Games in; #rpsc 2018 ©  Olympic
(A) 1947 (B) 1948
(C) 1949 (D) 1950
- )Sami Ullah Khan was the pl
(A) Crfckgt {Eﬁpl-?ggl:: 2
Tennis (D) Succef

. Market contro| Process consists-

(A) Formation of Performance 5'1
"(B) Performance Appraisal Ndarqs
(C) Correcling Deviation-

(D) All of the~~

"Flying Horse" was nick name of which Pakistani Player:
Ans= Sami Ullah Khan #PPSC 2021,2022
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70, Bank overdraft is a
(A) Current hability
(C) Current asset

(B rlajl_'lllrlg{:'l'lt lability
(D} None of thesa

?‘. The stalement of cash flow elarifies cash flows
according to
(A] Inflow and Dutflow
(B) Operaling, Investing, and Financing
VRS
(C) Uperaung and non-operating Flows
(D) None of these
72, Microeconomics theory is also known as:

(A) Price theory (B) Surety theory
(C) Capital consumption theory
(D) None of these

The basic financial statements include:

(A) Stalement of Cash Flows

(B) Statement of Retained Earnings

(C) Balance Sheet and Income Statement
(D) All of these

Which of following is not an element of
computer spreadsheet interface?

(A) Active cell (B) Menu bar

(C) Pencil work (D) Workbook

Which of the following is an absolute cell

73,

Q

reference:
{A) #a¥1 (B) 1A
(C) A1 (D) SA%1

76. Performance measurement is:
(A) The determination of improvement efforts
(B) The process of quantifying aclion
(C) The improvement of cperations
(D) The planning and contral of operations,

77.) The slide that is used to introduce a topic and
set the tone for the presentation is called the:
(A) Table slide {B) Graph slide

|

(C) Title slide (D) Bullet slide
ﬁ When WW2 ended:

(A) 1944 (B) 1945

(C) 1942 (D) None of these
is a Pakistani jurist who has been

Justice of the Islama
(A) Tahira Dazi
(C) Ayesha Malik

80. The parties 1o joint venture are called:
(A) Principal and agent
(B) Friends
(C) Co-ventures
(D) Partners

i";l_w Primary purpose of an operating system

bad High Court (IHC).
(B) Lubna Saleem
(D) None of these

g1.

(A) To make the mq
Computer hardwa

(B) Toallow people 1o yse the computer

(C) Tokeep systems Programmers employed

(D) To make computers easier to use

Income from Property held under trust for

st efficient use of the
re

charitable or religious purposes is:

Papers of 2023 575

(M) Exempled rom tax
(B) Taxable @ 10%
(C) Taxable @ 20%
(D) Mone of thase

83. Verification of the value of assets, liabilities,
the balance of reserves, provision and the
amount of profit earned or loss suffered a firm
is called
(A} Continuous audit
(B) Inlerim audit
(C) Balance sheel audit
(D) Partial audit

B4. Undistributed profits are also known as: _
(A) Corporate saving (B) Relained earning
(C) General reserve (D) All of these

85. The concept of reliability refers to:
(A) Objectivity of instructions
(B) Purpose of measurement
(C) Caonsistency of scores
(D) Uniformity of scoring

86. The difference between assets and liabilities

is called as:
(A) Drawings (B) Capital
(C) Income (D) Expenses
87. Financial planning for Long term and seasonal
expense is:
(A) Best (B) Worst

(C) Aggressive (D) Conservative

@ A smart tag will be removed from a cell when:
(A) The cellis hidden

(B) The cell is moved

(C) The formatting of the cell is changed

(D) The data in the cell is changed or deleted

Which of the following you can paste
selectively using Paste Special Comm and:

(A) Validation (B) Formats

(C) Formulas (D) All of these

90. Leadership motivates the people to work and

not the power of money", this concept is
related to
(A) Autocratic model (B) Custodial model
(C) Supportive model (D) Collegial model
A speech made without preparation is:
{A) Extempore (B) Speech q)
(C) Debate (D) Prepared ]D 7
Antonym of Wean is: v
(A) Attach (B) Detach LY/
(C) Discourage (D) Halt

93. A current account surplus implies that:

(A) The country is a net lender to the rest of
the world

(B) The country is runnin
account surplus

(C) Foreign investment in domestic securit
Is at very low levels

(D) None of these

g a nel capital

iy
=

To cause a baby or young amingl
to stop feeding on its mother's mil
and to start eating other food
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o4. Which of the following is not an element of
credit policy?
(A} Collection policy
{B) Credit lerms
(C) Sales price
(D) Cash discounl price

is a type of preferred stock that
provides a grealer guarantee of dividend
paymenls Lo its holders
(A} Cumulative preferred slock
(B8) Non-cumulalive preferred stock
{C) Common stock
(D} None of these

is a type of computer memory that
can relain stored information even after power
Is removed.
(A) Volatile memory
{B) Non-Volalile memory
(C) BothAEB
(D) None of these

97. Electronic magnified information is called
(A) E-commerce
{B) Digital business

85.

8G.

(C) Electronic business
(D) None of these

The is the rale of interest an
invesiar. saver or lender receives (or expects
to receive) after allowing for inflation

(A) Prime interest rate

(B) Real interest rale

(C) Variable interesl rate

(D) None of these
The first Network was called:

(A) CHNNET (B) ASAPNET
(C) ARPAMNET (D) NSFNET

100.The net present value is:

(A) is calculated by discounling all cash fNlows
lo present value and subtracting outflows
from inflows

(B) calculates the rate of return which leaves
you indifferent belween underaking the
project, and not undertaking the project

(C) leads o lhe same decisions as the use of
the payback period

(D) None of these

98.

Answer Key
1. B 14. B 27. A 40 C 53. C 66. A 79. B 92. A
2 A 15. A 28 A 41. C 54. A 67. B Bo. C 93. A
3. D 16. A 29. D 42. B 55. C 68. B 81. A g4 C
4 C 17. B 30. B 43. B 56. B 69. D B2 A 95, A
5 A 18. A 31. C 44, C 57. D 70. A g3 C 96. B
6. A 19. C 32. C 45, C 58. - 71. B B4. D 7. D
7. D 20. B 33 A 46. B 59. B 72. A 85. C 98. B
8. A 21, D 34. B 47. A 60. A 73. D 86. B g3. C
9, B 22, A 35, C 48 B8 61. B 74. C 87. - 100. A
10. B 23 A 3% B 4. D 62. D 75 D 868. D
11. D 24 B 3. A 5. D 63. C 76, B 8. D
12. A 25 B 3. B 51. A 64. D 77. C 90. B
13. A 26. C 38 c 52 B 65. A 78. B 91. A
P09 00000
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Add No0.3/2023
Case N0.2C2023

Syllabus

General Knowledge
(Objective 100 Marks)

Current Governer of State Bank of Pakistan

Jameel Ahmad since 19 August, 2022

S = = ey
COMBINED COMPETITIVE EXAMINATION-2022 (PMS-2022) (
17) SERVICES & GENERAL ADMINISTRATION DEPARTMENT
(04/06/2023)

- . ) (C) 113 (D) 132
ictan i tten by:
[P;:lh'ﬂ:gasxg:;%n PDI%DISIﬁ?nT:h:;IAhm?d 8. The Sino-Indian war was fold;.-gfé In
(C) Hassan Askari (D) Maleeha Lodhi Eé; :gg; D) 1964
WT.’ was the first Governor of state bank 9. Which one of the following Page Onentaticn
Pa !:I!I:i-d Hussain .(B) Ishrat Hussain by :lﬂau{l;l is used in M?ﬂ?ﬁigular
(C) Shamshad Akhtar(D) Raza Bakir U Ponvait . (D) Standard
S T of l!_lmlm'..rjiI"hEI c: unztruyzt::ecame e Ul 10. Which of the following is the first Prnme
member of EU on anum?r Norway Minister of Pakistan to visit China
B) Ch. Muhammaad Al
4 ~Who was the second Governor-General of [EE} Liagat :II: H'.h:ln
Pakjslan: . geroz Khan Noon _
Khawaja Nazim-ud-Din 11. When Allama Shibli Nomani died:

(B) Sikandar Mirza " (A) August 18, 1911

{C?l Ghulam Muhammad EEE Segtember 18, 1912 Born on June 4, 1857
{D) Liagat Ali Khan (C) October 18, 1913

5 The book “Jinnah. The sole spokesman” is (@7 November 18, 1914

" der?
written by 12. What is the length of Pakistan China bor
(A) Syed Hassan Riaz (ﬁ‘ Ayesha Jalal ' M (B) 57% KM
rg:::; sranley Wolpert (D) Jaswant Singh Efg;; EM (D) 617 KM hunjerab Pass

6. Storage device that uses lasers and lights as \ Day’ is celebrated every year
its technology of reading and wrniting 13. 'World Ozone Day

. on:
information is known as ' ber B) 15 September
(A) Magnetic storage {EF Optical storage (A }g ggg{:ﬁber -Em 17 September
(C) Cloud storage (D) Paper storage _ reases with
7 Pakstan Happiness Development Index 2023: 14. The rate at w.h-,::h l_gmperatul'ﬂ S'IE:
(A} 103 B 108 ' increasing altitude is known a3
. Lapse rate
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15.

| (D) None of these

16.

AT.

18.

19.

20.

21.

22.

23.

24,

25.

26,

R
B

uhammad Ali Jinnah
Sir Khawajanazimuddin
Ghulam Muhammad
Iskandar Mirza

) Sounding -
C) Temperature slope

(D) Thermocline
Waris Shah was the author of:
Heer Ranjha

gassu Pannu
Eg; Qissa Sohni Mahiwal

Who was the last Viceroy of India:

William (B) Lord Harding
Eg']:: tg:g CI.IIrZDrI jﬂf"[urd Mounibatten

Who is the current Head n_f State in

Afghanist??:t -

A) Amir Mutagi

EB; Hassan Hamayoun Akhund
Haibat Ullah ‘Akhunzada

(D) Ashraf Ghani

How many govefnor generals ruled| over

Pakistan:
A} 3 27 4
& (0) 6

Who is the current Prime Minister qf Saudi
Arabia: .
(A) Farhan bin Faisal
(B), King Abdul Aziz
Mukammad bin Saliman
(D) None of these
When Dr. Abdul Qadeer Khan was Died:
(A} August 01, 2021

(B} September 19, 2021
QC} October 10, 2021

(D) November 25, 2021
How many Countries Share Border wilh

Pakistan:
(A) 03 o 04
(c) 05 (D) 06
Queen Elizabeth |l died on which date:
(A) 8 April 2022 -
(B} 8 July 2022 _
1’ 8 September 2022

(D) 8 October 2022 -

Which of the following state was acceded lo
Pakistan on 15" August 1947: :

(A) Jodhpur . @7 Junagarh

(C) Hyderabad (D) Swat

Pasteurization of milk depends on:

{A) Temperature (B) Time
Alexandar Fleming
( 'in 1928 )
(D) Lister
12 Truss

{C) Quantity L BothA&B

) Graham Bell
T'."E_Preﬂe::eaanr of British Prime Minister
(C) Boris Johnson

ﬁ’nicirlin was discovered by:
) Louis Pasteur
I Sunak was:

(B) Theresa May
(D) David Cameron

Papers of 2023 617
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27.

28.

29.

30.

31.

32,

33.

34,

e, -'.-F_ _Ill
Tt RS r/'.ﬂ. It Shabid "
! N )
Maocenthons was the minister of: ol

(A) Napolean (B} Churchill
(C) Alexandar (D) None of these

Which of the following American President did

not visit Pakistan:
ember of ASEAN: ;',
10 .

(A) Dwight D. Eisenhower
(B) Lyndon B. Johnson
(C) Bill Clinton

g2¥ Barak Obama

How many countries are

(A) 8 8 August 1967
(C) 12~ ' Dy 15 Bangkot, Thailand
World Trade Organization was founded in:

(A) 1992 (B) 1993

(C) 1994 @ 1995

Regional Cooperation for Development .was
established in:

(A) 1962 (B) 1963
¥ 1964 (D) 1965

Which of the following is the default view of
MS Word:

(A) Draft (B) Web Layout

(g Print Layout (D) Full screen reading

How much percentage of Kashmir is under the
control of China:
(8) 10%

(A) 5%
@ris%s (D) 20% |
How much percentage of Kashmir is under, the

control of India:
(A) 25%
(C) 45%

(B) 35%
5

WE%
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1
35

36

37.

3B8.

39.

40.

41

42,

43.

44,

45,

46.

a7

48

47 Bahswalpur

dv pPSC MCQs Model Pa
Who was the PM of India during the Indo Pak
wagol 1965 i

Lal Bahadur Shastn
(B) Indira Gandhi
(C) Rajiv Gandhi
(D) Jawaharlal Nehru

Which of the following has maximum waler
content:
(A) Vegetable (B) Sauces

ruits (D) Mone of these

Nancy Pelosi is conlroversial in the news
because she visited which country.

(A) Malaysia Taiwan
(C) Hong Kong (D) Russia
The foundation stone of Quaid-e-Azam

Muhammad Ali Jinnah's Mausoleum was laid

by:

(A) Sikandar Mirza (B) Yahya Khan
W7 Ayub Khan (D) Zia-ul-Haq
The Fred Hollows foundation is an
international development organization
working for:

(A) Elminating Dumbness

W7 Eliminating avoidable blindness
(C) Eliminating Autism issues

(D) None of these

First secretary general of OIC was
(A) Ibrahim Taha

#7 Tunku Abdul Rehman
(C) Idv Amin

(D) None of these

Who is Jair Bolsonaro. .
(A) Mexico Premier (B) Switzerland PM
(C) haly President (¥ Brazil President

In which year nuclear lesl conducted by Ipdla.
(A) 197 1974

(C) 1976 (D) 1979

Sukarno belongs to'which country.

(A) Malaysia 7 Indonesia

(C) Egypt (D) Kazakhstan
Which was the first princely state 1o accede

Pakistan: B) Swal

(C) Umerkot (D) Chitral
Economic Cooperation Organization
established in:
(A) 1981 v 1985
(C) 1989 (D) 199

ary of State of USA:

nt Secret
?:r;ol::aﬁeEE:;E @7 Antony Biinken

(C) Mike Pompeo (D) Wilham Ea.rr
newly elected president of Brazil is:

:_rAhr Mrchii Temer (B) Jair E«::vl51‘.‘.n|-1am:~r1r

W& Lula da Silva (D) Dima Rousse

' d
¢ is gutter margin in Ms Wor
?:?Ea':argm that is added to the left margin

hen pninting .
(B) :rlargnn that 1s added 10 right margin when

was

Current Sec General
Hissein Brahim Tah

rs (Volume 2

Rprinting

J'C'J" Margin that is added 1o the Binding e o
page when printing

(D) Margin that 1s added to the outside of .
page when printing -

49. Brass gets discoloured in air because of

presence of which of the following gases i
air '
(A), Carbon dioxide
} Hydrogen Sulphide
(C) Mitrogen
(D) Ouygen

50. Diamond is an allotropic form of:

(A) Germanium arbon
(C) Silicon (D) Sulphur
51. What does BCC means in e-mail:
(A) Basic Carbon Card
(B) Business Carbon Copy
(C) Black Carbon Copy
hnd Carbon Copy

52 The formula of Quarz

IS
(&) Sio M’(Si{}z
(C) SiOy (D) S0

§3. Which country is not a member of SAARC:

(A) Afghanistan A \\yanmar
(C) Nepal (D) SnlLanka
54 Which country is not 3 member of ASEAN.
(A) Cambodia (B) Malaysia
(C) Indonesia o Bangladesh
55 Which of the following continent have no
desert
(A) Australa " Europe
(C) Amenca (D} Mone of these

56. Who was the father of Computer.
(A) DauglaﬁﬂEngelbaﬂ
4 Cnalres Babbage
(C) Steve Jobz (D) Allan Tunng

57. Which Mughal emperor buned in Lahore:

(A) Akbar (B) Shah Jahan
(C) Aurangzeb _
M None of these (Jahangir)

58 The Sustainable Development Goals (SDGs)

are a collection of interhinked
goals.

A) 14 (B) 15

ECI 16 M 17

DGs were set in 2015 by the
= EI;' flmted Nations General Assembly
(B) European Umion )

Amnesty International _ _
:g: United ﬁalluns Trustee Ship Councl

C was
rahio of last year income of A, B&
% ;:h:: 5. While thg ratio of their last ytarz -
income 10 current year income 1S 45 < '
3 4 respectively. If Therr Total current Fn:n e
income 15 Rs. 88500; Find the present |

F AT
(A) Rs 22400 &} Rs 22500
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61.

62.

67.

Rs.22700
(C) Rs.22600 © .

last year income of A,B,Care 3x,4x and Sx

:m: current income of ABCareabandc
:afl Jwe have
3w/a =43
3= 15%/4
for B ,we have
ax/b=2/3
b= 12”‘2 =6x .
for C, we have
sxfc=3/4
;:,:.,f current income is
15x/8 4 6x 4 20x/3 = 98500
LCM = 12
197x/12 = 98500
197x =1182000
X = 1182000/197 = 6000 "
t imcome of A = 15x/4 = 15x6000
= 22500 | o
-+ is the oldest freezing me =
:T%;mm freezing (B) Flash freezing
Brine freezing (D) None of these
refers to a pr&ma;:lﬁe images ready
A
in MS-Word documents.
(%), AutoShape (8) Autofil
Clipart (D) Wordart
Kashmiri leader Zakir Musa killed by India in
which year: ya,
(A) 2017 8 2019
(C) 2021 (D) 2023
Vaccine Was discovered by-
(A) Louis Pasteur (B) Jonas Salk )
Edward Jenner (D) Alexander Fleming
Which of the following gases has role an
impotant in  maintaining  atmospheric
temperature: @ o
(A) Nitrogen xygen
(C) Argon (@ Carbon dioxide
In slide layout panel how many layouls are
::Iailahla for text layout by default:
. (B) 7
(C) 12 (D) None of these
Which  of nd'ha following is not 3
monosaccharide?
#9) Lactose (B) Fructose
(C) Glucose (D) Glyceraldehyde
©8. Hemoglobin is soluble i
(3), Benzene (B) Alcohol
Water (D) None of these

69. The North Atlantic Treaty Organization was

formed in:

(A) 1948 ﬁf

{€) 1850 D) 1951
0 The

Tz difference between memory and

m_: Fast

71.

72

73.

74.

75.

76.

77.

78.

79.

—n Tt M LS

J Temporary, Perma
(C) Permanent, Tfmﬂ;:s?;
(D) MNone of these

Select the synon

19

Yym of ihe owen  word

VIRTUE ‘
(A) Faith (8) v
(C) Iniquity : Glsgﬂnu*..g

The true discount on Rs. 1760

! A d L L] ;-
certain time at 12% per annum -:LH:“Ii:j-:?
The time after which it is due is

(A) 5 months 10 months
{C) 15 monihs (D) 20 months
Solution

P.W = Rs. (1760 - 160) = Rs.1600

S.l on Rs.1600 at 12% is Rs. 160

Time = (100 x 160)/{1600 x 12) = 5/6 years = [5/6)
x 12 months = 10 months

The second president of US was:
(A) George Washington
(B) Thomas Jefferson

{271 John Adams (D) James Madison
Pakistan has constitution day on:

(A) 23 March 48T 10 April

(C) 14 August (D) 6 September

The International Human Rights Day is

observed on;
(B) 10 October

(A) 10 September
(C) 10 November  (Q#*TD December

Wind blowing in a spiral form around a region
of low atmospheric pressure is a.

(A) Tornado {B) Hurricane
J=€yclone (D) Anti cyclone
Treaty of Amritsar took place in:

X)) 1846 (B) 1857

(C) 1861 (D) 1935

The Iranian Deputy Foreign Minister Ali Raza
Akbari was hanged recently due to spying for.

M M6 (B) CIA

(C) Mossad (D) None of these
Which of the following company is nol owned
by Elon Musk:

(A) Starlink (B) Space X

(C) Tesla WWE

80. Solve the equation -BIEDé{+9.I’2:|-1E=

81.

82.

83.

84.

(A), 7/20 ) -3/20
=275 (D) -23/9
India test nuclear bomb in 1998 at:

(A) Rajasthan &7 Pokhran
(C) Eastern Ghats (D) None of these

National flag of Pakistan was adopted on.

A) 10 August 1947 11 August 194
E{Ci 14 ﬁ.ugusl‘laai? (D) 15 August 1947

Electron discovered by:
(A) Rutherford J.J Thomson
(C) James Chadwick (D) Gold Stein
Ahmed Nadeem Qasmi was not &

(A) Poet Novelist
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85.

87.

88.

89.

90.

91.

CENOMAWNS

"(C) Semiconductor

(C) Columnist (D) Short Story Author

Pakistan's National Flag was designed by:

(A) Hussnain Sadiq (B) Ahmad Chagla
Amir-ud-din Kidwai

(D) Abdur Rehman Chughtai

Which of the following inslitution was

established in 1864:

(A) MAO College Lahore

(B) Punjab Training College

(C) Islamia College Lahore

) Govt College Lahore

ftrhe destruction of Tsunami is measured by
its:

(A) Height (B) Momentum
(C) Predictability 7 None of these
EEHEHIE i5 a Pressure sensors

(7 Insulator

(D) None of these -

Which of the following is not a kind of non-

state actor: .

(A) Amnesty International '

&7 1515

(C) NATO

(D) international Red Crescent Society

Amnesly International is an organization for:

(A) Prevention of crimes -

(B), Solving issues between two states
Protection of Human Rights 1

(D) Proving loans to less developed countries

was awarded the 2021 Nobel Prize

e S—
in Literature.
(A) Louise Gluck

(A) Conductor

B) Herta Muller |
¥ Answer & o A 19 D %27
27 - 40. B 53 B : , - 8]
' 42 | | | ‘8
D 6. D 29 B c op o
43 B 56 B 8 s
A 6. 2 w0 %.8 2o n 6 2 8 ¥
8 @ 8 3 C | | 2w p 84 B g7.
¢ 45 B 568 D | .5
s 19.. G gg ¢ 46 B 59 A 72. B sg. g “ ¢
g g? g 4. D 47. C 60. E ;;: g S?' D 8
' 35 A 48 C 61 . er. 2
¢ 2. 49. B 62. C 75. D
%8 ' c 89 B
e 2. 2 B 50, B 63 B 76. 2
o % ﬂ g;.' c s b 64 C ;; :: g?: ¢
° oy A 39. B 528 65 D .
A cosbooeee?
Regards: |

Ral Waqgar Naseer
~Punjab Police
0345-4443826

(C) Alice Munro
87 Abdul Razak Gurnah

92, Who is the current CEO of Facebook

(A) Bill Gates #) Mark Zuchers.
(C) Tim Berners Lee (D) Elon Mu's.ke .-

93. Buler and margarine are ___ IN Natye
Colloid (B) Slick ’
(C) Lodge (D) Linger

94, The protein factories of cells are
(A) Nucleus Ribosome
(C) Golgi complex (D) Chloroplast
g5, Shahr-e-Sukhan Aarasta Hai wrrole by
Ahmad Faraz  (B) Faiz Ahmad Fag
(C) Ishfag Ahmad (D) Habib Jalib

g6. Sui Gas was first discovered in Pakistan in
(A) 1951 A& 1952
(C) 1953 (D) 1954
97. First census of Pakistan was held in
(B) 1949
(D) 1956

Charged parlicles from the sun lhat travel
through space al high speeds pre called.

(A) Solar radiation 7 Solar wind
(C) The aurora (D) Solar flares

09 Mehr-e-Do Neem wrole by:
(A) Qateel Shifai (B) Ada ._lafﬁ
@ ftikhar Arif (D) Bashir Badr

100.The S! unit of Energy i
(A) Watt
(C) Newton

98.

Joule
(D) None of these



Regards:
Rai Waqar Naseer
    Punjab Police
    0345-4443826
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